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9.1
AP Physics C
Unit 9 Name

Electricity and Magnetism

Our understanding of electrical forces began with the Greeks, who noticed that pieces of amber could be rubbed with cloth,
and they would then attract bits of straw. The word electron is derived from the Greek word for amber. Magnetic forces
were thought of as completely different phenomena until 1820, when Hans Christian Oersted discovered a connection.
Subsequently Michael Faraday laid the experimental groundwork and James Maxwell worked out the mathematical theory
for what became known as Electromagnetism.

Electrostatics

Benjamin Franklin was one of the first to hypothesize that electric forces are due to a
property of matter called electric charge, which exists in two varieties: positive and q; 9,

negative. Opposite charges attract each other, and like charges repel, with a force
described by Coulomb’s Law: If ¢, and g, are two point charges and  is the distance O r e

between them, then they attract or repel (according to their signs) with a force

k “h”qz|
r

emphasize the fact that the signs of the charges are not to be considered algebraic signs.

F= , where £ is a proportionality constant. The absolute value symbols are usually understood, but are there to

A common unit of electric charge is the elementary charge e. This is the charge carried by an electron (negative) or a proton
(positive). The elementary charge is the smallest known amount of charge carried by a free particle, and quantities of electric
charge are always multiples of the elementary charge. Quarks, which are always found in groups of two or three, have

1 2 . . .
charges of ige or ige, but the allowed groupings always have a net charge that is a whole number multiple of e. The SI

unit of electric charge is the Coulomb (C), which is 6.25% 10'%¢. Therefore the elementary charge in Coulombs is

09 Nl‘n2
C

e= C. | The proportionality constant in Coulomb’s Law is easy to remember: &k =9x1

Examples
1. The electric force is considerably stronger than the gravitational force. Given that the mass of an electron is

9.11x107! kg , find the ratio of the electric force to the gravitational force between two electrons a given distance apart.

(G=6.67x10"""Nm? /kg?)

2. A small positive charge +¢ and a larger positive charge +Q are held a distance r apart.
A) On the drawing to the right, draw vectors indicating the electric forces exerted on each charge by the
other.
B) Which of these forces, if either, is greater? Explain.

T @ +¢q

C) By what factor would the force on the +¢ charge change if the charges were moved to a separation r
distance of 2r? Explain.

- Q0
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the right. Consider the following two statements:
1. “The force on +¢ is now three times as great, because there are now three other
charges a distance r away.” r
2. “The force on +gq is the same as it was before, because the force from the new
charge on the right cancels the force from the new charge on the left.” ‘@+0 / @+ 0
Which, if either, of these statements is correct? Explain. R @+ -

D) Two additional charges equal to +Q are placed the same distance r from +¢ as shown to f +q

T @0

E) The two additional charges are removed and a negative charge —Q is placed above +¢ at an equal
distance r as shown to the right. Consider the following statement: “By Coulomb’s law, the force from
the top charge is negative, and the force from the bottom charge is positive, so there is no net force on
+q.” What’s wrong with this statement? T 0 +g

L @+

F) Rank the four cases in the diagram according to the magnitude of the net force on the +¢q charge.
Explain your ranking below.

+
- @ +g q
60° r
-
r é \@3 0
- @430 +30
Case 4 Case B Case D

Two free point charges +Q and +4Q are a distance  apart. A third charge ¢ is placed between them at a distance x from
+Q so that it feels no net force.
A) What is the sign of the third charge? Explain.

+Q +4Q
>———0

B) Use proportional reasoning to find x in terms of . Explain.

C) Determine the magnitude and sign of ¢ in terms of Q so that all three charges are at equilibrium.




Consider the four point charges shown to the right at the corners of a
square of edge a.
A) Draw three vectors at each corner representing the magnitude and

B)

®)

Two equal point charges +Q are placed on the x-axis at a distance a from the
origin, as shown to the right. A third charge +¢ is placed on the y-axis at a

direction of the electric force on that point charge due to the other
. k0
three. Label each vector by its magnitude in units of 5 (eg.
a

1,2, etc.)

The 12 vectors you drew form 6 Third Law pairs. Identify these
by the letters A through F.

If the upper-right charge were to be made positive, which of the
12 vectors would change, and how would they change?

9.3

distance y from the origin.

A) On the diagram, draw the forces on +¢ due to each of the other two

B)

C) Find the magnitude of the net force on +¢ due to the other charges.

D)

E)

F)

charges.
What is the direction of the net force on +¢ due to the other two
charges?

+Q G a O _Q
a a
+20 @ a @ 20
+q
+0 +0
@ Q@
a a

Does your expression make sense when y = 0?7 Explain.

Find the value of y such that the force on +¢ is a maximum.

The magnitude of the third charge is now doubled to +24.
i) How does the net force on +2¢ compare to the force on +¢?

ii) How, if at all, is the value of y found in part E) changed? Explain.
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The Electric Field
L
The diagram to the right shows the situation on the previous page, with the charge +¢ P
removed, and its place marked by point P. Your answers to part F) should indicate to
you that the electric force on a charge placed at point P is directly proportional to +0 y +0
the charge placed there. Once you have done the necessary calculations to find the @ )
force on a given charge at P, it is not necessary to repeat these calculations to find a a
the force on any other charge at P.
Write the expression in italics above as an equation, using the letter £ for the proportionality constant:
The proportionality constant is called the electric field at P. What are the units of electric field? What
is the magnitude of the electric field at point P? Does this quantity have a maximum at the

value of y found in part E) on the previous page? Explain.

If we were to place a negative charge —¢ at point P, what would be the direction of the force on this charge?

Would the magnitude of the force on this charge be the same as the magnitude of the force on an equal but positive charge?
Explain.

The electric field is a vector field, with a magnitude and direction at every point in space. The direction of the electric field is
defined (arbitrarily) as the direction of the force that would occur if a positive charge were placed at the point in question. We
therefore have the following recipe for determining the electric field vector at any point:

Place a small positive test charge, say g, at the point. Measure the electrical force F on
the charge, and divide the force by ¢,. The result is the electric field E , which points in
the direction of the force on the positive test charge, and has a magnitude F/g,.
In a similar fashion, we can define the gravitational field as a vector field in space, symbolized by g . Write a recipe for

determining the gravitational field similar to the one above:

Place a small...

What is g at the surface of the earth, in magnitude and direction, with units?




9.5
Fields

The gravitational and electric fields are both vector fields; each is a set of points together with a vector defined at each point.
As another example, consider a set of points on the surface of the earth, together with the wind velocity vectors at each point.
Such a vector field is depicted in the diagram below on the left, from the National Weather Service web site. Symbols called
wind barbs are used to show both the direction of the wind and the relative speed.

Wind Speed & Direction ] ‘ :: ;

o ¥ g Wt bt
o e e e
g o=
'_Q « "

We can also define a scalar field as a set of points together with a scalar defined at each point. The diagram to the right

above shows the surface temperature in the Pacific Northwest; this is a scalar field because the value at each point, the
temperature, is a scalar. We will encounter both vector and scalar fields in our study of electricity and magnetism.

Consider the aquarium tank in the diagram to the right, with a filtering pump at the

bottom. There is a velocity vector field for each point in the tank. On the diagram,
draw a few vectors to show the general pattern of velocity vectors for this field.

How would you describe the field vectors in the neighborhood of the intake?

ntake Output
How would you describe the field vectors in the neighborhood of the output?

In general, points where the field vectors converge is called a sink for the field, and points where the field vectors diverge is
called a source for the field.

E of a Point Charge

Consider an isolated positive point charge +Q in the diagram to the right. Point 4 is a
distance » away from the charge, point B is 2r away, and point C is 37 away. On the diagram, 4 B
draw vectors at these three points to show both the directions and the relative magnitudes of

N + Q

the electric field £ at these points. How does the length of E, compare to the length of

E,? How does the length of E compare to the length of £ ,?

Use the definition of electric field to write an expression for the

magnitudes of the electric field at these points: | £, = Ep= E.=

How would the directions of E,, Ep and E_ differ if the point charge were negative?
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How would the magnitudes of E ,, Ep and E_ differ if the point charge were negative?

Use the terms sink and source to describe the electric field created by point charges.

Use the terms sink and source to describe the gravitational field created by point masses.

The Electric Dipole

Often in nature there are distributions of electric charge that can be approximated as two equal but opposite charges O
separated by a certain distance d. This configuration is called the electric dipole. Consider the electric dipole shown in the
diagram below.
A) On the diagram, draw vectors showing the electric field vectors at point P, a distance y from the center of the dipole
along its axis, due to each of the dipole charges.
B) Show that the magnitude of the electric field at point P, is given by

2kQyd

-
I
4 T P

E=

x—

C) At great distances from the dipole ( y > d ), how does E vary with y?

D) On the diagram, draw vectors showing the electric field vectors at point P,, a distance x from the center of the dipole
along a perpendicular bisector, due to each of the dipole charges.
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E) Show that the magnitude of the electric field at point P, is E =

F) At great distances from the dipole (x> d ), how does E vary with x?

G) Expressions concerning electric dipoles are often written in terms of the dipole moment, a vector pointing in the
direction from the negative to the positive charge, whose magnitude p = Qd. Rewrite the expressions from parts C)
and F) above in terms of the magnitude of the dipole moment vector p.

Field Lines

The wind barbs on page 9.5 show one way to represent a vector field. Another way, introduced
by Michael Faraday, is by field lines which are lines drawn so that the field vectors are always
tangent to them. Small arrowheads along the lines indicate the general direction of the field

vectors. Field lines are drawn in such a way that the strength of the field (the magnitude of the

field vector) is proportional to the density of the field lines. A surprising amount of information Field line
can be represented this way.
Draw field lines on the diagram to the right to represent the electric field near a positive point
charge. Note that the field lines are closer together (more dense) near the charge where the
field is strong, and farther apart (less dense) where the field is weaker.
o+0

In general, where do field lines start?

Where do field lines end?

The diagram to the right represents a pair of identical positive charges
a certain distance apart. Sketch vectors at the points on the diagram
to indicate the direction of the electric field at those points. Then o >
sketch field lines throughout the box that show the general pattern of
the field vectors. What is the magnitude of the electric field at the
midpoint between the charges? | .. .+QG . . 6+0
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Is the midpoint between the charges a source, a sink, or neither? Explain.

9.8

How would the field lines be different if the two point charges were negative?

The diagram to the right represents an electric dipole. Sketch vectors | ... ot Q@ e . G s H—
at the points on the diagram to indicate the direction of the electric
field at those points. Then sketch field lines throughout the box that
show the general pattern of the field vectors. L
The diagram below shows 5 situations with different distributions of
charge. In case E the charge +Q is spread uniformly over an
insulating rod.

_ep 2P @+0/2 P +0/2Q AP AP

#30°30°, #30°030°, /30°30°,
A s . A0/4 tOM |/
Lo | @02 l +020@ . ] °. ? l e
13 R Q.0
+Q/4  +Q/- +0 —
Case 4 Case B Case C Case D Case £

Rank the five cases according to the magnitude of the electric field at point P, from greatest to least. If the electric field has
an equal magnitude in any cases , state so explicitly. Explain your ranking.

Continuous Charge Distributions

Case E above is an example of a continuous charge distribution, where we consider the charge to be spread through a length,
area or volume. We divide the distribution into small pieces, each of which is considered a point charge with a differential

amount of charge dg. Each dg contributes its share dE to the total electric field at a given point.

Examples

1. A thin plastic rod is bent into a semicircle of radius R, and charged uniformly

with a total charge +Q.

A) On the diagram, identify an arbitrary differential section of the rod as

having a charge dg. Draw a vector indicating dE , the differential
contribution to the electric field at O due to dgq.

B) Express the magnitude dFE in terms of dg and R:

C) Choose parameters to uniquely identify the location and size of dgq and show these parameters on the diagram.



D) What is the direction of the electric field at O due to the rod? Explain.

9.9

E) On the diagram, show the components of the vector dE that are parallel and perpendicular to the direction of E .
As you integrate over all dg’s that make up the rod, which components will add and which will cancel? Explain.

F) Although E= JdE is true as a vector equation, £ = jdE is not true as a scalar equation. Explain the difference.

G) Write the scalar integral equation for E that is true, according to your chosen parameters.

49 _
0

H) Use your chosen parameters to complete the following ratio:

I) Choose appropriate limits of integration and find the value of E at O in terms of k, O, and R.

J)  The charge on the right side of the rod is now replaced with an equal amount of negative charge. On the diagram

below, draw vectors EL and ER representing the electric field at O due to the left and right sides of the rod,

respectively. Draw the vector E representing the new field at O.

+

K) Determine the magnitudes of EL and ER , and explain your reasoning. +

v
0/2

+
|

0"

L) Determine the magnitude of E .




The figure to the right shows a thin ring of radius R in the y-z plane
with a total positive charge Q uniformly distributed around the ring. At
the top of the ring is a representative section of the ring of charge dg.
Point P is on the x-axis at a distance x from the center of the ring.

A)

B)

0

D)

E)

F)

G)

H)

On the diagram, draw a vector representing the differential
contribution dE to the electric field at P due to dg. Express the

10

magnitude of dE using the parameters given: | dE =

What is the direction of the electric field at P due to the ring?
Explain your reasoning.

N

9.10

On the diagram, show the components of the vector dE that are parallel and perpendicular to the direction of E .
Express these components without using trigonometric functions. As you integrate over all dg’s that make up the

ring, which components will add and which will cancel? Explain.

Write the scalar integral equation for £ using the given parameters.

charge Q.

Move all constants out of the integral and perform the integration, expressing the result in terms of R, x, and the total

Does your expression make sense when x = 0? Explain.

Does your expression make sense whenx > R ? Explain.

Find the location (value of x) for which the electric field is a maximum.

I) We often describe the charge on a continuous distribution in terms of the linear charge density A (lambda), which is

the charge per unit length. What is the linear charge density of the ring?

A{:
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Consider an infinitely long line of charge, with charge density A, as shown to

the right. Point P is a distance x from the line.
A) Choose a representative dg on the line and identify its size and location
with appropriate parameters.

B) Draw a vector dE at P representing the differential contribution to the

electric field due to dg. Express the magnitude of dE using the

parameters chosen: | dE =

C) What is the direction of the electric field at P due to the infinite line?
Explain your reasoning.

l++++++++p++++++4
~

D) On the diagram, show the components of the vector dE that are parallel and perpendicular to the direction of E .

Express these components in terms of appropriate trigonometric functions. As you integrate over all dg’s that make
up the infinite line, which components will add and which will cancel? Explain.

E) Move all constants out of the integral and express all remaining variables in terms of trigonometric functions.

F) Choose appropriate limits and perform the integration.

G) The infinite line is now cut in half at the point nearest point P as shown. On the
diagram, indicate the general direction of the electric field £ pat P. Determine the x-

component of E ,, either by modifying your solution above, or by using symmetry. X

l++++++++




H) Determine the y-component of E P

9.12

G) What is the exact direction of E p?

The diagram to the right shows a uniformly charged disk of
radius R and positive charge 0. Point P is a distance y from
the center of the disk, along its axis. A differentially thin ring
of radius  and charge dg is identified.

A) What is the direction of E?

B) Draw a vector dE at P representing the differential

contribution to the electric field due to dg. By suitably
modifying the expression from example 2 E), page 9.10,

express the magnitude of dE using the parameters given:

dE =

* P

C) Complete the following ratio and simplify: |— =

D) Integrate with appropriate limits to find the magnitude of E P

E) We often describe the charge on a surface like this in terms of the surface charge density ¢ (sigma), which is the

charge per unit area. What is the surface charge density of the disk? |0 =

F) Express the magnitude of E pintermsof 0: | Ep =

G) What does this expression reduce to at points very close to the disk (y < R)? | Ep =
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5. The diagram to the right shows a uniformly charged infinite sheet with positive surface charge
density o . Point P is a distance » from the sheet.

A) On the diagram, draw a vector at P showing the electric field £ P

B) Based on your answer to example 4 G) on the previous page, what is the magnitude of E p?

- o
Ep=
<
C) On the diagram, draw a series of field lines on the right side of the sheet.
D) What is the magnitude of the electric field at another point a distance 2 from the sheet? ,
Explain how your answer is consistent with the expression in part B) and the field lines you —1——oP

drew in part C).

9.13

E) Describe the field lines on the left side of the sheet.

6. A uniform electric field is one which is constant in magnitude and direction.
The diagram to the right shows a uniform field £ pointing in the positive x-
direction in a region of space. An electric dipole is placed in the existing

field at an angle O to the field as shown to the right.

A) On the diagram, draw vectors indicating the forces acting on the two

charges due to the uniform electric field.

B) What is the magnitude of the force on each charge?

C) What is the net force on the dipole?

C) What is the magnitude of the net torque on the dipole about its center?

D) Recall that the electric dipole moment p is a vector pointing from the negative to the positive charge, with

F:

SF =

2T =

magnitude gd. Write an expression relating the torque, the dipole moment and the electric field using a vector cross-

product.

Consider again the aquarium tank from page 9.5. Three mesh bags are submerged
in the tank, one enclosing the intake, one the output, and a third enclosing neither.
The tiny holes in the mesh allow water to flow through freely. Imagine that you
could keep track of all the water flowing either way through these holes.

A) Make a statement about the total flow of water into and out of each bag.

3T =

O

tput

B) If a fourth bag enclosed both the intake and output, what would you say about the total flow of water for this bag?
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C) Now consider an electric dipole, such as the one on page 9.8. 9
Imagine three bags as in the aquarium, and you can keep track of
the electric field lines passing either way through the surface of
each bag. Make a statement comparing what you would find for m 3
the three bags. &Y o Oxp

The above discussion is the essence of Gauss’ Law, which relates the electric field lines passing through a closed surface
(such as a bag) to the net electric charge inside the surface. First we need to have a precise way of keeping track of the field
lines passing through the surface.

Flux of a Vector Field

Consider an arbitrarily shaped surface in a
region of space where some vector field Z

exists. We are interested in keeping track of how
much of the field goes through the surface, so

we need to know the component of Z that is
perpendicular to the surface.

We divide the surface up into differentially small
patches, or area elements, which are so small
that they are flat (even if the surface is curved),
and there is essentially one field vector located
at that area element. We represent the area

element as a vector dA whose length is
proportional to the (differentially small) area,
and whose direction is perpendicular to the
surface.

Closeup view

We define the flux of the vector field over this surface as follows: For each area element, take the dot product of d4 with the
corresponding field vector. Add these dot products for each area element that covers the surface. The resulting scalar

quantity is the flux, symbolized by ® (phi). Since it takes an infinite number of d4 ’s to cover the surface, this sum is really

an integral: |® =

The sign of the flux in this case is arbitrary, because there are two different directions that dA can have and still be

perpendicular to the surface. We are usually interested in the flux a closed surface, in which case the d4 vectors by
definition always point outward from the surface. If the surface over which the flux is calculated is closed, then a special

symbol is used for the integral: ¢

Examples
1. Asquare surface with edge x is held perpendicular to a uniform field Z as n T T T T
z T N
shown. What is the flux of Z for this surface? I | I | I | I .
X

2. The same surface is now held so that the uniform Z field is at an angle 6

to the surface. What is the flux of Z for this surface?
A ...... / / - / X




3. The same surface is now held as in example 1, but the field on the left half 7 T T T T

points down. What is the flux of Z for this surface? [ | [ l ‘

4. At every point on the surface of a sphere of radius r, a field Z has the

same magnitude and points radially outwards as shown to the right. What is the flux of Z for this Z

surface? '
N

5. Atevery point on the sides of a cylinder of radius » and height 4, a field Z has the same magnitude [ -
and points radially outwards as shown to the right. What is the flux of Z for this surface? r =
h

V'S N

6. A cube of side x is placed in a uniform horizontal field Z so that the left and right sides of X
the cube are perpendicular to Z as shown to the right. A _
A) What is the flux of Z for the right side of the cube? — ¥ —
— . —

B) What is the flux of Z for the left side of the cube?

C) What is the flux of Z for the front side of the cube?

D) What is the flux of Z for the entire cube?

Gauss’ Law
We can now state Gauss’ Law:

The flux of the electric field over a closed surface is directly proportional to the net
charge inside the surface.

We use the symbol ¢, to represent the net charge inside the closed surface, so we can state Gauss’ Law simply as:
D,o<gq,, .
The proportionality constant is written as €, (epsilon naught). For historical reasons, it is written on the left side of the
equation, so:
&Py =4y

L0 where & =——, k=9x10° Nm2/C?
e,pEedi=gq, Ak

Gauss’ Law can be used to calculate the electric field due to continuous charge distributions that have certain kinds of
symmetry: spherical, cylindrical, and plane. These distinctions will become clear as we consider examples.

%l*l*l*l*l N



Example

Consider an isolated positive point charge Q. We wish to find the electric field at point P, a
distance r from Q. Point P represents any point at the same distance 7, since the field of a point

charge is spherically symmetric. We choose a closed surface (called a Gaussian surface) in the ..................... r
shape of a sphere of radius r, centered on Q as shown to the right. The Gaussian surface thus i
passes through P and follows the spherical symmetry of the field.

A) Write Gauss’ Law:

B) What is gj;, in this case?

C) What is the flux of E in this case?

D) Solve your expression for E: | E =

Discussion Questions

1.

Compare with your expressions on page 9.5.

A point charge is placed at the center of a spherical Gaussian surface. Under the following conditions, describe how (if
at all) the flux of the electric field over the surface is changed? Explain your reasoning in each case.

A) the surface is replaced by a cube of the same volume

B) the surface is replaced by a sphere of one-half the volume

C) the charge is moved off-center in the original sphere, remaining inside

D) asecond charge is placed near, and outside the original sphere

A Gaussian surface completely encloses an electric dipole, and no other charge. What can you say about @ for this

surface?

In Gauss’ Law, & OCj)E e dd= Gip > 18 E necessarily the electric field due to g;, alone? Explain.

Suppose that a Gaussian surface encloses no net charge. Does Gauss’ Law require that £ be zero for all points on the

surface? Explain.
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5. Conversely, if E is zero everywhere on the Gaussian surface, does Gauss’ Law require that there be no net charge
inside? Explain.
6. A positive point charge ¢ is placed at the corner of a cube of edge a. The cube has six faces,
three of which are in contact with ¢ and three of which are not. Find the flux of the electric field
over one of each group of faces. Use symmetry arguments rather than a direct integration. a
Explain your reasoning. (Hint: consider the larger cube of edge 2a, with ¢ at its center.)
q
4
7. Gauss’ Law for Gravity Recall that Gauss’ Law for the electric field states that the flux of the electric field over a
closed surface is proportional to the net electric charge inside. A more general form of Gauss’ Law would state that the
flux of any vector field over a closed surface is proportional to the net “source” enclosed by the surface.
A) If we write Gauss’ Law for the electric field as @ << g, , how would we write Gauss’ Law for the gravitational
field? | Pg <
B) Recall the expression for the gravitational field strength at a distance  from a spherically symmetric mass M. Then
use this to determine the appropriate proportionality constant, and write Gauss’ Law for gravity (be careful with the
sign of the flux).
Applying Gauss’ Law

In general, applying Gauss’ Law involves these steps:

Examples

1.

1. Choose a Gaussian surface that reflects the symmetry of the field (spherical,
cylindrical or plane), and passes through the point at which you want to find E .

2. Write Gauss’ Law and use symmetry arguments to simplify the integral.

3. Evaluate the integral and solve for the field.

Consider an infinite line of positive charge, charge density 4. You wish to find the

[‘P

l++++++++p++++++4
~

electric field £, at point P, a distance r from the line.

A) What kind of symmetry does the field have?

B) On the diagram to the right, draw a Gaussian surface that reflects this symmetry
and passes through P. Note that although the line is infinite, your Gaussian
surface will be finite. Indicate parameters that specify the size and shape of the
Gaussian surface.

C) Whatis g; for your Gaussian surface?
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Your Gaussian surface should have a top, a bottom, and a curved side. The integral in Gauss’ Law therefore becomes:

$E-di= [ E-di+ [ E-di+ | E-di
top bottom side

D) Why don’t the three integral symbols on the right have circles on them?

E) Of the three integrals, which, if any, evaluate to zero? Explain why. (Hint: Where do the dA vectors point?)

F) For which of the remaining integrals is the dot product E«dA equal to the scalar product £dA4? Explain why.

G) Use symmetry to determine the total flux for your Gaussian surface. Be explicit about how you are using symmetry.

H) Solve for E, and compare with the field you found on page 9.11.

Consider an infinite sheet of positive charge, charge density o . You wish to find the electric field
Ep atpoint P, a distance r from the sheet. A Gaussian surface (a rectangular box) has been

drawn on the diagram. Point P lies on one face of the box, and the box extends an equal distance
behind the sheet.

A) What kind of symmetry does the field have?

B) Label the remaining parts of the box so that you can determine its exact size. What is ¢, for

this Gaussian surface? —

C) The flux for this surface is an integral over the six sides of the box. Which of these six
integrals evaluates to zero? Explain why.

E) For which of the remaining integrals is the dot product E «dA equal to the scalar product
EdA? Explain why.

F) Use symmetry to determine the total flux for your Gaussian surface. Be explicit about how you are using symmetry.

G) Solve for E, and compare with the field you found on page 9.13.




Consider a thin spherical shell of radius R with a total positive charge +Q uniformly

0

over its surface. Point £ is inside the sphere at a distance 7 from the center, and P, ﬁ

is outside the sphere at a distance r, from the center. Use Gauss’ Law to find the

magnitude of the electric field at these points. In each case, describe the kind of
symmetry, specify the Gaussian surface, and use symmetry to evaluate the integral.

A) Find the magnitude of the field at A

B)

0

D)

E)

-
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Find the magnitude of the field at P,

On the axes to the right, graph the magnitude of the electric field as a function of the distance from the center of the

sphere, indicating the values of £ at » = R and » = 2R.

What is the surface charge density o of the shell?

Express the electric field at the surface of the sphere in terms of ¢

E
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Consider a solid sphere of radius R with a uniform positive volume charge density p

(charge per unit volume) p (rho). Point F is inside the sphere at a distance 7; from

the center, and P, is outside the sphere at a distance r, from the center. Use Gauss’

Law to find the magnitude of the electric field at these points. In each case, describe

the kind of symmetry, specify the Gaussian surface, and use symmetry to evaluate the P,
integral.

A) Find the magnitude of the field at A

B) Find the magnitude of the field at P,

C) On the axes to the right, graph the magnitude of the electric field as a function of the distance from the center of the
sphere, indicating the values of £ at » = R and » = 2R.

E




Consider a long, thin cylindrical shell of radius R with a positive surface
charge density ¢ uniformly over its surface. Use Gauss’ Law to find
the magnitude of the electric field both inside (» < R) and outside (» >
R) the shell. In each case, describe the kind of symmetry, specify the
Gaussian surface, and use symmetry to evaluate the integral.

A) (r<R)

9.21

B) (r>R)

C) On the axes to the right, graph the magnitude of the electric field
as a function of the distance from the center of the shell, indicating
the values of £ at » = R and r = 2R.




Consider a long, solid cylinder of radius R with a positive volume
charge density p uniformly throughout its volume. Use Gauss’ Law to

find the magnitude of the electric field both inside (» < R) and outside
(r > R) the shell. In each case, describe the kind of symmetry, specify
the Gaussian surface, and use symmetry to evaluate the integral.

A) (r<R)

9.22

B) (r>R)

C) On the axes to the right, graph the magnitude of the electric field
as a function of the distance from the center of the shell, indicating
the values of £ at » = R and r = 2R.
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Conductors and Insulators

Some materials, called conductors, have the property that there are free charges that move very easily in response to an
electric field. Most metals are conductors. Other materials, called insulators, do not allow charge to flow through them.
Wood, plastic, and glass are insulators.

Consider a positive charge +Q brought near a conductor with no net charge. Describe what happens to

J’_
the free charge on the conductor. ®+0

Neutral
conductor

Is there a net electric force between the charge and the conductor? Explain.

A piece of conducting material is tied to an insulating thread, and is given a net positive charge. The excess
charge rapidly comes to equilibrium. Consider a point within the material. Could there be a nonzero electric field
there? Explain.

Choose a Gaussian surface that lies completely within the conducting material. What is the value of the electric field at every
point on this surface? Explain.

What is the flux of the electric field over this surface? According to Gauss’ Law, what is g, for this

surface? We have not specified anything about the surface other than the fact that it is completely within the

conducting material. Any excess charge must lie outside this surface, yet the surface can be chosen arbitrarily close to the
outside of the material. Complete the following statement:

Any excess charge on a solid conductor at equilibrium must lie

Now consider two thick concentric spherical conducting shells 4 and B shown in cross-section below, carrying charges —Q

and +3Q respectively. Find the charges on the inner and outer surfaces of both shells, and explain your reasoning using

Gauss’ Law where appropriate.
A) Inner surface of B:
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B) Outer surface of B:

C) Inner surface of 4:

D) Outer surface of 4:
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AP Physics C
Unit 9 Practice Test Name
Part I
Multiple Choice
1. The electric field E just outside the surface of a charged conductor is

A) directed perpendicular to the surface
B) directed parallel to the surface
C) independent of the surface charge density o

D) zero
E) infinite

A point charge is placed at the center of an uncharged, spherical, conducting shell of radius R. The electric fields inside
and outside the sphere are measured. The point charge is then moved off center a distance R/2 and the fields are
measured again. What is the effect on the fields?

A) Changed neither outside nor inside

B) Changed inside but not changed outside
C) Not changed inside but changed outside
D) Changed inside and outside

The net electric flux through a closed surface is

A) infinite only if there are no charges enclosed by the surface
B) infinite only if the net charge enclosed by the surface is zero
C) zero if only negative charges are enclosed by the surface

D) =zero if only positive charges are enclosed by the surface

E) =zero if the net charge enclosed by the surface is zero

Two metal spheres that are initially uncharged are mounted on insulating

stands, as shown to the right. A negatively charged rubber rod is brought

close to, but does not make contact with, sphere X. Sphere Y is then brought — T =
close to X on the side opposite to the rubber rod. Y is allowed to touch X and
then is removed some distance away. The rubber rod is then moved far away
from X and Y. What are the final charges on the spheres?

Sphere X Sphere ¥
A) Zero Zero
B) Negative Negative
C) Negative Positive
D) Positive Negative
E) Positive Positive

For questions 5 and 6: The point charge O shown to the right is at the center of a cube. {

5.

If the cube is a Gaussian surface, then the electric flux through any one of the faces of the cube is

A 2 B -2 o2 p 2 g Y

£, dre, 3e, 6¢, 12¢

@)

If the cube is a metal box that is isolated, ungrounded, and uncharged, which of the following is true?

A) The net charge on the outside surface of the box is Q.

B) The electric field inside the box is zero.

C) The electric field inside the box is uniform, but not zero.

D) The electric field outside the box is zero everywhere.

E) The electric field outside the box is the same as if only the point charge (and not the box) were there.
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A small object has charge Q. A charge ¢ is removed from it and placed on another small object. The two objects are held
a certain distance apart. For the repulsive force between the two objects to be a maximum, ¢ should be

A) 20
B) 0
C) 0r
D) 0/4
E) 0

For questions 8 and 9: A positively charged insulating rod is brought close to an object that is suspended by an insulating
thread.

8.

10.

11.

12.

If the object is attracted toward the rod we can conclude

A) that the object is positively charged
B) that the object is negatively charged
C) that the object is an insulator

D) that the object is a conductor

E) none of the above

If the object is repelled away from the rod we can conclude

A) that the object is positively charged
B) that the object is negatively charged
C) that the object is an insulator

D) that the object is a conductor

E) none of the above

Two point charges have equal and opposite magnitudes +Q and —Q. Aside from infinite distances, the electric field is
Zero

A) midway between +Q and —Q

B) on the perpendicular bisector of the line joining +Q and —Q, but not on the line itself
C) on the line joining +Q and —Q, to the side of Q opposite -0

D) on the line joining +Q and —Q, to the side of —Q opposite O

E) atnone of these places (there is no point at a finite distance)

The electric field due to a charge uniformly distributed over the surface of a spherical shell is zero

A) everywhere

B) nowhere

C) only at the center of the shell
D) only inside the shell

E) only outside the shell

A charge Q is distributed uniformly throughout an insulating sphere of radius R. The magnitude of the electric field at a
point R/2 from the center of the sphere is

A) 0 5
4nsoR
B) 0 5
neOR
3
O) 0 5
4nsoR
D) 0 5
87reoR

E) none of these



13.

9.27
Charge is distributed uniformly along a very long straight wire. The electric field 2 cm from the wire has magnitude
20 N/C. The magnitude of the electric field 4 cm from the wire is

A) 120 N/C
B) 80 N/C
C) 40N/C
D) 10N/C
E) 5N/C

14. Along line of charge with charge per unit length A, runs along the axis of a cylindrical conducting shell that carries a

15.

charge per unit length A,. The charge per unit length on the inner and outer surfaces of the shell are:

A) A and A,

B) -A,and A.+4,

C) -A,and A,.-4,

D) A.+A,and 2.-4,

E) A,—-A, and A2.+4,

Two very large parallel conducting plates carry charge of equal magnitude, distributed

uniformly over their inner surfaces as shown to the right. The ranking of the
magnitude of the electric field at points 1 - 5 is

A) 1<2<3<4<5

B) 5<4<3<2<1

C) 1=4=5<2=3 .
D) 2=3<1=4<5 1
E) 2=3<1=4=5

N e S L
L]
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Part 11
Show your work
Credit depends on the quality and clarity of your explanations

A spherical cloud of charge of radius R contains a total charge +Q with a nonuniform volume
charge density that varies according to the equation

p(r)=po(l—%] forr <R and

p=0forr>R

where r is the distance from the center of the cloud. Express all answers in terms of Q, R, and
fundamental constants.
A) Determine the magnitude £ of the electric field as a function of  for » > R.

B) Derive an expression for p.

C) Determine the magnitude £ of the electric field as a function of » for » < R.

9.28
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A nonconducting, thin, spherical shell of radius R has a uniform surface charge density o on its

outside surface and no charge anywhere else inside. A
A

A) Use Gauss’s law to prove that the electric field inside the shell is zero everywhere. Draw or

describe the Gaussian surface that you use.
B) The charges are now redistributed so that the surface charge density is no longer uniform. Is the
electric field still zero everywhere inside the shell? Justify your answer.

Now consider a small conducting sphere with charge +Q whose center is at corner 4 ofa B !
cubical surface, as shown to the right. S

C) For which faces of the surface (eg., ABCD), if any, is the electric flux through that
face equal to zero? Explain your reasoning.

D) At which corner(s) of the surface does the electric field have the least magnitude? _
Explain. 4 G H

E) Determine the electric field strength at the position(s) you have indicated in part D) in :
terms of Q, L, and fundamental constants, as appropriate. RS S S

F) Given that one-eighth of the sphere at point A is inside the surface, calculate the
electric flux through face CDEF.
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AP Physics C
Unit 10 Name

Review of Work
The diagram to the right represents a particle moving on a path from point 4

(position vector 7 ) to point B (position vector 7 ), while a net force F (F ) varies

both in magnitude and direction along the path. The vector dF represents a
differential displacement along the path. Write the integral that represents the work

done by the net force along this path: W=

Describe the relationship between the vectors F (? ) and dr when the work being

done is instantaneously:

A) positive:

B) negative:

C) zero:

Can the instantaneous work be positive even though the total work for the whole path is negative, or vice versa? Explain.

Under what conditions will the speed of the particle at point B be greater than, less than, or equal to its speed at point 4?

Work Done by the Electric Field

Consider a region of space where an electric field exists, as
shown to the right. Paths AB and CD are along the electric field
lines, and paths BC and DA are perpendicular to the field lines.
A small positive charge +¢ is moved along various paths. For
each path, indicate whether the work done by the electric field is
positive, negative, or zero. On the diagram, draw vectors along
each path that illustrate your reasoning.

Path AB: Path BC:

Path CD: Path DA:

Along path 4B, the particle moves in the direction of the electric field. According to the diagram, is the strength of the
electric force on the charge greater near A, greater near B, or equal along AB? Explain.

How does the work done by the electric field as the charge is moved from 4 to B (W ;5 )compare to the work done as the

charge is moved from B to 4 (Wy, )? Explain.
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Electric Potential Energy

Recall from Unit 4 that when the force on an object depends only on its position, there is a potential energy function
associated with that force. In the case of the electric field, this energy is called electric potential energy U . Consider the

small positive charge +¢ at each of the four points 4, B, C, and D in the diagram on the previous page. Rank the electric
potential energy of the charge at each of these points, and explain your reasoning.

As the positive charge is moved along each of the following paths, indicate whether the change in electric potential energy
AU is positive, negative, or zero:

Path AB: Path BC: Path CD: Path DA:

Compare the work done by the electric field for each path (on the previous page) to the change in electric potential energy for
that path. Make a general statement relating the work to the change in potential energy:

In view of this statement and the integral expression for work on the top of the previous page, write an expression for the
difference between the electric potential energy of the charge at point A and the electric potential energy of the charge at point

B. The expression should involve the charge ¢ and the electric field £, and should be a definite integral with limits

indicating the end points of the path with respect to an arbitrary origin: AU ;5 =

If the meaning is clear, the limits of integration are often written as simply 4 and B. This integral is called a path integral,
evaluated for some path connecting the end points. Since the electric force is a conservative force, this path integral is
independent of the particular path of integration, and depends only on the end points.

Electric Potential Difference

How does the quantity AU ,, defined above depend on the magnitude of the charge moved from 4 to B?

Use your expression above for AU ,, to define a quantity that does not depend on the magnitude of the charge moved from

A to B. This quantity is called the electric potential difference between points 4 and B: AV, =

What are the units of electric potential difference? This unit is called the volt after the Italian

physicist Alessandro Volta, who is credited with the invention of the battery.

Examples
1. The diagram to the right shows two points 4 and B separated by a distance L in a >
region of uniform electric field £. Determine the electric potential difference £
Ae Be

AV yp: — L —




The diagram to the right shows two points 4 and C near a positive point charge +Q.
Point 4 is a distance L from the charge, and point C is a distance 3L from the charge.
A) On the diagram, sketch some field lines to represent the electric field.

B) Draw and label points B and D and sketch paths such that paths 4B and CD are
along field lines, and paths BC and DA are perpendicular to field lines, as in the
drawing on page 10.1.

C) Use Gauss’ Law to derive an expression for the magnitude of the electric field at
an arbitrary distance » from the point charge. Draw your Gaussian surface on the
diagram.

10.3

/oC

3L

+0 "o oA

— [ —

D) Determine the electric potential difference AV .

E) Determine the electric potential difference AV~ and explain your reasoning.

The diagrams to the right show two views of an infinite line
of charge with linear charge density A. Points 4 and C are
in a plane perpendicular to the line of charge, at distances L N

and 3L, respectively.
A) On each diagram, sketch some field lines to represent

the electric field in the plane containing 4 and C.

B) Use Gauss’ Law to derive an expression for the
magnitude of the electric field at an arbitrary distance »
from the line of charge. Draw your Gaussian surface on

/oC

3L

o

> (Y

— [ —

the side view. - -
Side view

View from above

C) Determine the magnitude of the electric potential difference AV, and state which point is at the higher potential.

Clearly show the path of your integral on the view from above, and explain your reasoning.
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10.4
Electric Potential

The notation for potential difference AV, implies a difference between two quantities V', and V' such that

AV 5 =Vg =V, where V , is called the electric potential at A. We can determine the electric potential at any point once we

know a point where the electric potential is zero. The electric field in a region of space is caused by some distribution of
point charges, and we define our point of zero potential to be infinitely far from this distribution. In other words, we define

“V,=0"and“V, =V, -V _=AV_,” According to this definition, write the definite integral that defines V' ,:

V,=

We have described the electric field E as a vector field; the magnitude of the field at a given point is the force per unit
charge at that point, and the direction of the field is the direction of the force on a positive test charge at that point. Electric
potential is a scalar, which has no direction,so the electric potential is a scalar field. Write a similar description of how to
determine the electric potential at a given point in space, using the terms “work” and “infinity”:

Examples

1. Consider the isolated point charge +0Q shown to the right. Point 4 is a distance L from the point
charge. Use the definition above to find the electric potential at A.

+0 o Y|

— [ —

2. Consider a thin spherical shell of radius R with a total positive charge +Q uniformly
over its surface. Point £ is inside the sphere at a distance r; from the center, and P, L

is outside the sphere at a distance 7, from the center.

A) Use Gauss’ Law to determine the magnitude of the electric field at point P, .

B) Use Gauss’ Law to determine the magnitude of the electric field at point 7.

C) On the axes to the right, graph the magnitude of the electric field
as a function of the distance from the center of the sphere, E
indicating the values of E at » = R and » = 2R.
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D) Determine the electric potential at point P, .

E) Determine the electric potential at point F .

F) What is the potential at the center of the sphere?

G) On the axes to the right, graph the electric potential as a function
of the distance from the center of the sphere, indicating the values
of Vatr =0, =Rand r = 2R.

R 2R r
Consider a solid sphere of radius R with a uniform positive volume charge density p.
Point B is inside the sphere at a distance 7; from the center, and P, is outside the
sphere at a distance #, from the center. ‘
A) Use Gauss’ Law to determine the magnitude of the electric field at point £,. N~
P,
2

B) Use Gauss’ Law to determine the magnitude of the electric field at point 7.

C) On the axes to the right, graph the magnitude of the electric field
as a function of the distance from the center of the sphere, E
indicating the values of £ at » = R and » = 2R.
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D) Determine the electric potential at point P, .

E) Determine the electric potential at point F .

F) What is the potential at the center of the sphere?

G) On the axes to the right, graph the electric potential as a function
of the distance from the center of the sphere, indicating the values
of Vatr =0, =Rand r = 2R.

R 2R r

Consider a line of length L carrying a total positive charge O as shown below. Point P is a distance x from the left end of
the line. We can find the potential at P by adding the contributions from each part of the line, rather than integrating £.

A) On the diagram, choose a small section of the line and label it dg. Choose
and label parameters to determine the exact size and position of dg. 0
B) What is the differential contribution dV that dg makes to the potential at point
P? (See example 1, page 10.4.) P e
—_X L

C) Express dq in terms of your chosen parameters and integrate to determine the potential V', at point P.

The figure to the right shows a thin ring of radius R in the y-z plane with a total positive charge
O uniformly distributed around the ring. At the top of the ring is a representative section of the Y \-dq
ring of charge dgq. Point P is on the x-axis at a distance x from the center of the ring. 0
A) What is the differential contribution dV to the potential at point P? g

B) Integrate to find the potential V', at point P.
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C) What is the potential at the center of the ring?

6. Inreviewing examples 2, 3 and 5, a student makes the following statement: “The electric field at the center of the two

spheres and at the center of the ring is zero by symmetry. Since V = —J‘ E«dr and E is zero, ¥ must be zero.” What’s

wrong with this statement?

7. The figure to the right shows a uniformly charged disk of radius R carrying a total
positive charge Q. Point P is at a distance y above the center of the disk. A small ring * P
of radius  and charge dg is shown.

A) Use the result of example 5 to express the differential contribution dV that dg
makes to the potential at point P.

B) Express dg in terms of the given parameters and integrate to determine the potential V', at point P.

C) What is the potential at the center of the disk?

Calculating E from V

Once we know the electric field E , we have seen how to integrate to find the potential difference between two points in the

field, or the potential at a point with respect to infinity. We can also “go backwards” and find the electric field once we know
the potential. Recall the relationship between any conservative force and its potential energy function (Unit 4, page 4.10 and
4.15):

One Dimension Three Dimensions
dU - oU » JU » JU -
Fx)=— E(fy=— n u i
(x) dx () Jx ! dy / dz

The word gradient is used to describe how rapidly a quantity changes with distance, just as rate is used to describe how a
quantity changes with time. A conservative force is the negative gradient of its potential energy function. Since electric field
is force per unit charge and electric potential is electric potential energy per unit charge, the same relationship that connects

F with U will connect E with V.
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Use the word “gradient” to describe the relationship between the electric field E and the electric potential ¥, and write the
one dimensional and three dimensional equations that express this relationship:

One Dimension Three Dimensions

Examples

1. Consider again the line of charge from example 4, page 10.6.
A) Use the one dimensional expression above to calculate the magnitude of the electric field at point P.

o

B

—X L

B) Choose and label a small section dq as you did in example 4. What is the differential contribution dE at P due to
this dg?

C) Express dq in terms of your chosen parameters and integrate to determine the magnitude of £ p at point P.

2. Consider again the ring of charge from example 5, page 10.6. Find the magnitude of the
electric field at point P by calculating the potential gradient. Compare with your calculation Y| -dq
from Unit 9, page 9.10. 0

3. Consider again the disk of charge from example 7, page 10.7. Find the magnitude of the electric field at point P by
calculating the potential gradient. Compare with your calculation from Unit 9, page 9.12.



tcoke

tcoke


Equipotentials

We can use a technique to visualize potential gradient that is commonly used to
represent hilly terrain. The image to the right is a section of a topographical map,
where points of equal altitude are connected by contour lines. What can you say about
the terrain when the contour lines are close to each other?

On the analogous “map” for electric potential, the contour lines are lines of equal electric potential, and are called
equipotentials. The 3-dimensional graphs below represent the electric potential in the x-z plane for a single positive charge, 2
positive charges, and a dipole. The y-axis represents the potential ¥, and equipotential contour lines are shown. You can go
to the web site and download these graphs, and examine them from all angles.

Positive Charge 2 Positive Charges Dipole

= J 'S ¢ - ' \ e B l
. :

v 3 v
2z z z
Perspective view Perspective view Perspective view

@ g ,,.“{“ &.,x ; ,VQ‘ x

v
z z Z
Overhead view Overhead view Overhead view

It is impossible to represent the potential in three-dimensional space, because we would need a fourth axis to represent V.
However, we can envision the equipotentials for the above distributions by flattening the overhead views and rotating them
about the x-axis. We see that the equipotentials are actually surfaces in three dimensions.

Describe the shape and relative spacing of the equipotential surfaces in the following cases:
A) A point charge

B) An infinite line of charge with constant linear charge density

C) A uniform field
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Refer again to the four paths in the drawing on page 10.1, and
the work done by the electric field along each path. Which paths
are equipotentials, and why?

Make a general statement relating the electric field lines and the
corresponding equipotentials.

On the drawing, sketch several equipotentials in addition to the
ones along the paths mentioned above. The spacing between equipotentials should be appropriate with respect to the field
lines. Explain how you determine this relative spacing.

The drawings below represent the equipotentials from the previous page. The positive charge is on the left in the dipole. On
the drawings, sketch several field lines in the region around the charges, and include arrowheads to indicate the direction of
the electric field. Compare with the sketches of the electric field from Unit 9, pages 9.7 and 9.8.

I

Point Charge 2 Positive Charges Dipole

Consider an isolated positive point charge ¢ = 10~ C. Determine the distance from this charge to the following

equipotential surfaces:
The 9 V equipotential surface The 18 V equipotential surface The 27 V equipotential surface

The diagram to the right shows five equipotentials in a region of space.

A) On the diagram, draw a vector indicating the direction of the electric force
on a proton at point 4.
> . -19 . . . +30V
B) A proton’s charge is 1.6x107"~ C. What is the electric potential energy
of a proton at point 4? C
+20V
B
+10V

C) What additional information would you need in order to determine the
magnitude of the force on the proton at point 4?
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D) Would there be a force on a proton if it were placed at point B? Explain why or why not.

E) How much work would it take to move a proton from point B to point C? Is this work positive or negative?

Conductors

Recall that conductors have the property that charge moves very easily through them. How would you describe a piece of
conducting material using the concept of equipotentials? Explain.

What can you conclude about the direction of the electric field at the surface of a charged conductor?

q

Example q 2
Two isolated, spherical conductors of different radii R, and R, m@

R
are held far apart and connected by a wire as shown. They have 1 R

charges ¢, and g, , respectively.

A) What is the potential at the surface of each sphere?

B) Determine the ratio 4

eb)

%

C) Find the ratio of the surface charge densities
o
2

Electric Potential Energy of a System of Charges

It takes work to move charges close to one another, and we have seen that the work done becomes electric potential energy.
We wish to determine the electric potential energy of any system of charges.

Points 4 and B form an equilateral triangle with a positive 10 uC charge as shown to the 0 pC I m o
right.
A) What is the potential at points 4 and B?
1 m I m
B) A positive 20 uC charge is brought from infinitely far away and placed at point 4. \
How much work was needed? Was this work positive or negative? B
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C) What is the potential at point B once this charge is placed at point 4?

D) A negative 30 uC charge is brought from infinitely far away and placed at point B. How much work was needed?
Was this work positive or negative?

E) What is the electric potential energy of this system of three charges? Is it positive or negative?

We can determine the electric potential energy of a distribution of charge by finding the work needed to assemble it from
infinitely separated charges.

Example

A solid sphere with positive charge Q uniformly distributed throughout its volume is
assembled by adding successive thin shells of radius r and thickness dr as shown to the
right.

A) Determine the charge inside the shell of radius 7.

B) Determine the charge dg of the shell.

C) Determine the differential work dW needed to add the shell.

D) Integrate to find the total potential energy of the solid sphere of charge.



tcoke


Concept Map

10.13

Below is a concept map showing the interconnections between electric force, field, potential energy and potential:

Electric Force >
(a Vector) per unit charge

Units: N 4

times charge

Electric Field

(a Vector)

Units: N/C=V/m

A A
| %‘r‘g | %“'g
B o o o
S Rl% S Rl
|
G [
b‘x N =
vy _|°° v [®F

Electric Potential Ener
& per unit charge>
(a scalar)

Units: J 4

times charge

Electric Potential
(a scalar)
Units: J/C=V

Examples

1. Two stationary point charges +Q are located on the y-axis a distance 2L
apart as shown to the right. A third charge +Q is then brought in from
infinity along the x-axis.

A) What is the potential energy of the system when the movable charge is
at infinity?

ik
| :
|

[

©

B) Express the potential energy of the system as a function of the movable charge’s position on the x-axis.

C) Assume that the movable charge is shot from infinity with some initial

value of K such that the movable charge will pass through the center of the two fixed charges?

kinetic energy K .. What is the minimum




10.14
A charge +Q is uniformly distributed over a quarter circle of radius R, as shown to the y
right. Points 4, B, and C are located as shown, with 4 and C located symmetrically
relative to the x-axis. Express all algebraic answers in terms of the given quantities

and fundamental constants. +0 :
A) Rank the magnitude of the electric potential at points 4, B, and C from greatest to K) / R
least. If two points have the same potential, give them the same ranking. Justify
our rankings.

B) Determine the electric potential at the origin due to the charge Q.

C) A positive point charge ¢ with mass m is placed at the origin and released from rest. Derive an expression for the
speed of the point charge when it is very far from the origin.

Two thin, concentric, conducting spherical shells, insulated from each other, have
radii of 0.10 m and 0.20 m, as shown to the right. The inner shell is set at an
electric potential of —100 V, and the outer shell is set at an electric potential of 0.20 m

+100 V. Let Q; and O represent the net charge on the inner and outer shells,

respectively, and let » be the radial distance from the center of the shells. Express
all algebraic answers in terms of Q;, O, r, and fundamental constants, as
appropriate.

A) Using Gauss’s Law, derive an algebraic expression for the electric field E(r)
for 0.10 m <r<0.20 m.

-100 V
+100 V

B) Determine an algebraic expression for the electric field E(r) for » > 0.20 m.

C) Determine an algebraic expression for the electric potential V{(r) for » > 0.20 m.
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D) Using the numerical information given, calculate the value of the total charge Q. on the two spherical shells

(Or=0,+0,).

E) On the axes below, left, sketch the magnitude of the electric field £ as a function of . Let the positive direction be
radially outward. On the axes below, right, sketch the electric potential /" as a function of ». In both cases, indicate
significant values on the vertical axis.

|
0.10 0.20 0.30 r(m) 0.10 0.20 030 r(m)

The figure at the right shows a section through a long nonconducting rod of radius a ;
with a positive charge distributed throughout its volume. The charge distribution is a
cylindrically symmetric, and the total charge per unit length is A. '

A) Use Gauss’ Law to find the electric field E outside (+> a) the rod.

B) The diagrams below represent cross sections of the rod. On these diagrams, sketch the following:
i)  Several equipotential lines in the region r > a.
ii) Several electric field lines in the region r > a.

) ii)
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C) In the diagram to the right, point C is a distance a from the center of the rod (ie., on the rod’s D
surface), and point D is a distance 3a from the center on a radius that is 90° from point C.
Determine the following:
i) The potential difference V-~ V', between points C and D

3a

il) The work required by an external agent to move a charge +Q from rest at point D to rest
at point C. State whether this work is positive or negative.

Inside the rod (r < a), the charge density p is a function of the radial distance » from the axis of the rod and is given by
p=p,Nr/a,where p_ isaconstant.

D) Determine the magnitude of the electric field £ as a function of » for » < a. Express your answer in terms of p_, a,

and fundamental constants.
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E) Determine the magnitude of the potential difference V' — V- between the center of the rod and C. Express your

answer in terms of p_, a, and fundamental constants.

A spherically symmetric charge distribution has net positive charge Q_ distributed within a radius R. Its electric potential
V" as a function of the distance » from the center of the sphere is given by the following:

0 :
V(r)=-—2—|2+3[ = | |forr<R
R

a 47r£0R

V(r)= % forr >R
dme r

Exress all algebraic answers in terms of the given quantities and fundamental constants.
A) For the following regions, derive an expression for the magnitude of the electric field £ (r) and state whether its

direction is radially inward or radially outward:
i) r<R

i) r>R
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B) For the following regions, derive an expression for the enclosed charge that generates the electric field in that region,

expressed as a function of 7.

)

ii)

C) Is there any charge on the surface of the sphere (» = R)? If there is, determine the charge; in either case, explain your

r<R

r>R

reasoning.

D) On the axes below, sketch a graph of the force that would act on a positive test charge in the regions » < R and r > R.

Assume that a force directed radially outward is positive.
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AP Physics C

Unit 10 Practice Test Name

10.19

Part I
Multiple Choice

1. A distribution of charge is confined to a finite region of space. The difference in electric potential between any two

points | and P, due to this charge distribution depends only upon the

A) charges located at the points P, and P,.

B) magnitude of a test charge moved from P, to P,.
C) value of the electric field at P and P,.

D) path taken by a test charge moved from P, to P,.
E) none of these

2. Two small spheres having charges of +20 and —Q are located 12 cm apart. The potential of points lying on a line joining
the charges is best represented as a function of the distance x from the positive charge by which of the following?

vV vV 14 V

A)

B)

0

8 12

E)

3. Anisolated solid spherical conductor of radius R carries a charge g. The electric potential due to this system varies as a
function of the distance r from the center of the sphere in which of the following ways? (The potential is taken to be

zero at infinity.)

V V V V
1 ol 1
i i
R r ! R r R r !
A) B) )

4. The two positive charges Q are fixed at the vertices of an equilateral triangle with sides
of length a, as shown to the right. The work required to move +¢ from the other vertex
to the center of the line joining the fixed charges is

A) zero
B 01
a
kQq
C =1
) E
D) 2kQq
a
2k
E) V2 aQq

+Q

5. Positive charge is distributed uniformly throughout a non-conducting sphere. The highest electrical potential occurs

A) at the center

B) at the surface

C) halfway between the center and the surface
D) just outside the surface

E) far from the sphere



For questions 6 and 7: Two infinite parallel sheets of charge perpendicular to the x-axis have
equal and opposite charge densities as shown to the right. The sheet that intersects at x = —a
has uniform positive surface charge density; the sheet that intersects at x = +a has uniform
negative surface charge density. Consider the graphs drawn below in answering questions 6
and 7.

10.20

6. Which graph best represents the plot of electric field as a function of x?

7.  Which graph best represents the plot of electric potential as a function of x?

+ 4+ + A+ +

s

—a 0 -ha —a 0 +a —a 0 +f/ -a (\Ff —a

A) B) ®) D)

0 +a

E)

8. A2 meter long stick is parallel to a uniform 200 N/C electric field. The potential difference between its ends is

A) zero
B) 1.6x1077Vv

Cc) 32x10717v

D) 100V
E) 400V

9. A conducting sphere with a radius of 0.10 m has 1.0x 107 C of charge on it. The magnitude of the electric field just

outside the surface of the sphere is

A) zero

B) 450 V/m
C) 900 V/m
D) 4,500 V/m
E) 90,000 V/m

10. As shown in the diagram to the right, a charged particle having a mass m and charge —q is

projected into the region between two large parallel plates with a speed v to the right. The
potential difference between the plates is /" and they are separated by a distance d. What is
the net change in kinetic energy of the particle during the time it takes the particle to traverse
the distance d?
1 m Y
A) + E mvg ° —0)
v -q
g -4
d
2qV
o +L
mvg
D) +qV

E) None of the above
11. Which of the following statements is correct?

A) A proton tends to go from a region of low electrical potential to a region of high electrical potential.
B) The potential of a negatively charged conductor must be negative.

C) If E =0 atpoint P, then ¥ must be zero at P.

D) If V=0 at point P, then E must be zero at P.
E) None of the above statements are correct.

0 +V

—— 4 —]
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12. An electron moves from point A to point B in the direction of a uniform electric E

field. During this displacement: .
A B

A) The work done by the field is positive and the potential energy of the electron-
field system increases.

B) The work done by the field is negative and the potential energy of the electron-field system increases.

C) The work done by the field is positive and the potential energy of the electron-field system decreases.

D) The work done by the field is negative and the potential energy of the electron-field system decreases.

E) The work done by the field is positive and the potential energy of the electron-field system does not change.

13. An electron is accelerated from rest through a potential difference V. Its final speed is proportional to
A TV
B) V?
o
1
D) 7
1
NG

E)

14. In separate experiments, four different particles each start from far away with the same speed directly at a gold nucleus.
The masses and charges of the particles are:

Particle 1: mass m, charge ¢

Particle 2: mass 2m, charge 2q
Particle 3: mass 2m, charge g/2
Particle 4: mass m/2, charge 2q

Rank the particles according to the distance of closest approach to the gold nucleus, from smallest to largest.

A)1<2<3<4
B)4<3<2<1
C)3<1=2<4
D)4<1=2<3
E)1=2<3<4
15. An insulating slab of infinite length and width has thickness d. The —p y /d’
slab has a uniform negative volume charge density —p. The 7< 0
positive y direction is up, and the origin of the y axis is at the center QT
of the slab. If the potential at the center of the slab is taken to be P =0 d E <
zero, then the potential as a function of y is best represented by lo oo \

v v s

// ‘ a2y _dn ‘ a2y
A) B)

4 14
Y T v i {{nz ¥ —d/2\ { an Y
C) )

D

dSIOPIOEl TN AT A0l D6 d8d L9V SAYVEATH'L
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Part 11

Show your work
Credit depends on the quality and clarity of your explanations

A negative charge —(Q is uniformly distributed throughout the spherical volume of  —Q
radius R shown to the right. A positive point charge +Q is at the center of the

sphere. Determine each of the following in terms of the quantities given and
fundamental constants.

A) The electric field E outside the sphere at a distance » > R from the center
B) The electric potential ¥ outside the sphere at a distance » > R from the center »
C) The electric field inside the sphere at a distance » < R from the center

D) The electric potential inside the sphere at a distance » < R from the center



Three particles 4, B, and C have equal positive charges O and are
held in place at the vertices of an equilateral triangle with sides of
length L, as shown in the figures to the right. The dotted lines
represent the bisectors for each side. The base of the triangle lies
on the x-axis, and the altitude of the triangle lies on the y-axis.

A)

)

Point P, the intersection of the three bisectors, locates
the geometric center of the triangle and is one point
where the electric field is zero. On Figure 1 to the right,
draw the electric field vectors E 4> E 5> and EC at P,
due to each of the three charges. Be sure your arrows

are drawn to reflect the relative magnitude of the fields.
Another point where the electric field is zero is point P,

at (0, y,). On Figure 2 to the right, draw electric field
vectors E e E 5> and EC at P, due to each of the three

point charges. Indicate in the table below whether the
magnitude of each of these vectors is greater than, less
than, or the same as for point P,.

Greater Less The same

est}
N

oSt}
oo

Ec

B) Explain why the x-component of the total electric field is
zero at any point on the y-axis.

Write a general expression for the electric potential J at any
point on the y-axis inside the triangle in terms of O, L, and y.
Describe how the answer to part C) could be used to
determine the y-coordinates of points P, and P, at which the

0

D)

electric field is zero. (You do not need to actually determine
these coordinates.)
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Figure 1

y

Figure 2






AP Physics C
Unit 11 Name

Capacitance

The diagram to the right represents an infinite sheet with uniform positive charge density +o . Use

Gauss’ Law to find the magnitude and direction of the electric field E on both sides of the sheet. Be

specific about your choice of Gaussian surface, and how you use symmetry.

The next diagram represents two identical sheets parallel to each other.
A) At what point(s) can you use symmetry to show that the electric field is zero?
Explain.

Use Gauss’ Law to find the magnitude and direction of the electric field E in the
following regions. Be specific about your choice of Gaussian surface, and how you use
symmetry.

B) anywhere on either side of the two sheets

C) anywhere between the two sheets

+0

+0

+0

D) Show that the results from parts B) and C) are consistent with the fact that the net electric field at any point is the
vector sum of the electric fields due to each part of the charge distribution. This principle is called superposition.




Consider two infinite sheets with equal but opposite charge densities as shown to the
right. Use the principle of superposition to determine the magnitude and direction of the

electric field E in the following regions:
A) anywhere to the left of the left sheet

B) anywhere to the right of the right sheet

C) anywhere between the sheets

An uncharged conducting plate is inserted between the two sheets. Electrical forces
separate the charges in the conducting plate toward the oppositely charged sheets, so that

at equilibrium, the left side of the plate has negative charge density —o and the right

side has positive charge density +0 . Effectively, there are now four sheets.

A) Use the principle of superposition to determine the following:

)

ii)

the magnitude of the electric field between the left sheet and the plate

the magnitude of the electric field between the plate and the right sheet

B) Use Gauss’ Law to determine the following. Be specific about your choice of
Gaussian surface:

)

ii)

the magnitude of the electric field to the left of the left sheet and to the right
of the right sheet

+0

11.2

the charge density o on the surfaces of the conductor in terms of o .




Two infinite conducting plates 1 and 2 are parallel to each other, and carry
different total charge densities ¢, and ¢, , as shown. For simplicity, assume that

both charge densities are positive and that o, >0,. Electric forces separate the

charges so that they settle on the surfaces of the plates, effectively making four
infinite sheets of charge.

A) The charge densities on the inner surfaces are shown as ¢, and —o;.

Use Gauss’ Law to justify the fact that these charge densities are equal
and opposite. Be specific about your choice of Gaussian surface.

B) The electric field inside each conducting plate is zero. Use the principle
of superposition to find the charge density o; in terms of o, and o, .

C) Determine the charge densities in the following regions in terms of ¢, and o, :

Leftside of 1 | Rightsideof 1 | Leftside of2 | Right side of 2

D) In the case that the charge densities are equal and of the same sign (0, =0, ), determine the charge densities in the

following regions in terms of o:

Leftside of 1 | Rightside of 1 | Leftside of 2 | Right side of 2

E) In the case that the charge densities are equal and of opposite sign (¢, =—0, ), determine the charge densities in the

following regions in terms of 0:

Leftside of 1 | Rightsideof 1 | Leftside of2 | Right side of 2
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Infinite sheets and plates are hard to come by; in reality we find objects of
finite size. For example, consider two conducting plates of finite area 4
separated by a distance d. Our previous discussion is valid provided the n 5K
area is large compared to d; the diagram to the right is exaggerated for
clarity.

Imagine that each plate is initially uncharged, and we remove a charge +Q e o o
from the right plate and place it on the left plate, leaving the right plate P PP
with a net charge of —Q. We have seen that the charges will settle on the /7 17273

inside surfaces of the plates. In the edge view to the right, points A
-0

through P are along the center line of the plates, and points P through
+0

Fy are just above the top of the plates.

A) On the diagram, draw small vectors at each of these points to Perspective view Edge view
indicate the direction of the electric field due to the charge on the
plates.

B) On the diagram, sketch several electric field lines between the plates to show how the field varies from the top to the
bottom of the charged plates.

When the separation distance is small, these “edge effects” are negligible, and we can assume that the electric field is uniform
between the plates, and stops abruptly at the edges. We will neglect edge effects in what follows. In terms of the quantities
in the diagram:

C) What is the charge density on the surface of the left plate? o =

D) What is the magnitude of the electric field between the plates? E =

E) What is the potential difference between the plates? V =

F) What is the ratio % ?

(e

Y

Notice that the ratio v depends only on the dimensions of the pair of plates, and nothing else. This ratio is called the

capacitance, and this pair of plates is called a parallel-plate capacitor. We can think of capacitance as the charge-carrying

capacity per volt. What are the SI units of capacitance? This unit is called the Farad (F) after

Michael Faraday. (Note: You are expected to know or be able to quickly derive the formula for the capacitance of a parallel-
plate capacitor.)

Any two conductors separated by an insulator can behave as a capacitor. We can remove charge from one of them and place
it on the other, and there will be a potential difference between them. The potential difference will be proportional to the
amount of charge we have moved. Whether or not the conductors are flat, we call them “plates.”

Given information about the size, shape and separation distance of the capacitor plates, we calculate the capacitance by
taking the following steps:

1. Assume each plate has a charge Q, and use Gauss’ Law to find the field E.
2. Integrate to find the potential difference between the plates (V' = —J E«dr).

3. Use the definition of capacitance to find C.



Examples

1.

A capacitor is made from two concentric cylindrical conductors of radii a
and b and length L as shown to the right. Let the plates be charged with a

charge Q (ie., one has a charge +Q and the other has a charge —Q). T
A) Use Gauss’ Law to find E between the plates (ie., at a point a
distance r from the central axis, where a < r < b). bt
a
s

B) Determine the potential difference between the plates.

C) Determine the capacitance of the cylindrical capacitor.

A capacitor is made from two concentric spherical conductors of radii @ and b as
shown to the right. Let the plates be charged with a charge Q.

A) Use Gauss’ Law to find E between the plates (a < r < b). b

B) Determine the potential difference between the plates.

C) Determine the capacitance of the spherical capacitor.

D) An isolated spherical conductor of radius R can be regarded as a capacitor, with the other
“plate” at infinity. Use the result above to find the capacitance of such a capacitor.

> —




11.6
Energy Stored in a Capacitor

Charging a capacitor can be thought of as a continuous process of removing a small charge dg from one plate and placing it
on the other plate. This becomes harder and harder as the charge builds up on the plates. The work it takes to charge the
capacitor with a total charge Q is stored as potential energy.

Let the capacitance of the capacitor be C. At some time ¢ during this process, the charge has built up to g(f).

A) What is the potential difference between the plates at time ¢? V(¢) =

B) What is the differential work dW required to move the next dg? dW =

C) Integrate with appropriate limits to determine the energy U - stored in the fully charged capacitor.

D) If the potential difference between the plates of the fully-charged capacitor is V, express U in terms of

) Cand V: U, = i) Qand V: U, =
Example
The plates of an isolated parallel-plate capacitor are pulled apart slowly by a force F. Each plate
has charge O and area 4. Neglect edge effects and express the following in terms of x, 4, Q and — +0
constants:

A) the capacitance C

F —>

B) the energy U stored in the capacitor

=x—

C) the change in capacitance dC as x is increased by dx.

D) the change in stored energy dU - in the capacitor as x is increased by dx.

E) the force F required to separate the plates (Hint: How are F'and dU - related?)

F) the magnitude of the electric field at the right plate due to the charge on the left plate

G) the force on the right plate due to this field
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Energy Density
The energy stored in a capacitor is due to the electric field created by its charge. We can think of the energy as actually being
stored in the electric field, rather than the capacitor. We define the electric energy density uy in a region of space as the

energy per unit volume in that region.

A) A parallel-plate capacitor has plates of area 4 and separation distance d. It is charged to a potential difference V.
Determine the energy density in the region between the capacitor plates.

B) Express the electric energy density u; in terms of the magnitude of the electric field £ between the plates.

The electric energy density u, depends only on the strength of the electric field, and on nothing else.

Examples

1. The cylindrical capacitor to the right (see page 11.5) has a charge Q.
A) What is the electric energy density u between the plates at a

distance » from the axis? T X
b

B) Consider a thin cylindrical shell between the plates, of radius 7,
thickness dr, and length L. What is the differential energy dU stored
in the electric field of this shell?

C) Integrate with appropriate limits to find the energy contained in the electric field of the space between the plates.

D) Use your expression for the capacitance of this capacitor (page 11.5) and the energy stored in a capacitor (part C),
age 11.6) to determine the energy stored in the cylindrical capacitor.




2. The spherical capacitor to the right (see page 11.5) has a charge Q.

A)

B)

0

D)

E)

F)

G)

What is the electric energy density u, between the plates at a distance r from the

center? J T
a

Consider a thin spherical shell of radius » and thickness dr. What is the differential energy dU stored in the electric
field of this shell?

Integrate with appropriate limits to find the energy contained in the electric field of the space between the plates.

Use your expression for the capacitance of this capacitor (page 11.5) and the energy stored in a capacitor (part C),
page 11.6) to determine the energy stored in the spherical capacitor.

Adjust your limits from the integration in part C) to determine the energy contained in the
electric field in all of the space surrounding an isolated spherical conductor of radius R carrying
a charge Q.

>

At some point in charging this isolated spherical conductor, it has a total charge (). What is the potential of the

sphere at this time in terms of ¢ and R? V(¢)= 'What is the differential work needed to

add another dg? dW =

Integrate with appropriate limits to determine the total work required to charge the sphere with a charge Q.
Compare with your answer to part E).




Dielectrics

The insulator that separates the plates of a capacitor |
may be made of a material that can be polarized by

|
an electric field. Such materials are called
dielectrics. The molecules of the dielectric remain Q Q Q Q Q Q
in place when the electric field is applied, but the E
centers of positive and negative charge are pulled in
opposite directions by the field. Q Q Q Q Q Q

Molecules of

Near the surface of the negatively charged plate, dielectric
there is a layer of positive charge, and the reverse Q Q Q Q Q Qs_/ S~

happens near the positively charged plate, with the | , +0
result that the net electric field between the plates is
reduced. uncharged

11.9

g
00
g

RN

charged

A) Ifyou integrate to find the potential difference V" between the plates, will the result be greater, less or the same as it

would be without the dielectric? Explain.

B) Is the capacitance of the capacitor greater, less or the same as it would be without the dielectric? Explain.

Regardless of the shape of the capacitor, the introduction of a dielectric between the plates has an effect that depends only on

the properties of the dielectric. The dielectric constant x (kappa) indicates this effect. It is defined as:

c

— —with dielectric

C

with vacuum

K

There is a table of dielectric constants at http://hyperphysics.phy-astr.gsu.edu/hbase/tables/diel.html.

C) By definition, then, what is the dielectric constant of a vacuum?

D) Could a dielectric be less than the dielectric of a vacuum? Explain.

Example

A parallel plate capacitor with capacitance C is charged to a potential difference V. A dielectric slab with constant K is

then slipped in between the plates, completely filling the gap.

A) What is the new capacitance C?

B) What is the new potential difference V'?

C) What was the initial energy U, ?

D) What is the energy U with the dielectric?



http://hyperphysics.phy-astr.gsu.edu/hbase/tables/diel.html
http://hyperphysics.phy-astr.gsu.edu/hbase/tables/diel.html
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E) What fraction of the initial energy has been lost?

Gauss’ Law with Dielectric

The presence of dielectric material “artificially” affects the electric field, which would affect the flux calculated in Gauss’
Law. Therefore, if a portion of our Gaussian surface passes through dielectric material, the flux has to be multiplied by x,

because the electric field is artificially reduced by x . So for that portion the contribution to the total flux is JK‘E dA.

Example

The figure to the right shows a parallel-plate capacitor of plate area 4 and plate
separation d. The plates are charged to a potential difference V. Later, a

dielectric slab of thickness b and dielectric constant x is placed somewhere T
between the plates as shown. Express your answers to the following in terms of 4, d

d,V,band k.

—
b
L
—

A) What is the capacitance C, before the slab is inserted?

B) How much charge is on the plates?

C) What is the magnitude of the electric field £ between the plates before the slab is introduced?

The dielectric slab is placed between the plates. Express the following in terms of £ and .
D) Use Gauss’ Law to find the magnitude of the electric field £ in the gap between the upper plate and the dielectric

slab. Draw your Gaussian surface on the figure to the right.

i

E) Use Gauss’ Law to find the magnitude of the electric field E, in the gap between the lower plate and the dielectric

slab. Draw your Gaussian surface on the figure to the right.

i

F) Use Gauss' Law to find the magnitude of the electric field £5 inside the dielectric slab. Draw your Gaussian surface

on the figure to the right.

i
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G) Calculate the potential difference between the plates after the slab is introduced. Express in terms of V, b, d and k .

H) Calculate the capacitance with the slab in place.

I) Does your expression make sense when b = 0 and when b = d? Explain.

J) If the slab were a conductor rather than a dielectric (insulator), what would be different in the steps above?

K) Find the capacitance with the conducting slab in place.

Capacitors in a Circuit

In practice, the process of charging a capacitor takes place in a circuit, T o | |
with a battery supplying the energy needed to separate the charges onto 4| I_

the plates of the capacitor. In this context, we care only about the | |
capacitance C of the capacitor, and not its shape or size, and we care Battery Capacitor
only about the potential difference ¥ supplied by the battery, not its

chemical mechanism.

A circuit with a single capacitor connected to a battery is shown to the right. When the capacitor is fully
charged, the potential difference between its plates is the same as that of the battery. Use the fact that a
wire is a conductor to explain why this is so.

Circuit

. . . S . + -
Multiple capacitors can be connected in a circuit in a variety of ways. In the Ql\ q pd O
diagram to the right, the left plates of the two capacitors are at the same
potential and the right plates are at the same potential. Explain why this is

SO.

+0, -0,

Capacitors connected such that their plates are at the same potential in this + | -
way are connected in parallel. We wish to find the equivalent capacitance C | I
of the pair.
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A) What is the total charge O that has been moved from the right “plate” of the equivalent capacitor to the left “plate”?

0=

B) Use the definition of capacitance to express this equation in terms of the appropriate C’s and V’s:

C) Parallel Rule: Express the equivalent capacitance C of the pair in terms of C| and Cj:

Capacitors connected such that the potential differences across each pair of
plates is not necessarily the same, as shown to the right, are connected in | |

series. We wish to find the equivalent capacitance C of the pair. | C‘l | | I I
A) A charge +Q is removed from the right plate of C, and moved R
through the battery, leaving this plate with a net charge —Q. Onto A
which of the other three plates does this +Q charge go? + | I’ + | I’
14 14

B) Explain why this charge doesn’t go to the other two plates.

C) Use Gauss’ Law for each capacitor to determine the charge that does go onto the other two plates.

D) Let the potential difference between the plates of the capacitors be ¥} and V,, respectively. What is the potential

difference across the combined capacitor, from the left plate of C; to the right plate of C,? How is this related to

the potential difference V of the battery?

E) Use the definition of capacitance to express this equation in terms of the appropriate C’s and Q’s:

F) Series Rule: Express the equivalent capacitance C of the pair in terms of C} and C,:
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Examples 6F 3F
1. Use the series and parallel rules to determine the total capacitance between points a

and b in the circuit segment to the right. Show how you are using each rule in turn.

a b
12F
4F

2. A capacitor with capacitance C| is charged to an initial potential difference V' using a battery. The -

capacitor is then connected as shown to the right to another, initially uncharged, capacitor C,. S

A) When the switch S is closed, are the capacitors connected in series or parallel? Explain your

choice.
Cl CZ

B) Find the potential difference across each capacitor after the switch is closed, in terms of V,, C; and C,.

C) How much energy did the battery initially supply to charge C,?

D) How much energy is stored in the capacitors after the switch is closed?

E) What fraction of the initial energy was lost?

3. In the circuit shown to the right, both switches are initially open. The
capacitor on the left has a capacitance C, and the capacitor on the right S S,
has a capacitance 3C. The battery has a voltage V.
A) First, switch S, is closed. Determine the charge on the left capacitor ___|

when equilibrium is reached. —
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B) Next, switch S| is opened, then S, is closed. Determine the charge on the left capacitor when equilibrium is again

reached.

C) S, remains closed, and now S is also closed. How much additional charge flows through the battery?

A parallel-plate capacitor is formed from plates

. . A
of area A, separated by a distance d_, giving it © Id
o
a capacitance C_. The capacitor is connected to
batt f voltage V. ti lectric field
a battery of voltage ¥, creating an electric fie v, %J/\L \L\L J/J/ J/\L J/\L J/J/
of magnitude E_, and as a result acquires a L ©

charge @, surface charge density o, and energy U . Answer the following in terms of these quantities.

A) The plate area is doubled to 24 while the plates remain connected to the battery. What are the new values of V, C,

q, 0, E, and U? Explain your reasoning.

B) The separation distance of the original capacitor is doubled to 24, while the plates remain connected to the battery.

What are the new values of V, C, ¢, 0, E, and U? Explain your reasoning.

C) The battery is disconnected from the original capacitor, and its plate area is doubled to 24 _ . What are the new

values of V, C, q, 0, E, and U? Explain your reasoning.
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D) The battery is disconnected from the original capacitor, and its separation distance is doubled to 2d . What are the

new values of V, C, ¢, 0, E, and U? Explain your reasoning.

A capacitor is composed of two concentric spherical shells of radii a and b,

respectively, that have equal and opposite charges as shown to the right. Just

outside the surface of the inner shell, the electric field is directed radially outward

and has magnitude £ .

A) Using Gauss's law, express the charge +Q on the inner shell as a function of £
and a.

B) Write an expression for the electric field strength £ between the shells as a function of £,
a,and r.

C) Write an expression for the potential difference V between the shells as a function of £, a, and b.

D) Write an expression for the capacitance of the capacitor in terms of a and b.

E) Write an expression for the energy U stored in the capacitor as a function of £, a, and b.
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F)

A parallel plate capacitor is made from two sheets of metal, each

11.16
A liquid of dielectric constant ¥ = 3 is poured into the bottom half of the capacitor, as shown to

the right. By what factor has the capacitance of the capacitor increased? Explain your reasoning
— a calculation is not required.

with an area of 1.0 square meter, separated by a sheet of plastic plastic

1.0 millimeter (10_3 m) thick. The capacitance is measured to be
0.05 uFd.

[ |
o 1 mm
[ |

A) What is the dielectric constant of the plastic?

The capacitor is charged by a battery to a potential of 30 volts.

B)

C) How much energy is stored in the fully charged capacitor?

What is the charge on each plate of the capacitor?

After the capacitor is charged, it is disconnected from the battery, leaving the charged capacitor isolated. The plastic
sheet is then removed from between the metal plates. The metal plates retain their original separation of 1.0 mm.
D) What is the new voltage across the plates?

E)

If there is now more energy stored in the capacitor, where did it come from? If there is less, what happened to it?

Now the original capacitor is fully charged to 30 volts, and left connected to the battery while the plastic sheet is
removed.

F)

G) If there is now more energy stored in the capacitor, where did it come from? If there is less, what happened to it?

What is the new charge on the plates?
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A parallel plate capacitor has plates of length L and a
capacitance C,. The plates are charged to a potential
difference ¥ and then disconnected from the charging
source. The space between the two plates is to be filled
with a slab of dielectric constant i . . I
A) The slab is inserted a distance x as shown to the right.

As a function of the given variables and x, find

i) the capacitance C of the capacitor

ii) the potential difference J between the plates

iii) the energy U stored in the capacitor.

B) Once the slab is halfway into the capacitor, it is released. Assume that the slab has a mass m and neglect friction.
Find the speed of the slab when it completely fills the capacitor.
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AP Physics C
Unit 11 Practice Test Name
Part |
Multiple Choice
1. The two plates of a parallel-plate capacitor are a distance d apart and are mounted on insulating supports. A battery is

4.

connected across the capacitor to charge it and is then disconnected. The distance between the insulated plates is then
increased to 2d. If fringing of the field is negligible, which of the following quantities is doubled?

A) The capacitance of the capacitor

B) The total charge on the capacitor

C) The surface density of the charge on the plates of the capacitor

D) The energy stored in the capacitor

E) The intensity of the electric field between the plates of the capacitor

A proton p and an electron e are released simultaneously on opposite sides of an evacuated area
between large, charged parallel plates, as shown to the right. Each particle is accelerated toward the
oppositely charged plate. The particles are far enough apart so that they do not affect each other.
Which particle has the greater kinetic energy upon reaching the oppositely charged plate?

A) The electron

B) The proton

C) Neither particle; both kinetic energies are the same.

D) It cannot be determined without knowing the value of the potential difference between the plates.
E) It cannot be determined without knowing the amount of charge on the plates.

+ + + + + + + + 4
I

Two capacitors initially uncharged are connected in series to a battery, as shown to the right. What is
the charge on the top plate of C,?

A) -81uC G =3uF
B) —18uC - OV
C) 0uC

D) +18 uC
E) +81 uC

~ C,=6uF

A parallel-plate capacitor has a capacitance C. A second parallel-plate capacitor has plates with twice the area and
twice the separation. The capacitance of the second capacitor is most nearly

A) %Gy

B) 2 C,

C) C,
D) 2C,
E) 4C,

For questions 5 and 6: Three 6-microfarad capacitors are connected in series with a 6 volt battery.

5.

The equivalent capacitance of the set of capacitors is
A) 0.5uF

B) 2uF

C) 3uF

D) 9uF

E) 18 uF

The energy stored in each capacitor is

A) 4ul B) 6] C) 124 D) 18] E) 36 1]



11.19

7. A sheet of mica is inserted between the plates of an isolated charged parallel-plate capacitor. Which of the following
statements is true?

The capacitance decreases.

The potential difference across the capacitor decreases.
The energy of the capacitor does not change.

The charge on the capacitor plates decreases

The electric field between the capacitor plates increases.

8. A battery or batteries connected to two parallel plates produce the equipotential lines between
the plates shown to the right. Which of the following configurations is most likely to produce
these equipotential lines?

+| - + —+|— —|+ —q |+ g+ || +|g— —u |+ ;
L e e [ [ [ [ SR
2V 2V 2V 2V 2V 2V 2V 2V

A) B) 0) D) E)

9. A parallel-plate capacitor has charge +Q on one plate and charge —Q on the other. The plates, each of area 4, are a
distance d apart and are separated by a vacuum. A single proton of charge +e, released from rest at the surface of the
positively charged plate, will arrive at the other plate with kinetic energy proportional to

o 0
A

2

B 2
eAd

o A0
d

Qo
D) ed
2

g <
Ad

For questions 10 and 11: Three identical capacitors, each of capacitance
3.0 uF, are connected in a circuit with a 12 V battery as shown to the right.

10. The equivalent capacitance between points X and Z is

+2V

N

A) 1.0 uF
B) 2.0uF
C) 4.5uF
D) 6.0 uF
E) 9.0 uF

11. The potential difference between points Y and Z is ‘ I

ZEero
3V
4V
8V
A%



12. The units of capacitance are equivalent to

J \Y% J?
A) = B) — o) — D) —
)c )c )c )J

13. The capacitance of a spherical capacitor with inner radius a and outer radius b is proportional to

A)

SRS

B) b-a
C) b*—4a?
ab
b-a
ab
b —a®

D)

E)

14. A capacitor of capacitance C;is charged and then connected to another initially

E) —

11.20

uncharged capacitor of capacitance C, =2C,, as shown to the right, with the

switch S in the open position. When S is closed and the system comes to - ¢
equilibrium, which of the following is true of the charges on the capacitors and the ——— !
potential differences across them?

_G=2¢

Charge Potential Difference
1 1
A 0=50 h=3"
1
B) ¢= EQz h=n
O 9=0, n=v,
1
D) 0,=0, = EVz
E) 0,=20, n="r

15. An air-gap capacitor originally has capacitance C. If a thin sheet of metal is
placed halfway between the plates of the capacitor without touching either plate,
as shown to the right, the effective capacitance is

Metal Sheet

A) 4C

B) 2C
) C
D) C2
E) C/4

261 dvI del 921 Al 901 vVed8d.LD09d¢d¥ydAedTd’l




Part I1
Show your work

11.21

Credit depends on the quality and clarity of your explanations

A capacitor consists of two plates of length ¢ and width b as shown to the
right. The plates are not parallel, but are separated by a distance d on the left
end, increasing linearly to 2d on the right end, with d very small compared to

a and b. The shaded portion of each plate is at an arbitrary distance x from
the left end, and has width dx.

A) What is the distance between the shaded portions of the plates?
B) What is the differential capacitance dC of the shaded portions?
C) Integrate to find the total capacitance of the capacitor.

The left half of the capacitor is now filled with a dielectric with constant
Kk =2 as shown to the right.

D) Determine the new capacitance of the capacitor.

d
( 1 I/b
= Xx— a
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An isolated conducting sphere of radius @ = 0.20 m is at a potential of 2,000 V.

A) Determine the charge Q, on the sphere.

The charged sphere is then concentrically surrounded by two uncharged conducting
hemispheres of inner radius b= 0.40 m and outer radius ¢ =0.50 m, which are joined together

as shown to the right, forming a spherical capacitor. A wire is connected from the outer sphere
to ground, and then removed.

B) Determine the magnitude of the electric field in the following regions as a function of the
distance » from the center of the inner sphere.
i) r<a
i) a<r<b
i) b<r<c

iv) r>c ‘
C) Determine the magnitude of the potential difference between the sphere and the |
conducting shell.
D) Determine the capacitance of the spherical capacitor.
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AP Physics C
Unit 12 Name

Electric Current

d . .
We have defined electric current i as the rate of flow of electric charge: i= 73 . What is the SI unit of current?

This unit is defined as the ampere after André-Marie Ampeére, a French physicist. We usually think of current as moving
through a wire, but any net transfer of charge represents a current. For example, in a typical lightning strike, about 15 C of

charge moves between a cloud and the earth in about 0.5 ms. How much current does this involve?

If the cloud starts with a net charge of —15 C, as shown below, determine the final charge on the cloud in the three scenarios
shown.

-75C

Final charge Final charge Final charge
on cloud: on cloud: on cloud:

Initial state

The discharge actually happens when the electric field £ between the cloud and the earth builds up to about 3x 10° V/m, at
which point the electrons (pulled in the opposite direction of E ) are ripped from their nuclei (pulled in the same direction as

E). The free electrons travel in one direction and the ionized air molecules travel in the other. By convention, we agree that

the direction of current flow is the direction of the nef flow of positive charge, regardless of the sign or direction of the actual
moving charge. According to this definition, what is the direction of the so-called “conventional current” in each of the

scenarios above?

Current Density

The very large currents involved in lightning are all the more spectacular because they are confined to a very narrow channel;
the typical lightning bolt has a radius of about 1 cm. We define the current density J as the current per cross-sectional area:

What are the SI units of current density? What is the current density of a typical lightning bolt?

Power lines typically carry about 250 A along a cable with about the

same radius. What is the current density in a power line?

We can imagine a situation in which the current density is not uniform; for example, the current density in the center of a
lightning bolt might be greater or smaller than the current density toward the edges. A more precise definition of current
density allows for this: At some point within the current flow, consider a small area d4 with a small current di flowing

. L di . .
through it. Then at this point, J = u To find the total current, we would have to integrate over the whole cross-sectional

area.
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Example R R2
P

To the right is a cross section of a lightning bolt of radius R.
A) If the current density J is uniform, what fraction of the total current is carried by the outer part of
the bolt between R/2 and R?

B) Instead, let the current density vary with distance from the center of the conductor as J = arz, where a is a constant.
i) Determine the total current in terms of @ and R.

ii) What fraction of the total current is carried by the outer part of the bolt?

We can be even more precise about our definition of current density by defining Surface

its direction: It is the direction in which net positive charge flows at that point,

which is the same as the direction of the electric field E at that point. If current J

density has magnitude and direction, we can represent it as a vector, and if it has

a value at every point in the current flow, it is a vector field. \

Consider an arbitrary surface in a region of space in which a nonuniform current

density exists, as shown to the right. At different points on the surface, the

current density may have different magnitudes, and be at different angles to the

surface. How would you use the concept of flux to calculate the current that passes through the surface?

Current in a Wire

Even before the discovery of electrons, experiments showed that the charge carriers in a conductor were negative. We now
understand that in a typical conductor carrying no current, there are electrons (usually one per molecule) that are not attached
to a particular molecule, but move randomly between molecules, much like the motion of particles in a gas, at effective

speeds on the order of 10® m/s.

Consider an arbitrary cross section of the conductor, depicted on the right as the circle N T/
obtained by passing a plane through a cylindrical wire. In a given time, many electrons 7 /S )

will pass through this cross section, but there is no net flow of charge because on the \ i

average, the same number of electrons cross to the right as to the left. A very sensitive N

ammeter, however, would flutter back and forth about a zero reading, with small currents in
either direction based on the statistics of the random motion. This “noise” can be a
problem for researchers measuring very small currents.

/ =

Wire with no current
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Drift Velocity - | +
If the ends of the conductor are connected to the terminals of a battery, there will be a I |
potential difference between the ends, resulting in an electric field inside the wire. This %
slightly shifts the motions of the electrons, resulting in a net flow through the cross section. ~—
This small additional velocity, called the drifi velocity v, is exaggerated in the drawing.
AN EV IS N
= . . . ey . =R =

We have seen before that E is zero inside a conductor at electrostatic equilibrium, but this AP NG
wire is not at equilibrium. Choose a Gaussian surface that lies entirely within the segment - N
of wire, and draw it on the diagram. Will there be a nonzero flux for your surface? + VA . A
Explain. R >

Wire with current

__\
Assume that there are n molecules per unit volume in the conductor, and that each molecule dx \H
contributes one conduction electron with the elementary charge e. We wish to determine JAR
the drift velocity in this conductor if the current density is J.
The drawing to the right shows a cylinder of charge of length dx passing through a cross
sectional area of the wire in time dt. et
2 A\
A) How many molecules are in the cylinder? J / \

B) How much charge dq is in the cylinder?

C) What is the current 7 in the conductor?

D) What is the current density J in the conductor?

E) Express the drift velocity in terms of J, n and e:

Example

The thickness of wire is described by its gauge; the smaller the
gauge the thicker the wire. A 20-gauge copper wire carries a
maximum safe current of 1.5 amperes. Assume that copper has on
average one conduction electron per atom, and use the information
to the right:

A) Calculate the maximum current density J in the wire.

B) Calculate the number 7 of copper atoms per cubic meter.

20-gauge wire has a diameter of 0.032 inches.
There are 2.54 cm in 1 inch.

The mass density of copper is 8.96 grams/cm?>
The molar mass of copper is 63.5.
Avogadro's number N, is 6.02 x 103,

The elementary charge e is 1.6 % 107" ¢

The mass of an electron is 9.11x 107" kg

C) Determine the drift velocity of the conduction electrons at the maximum current density.
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In a 12 V automotive electrical system, a 20-gauge wire is used to supply 0.5 A of current to the taillight.
D) How long does it take for a conduction electron to make the round trip from the battery to the taillight and back, a
distance of about 6 m?

E) Express this time in the most appropriate of the following units: nanoseconds, microseconds, milliseconds, seconds,
minutes, hours, days:

F) Assume that the electric field responsible for the current in the taillight wire is uniform throughout the 6 m round
trip. (We’ll make a more realistic calculation on the next page.) What is the strength of this electric field?

G) Determine the acceleration of the conduction electrons in the taillight wire due to this electric field.

H) How long would it take for a conduction electron, starting from rest, to accelerate to the drift velocity?

I) Express this time in the most appropriate of the following units: nanoseconds, microseconds, milliseconds, seconds,
minutes, hours, days:

Resistivity

Clearly something must be slowing the conduction electrons down; as they are pulled along by the electric field, they collide
with the molecules in the conducting material. Let’s consider a simple model of this motion: A conduction electron starts at
rest at one molecule, is accelerated by the electric field until it hits the next molecule, where it is brought to rest by the
collision. Its kinetic energy is transferred to the molecule in the form of thermal energy, and the electron begins its next step
of the journey.

The graph to the right represents the speed of the electron along its path. The time "
At represents the average time between collisions. Call the electric field
. . v
responsible for the current £, the charge of the electron e, and its mass m,. Assume d
that there are n conduction electrons per unit volume in the conducting material. — ;

A) Determine the drift velocity v, in terms of these quantities.

B) Express the electric field in terms of the current density J and these quantities.

The relationship between the electric field and the current density depends on some factors that are constant, such as the
properties of the electron, and others that are different for different conducting materials, such as the number of conduction
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electrons per unit volume and the average time between collisions. These factors are lumped together into one value called
the resistivity of the conducting material, symbolized by p (rho):

E=pJ

For a given electric field, a material with a high resistivity will have a low current density, and vice versa. What are the SI

units of resistivity? Express these units in terms of volts V, amperes A, and meters m:

Example

The resistivity of copper has the numeric value 1.69x 1078 in these units. Assume that the taillight wire in the previous

example is made of copper.
A) Use the relationship above to determine the electric field responsible for the current in the taillight wire.

B) Determine the acceleration of the conduction electrons in the taillight wire due to this electric field.

C) How long would it take for a conduction electron, starting from rest, to accelerate to the drift velocity?

D) What is the potential difference between the ends of the 6 m of wire corresponding to this electric field?

Clearly most of the potential difference of 12 V occurs somewhere besides the wire. In fact most of the potential difference,
and therefore the energy given off, takes place in the filament of the taillight bulb. The filament is designed to convert the
energy of the electrons into heat, and it will glow brightly when it’s very hot.

Resistance
The drawing to the right represents a segment of wire of cross-sectional area 4 and length |
L, made of a material with resistivity p. A battery supplies a potential difference V' I |
between the ends of the wire. v
A) What is the electric field within the wire? y
p

B) Find the ratio of the potential difference V to the current i in the wire.
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This ratio is called the resistance R of this particular segment of wire. Note that resistance is a property of particular items,
whereas resistivity is a general property of materials of which the items are made.

What is the ST unit of resistance? This unit is called the Ohm, after the German physicist Georg

Ohm, and symbolized by Q (capital omega).

The resistivity of some materials may depend on factors such as temperature, and if so the resistance of items made of that
material will not be constant; ie., the ratio of potential to current will vary. The graphs below show the result of applying
varying voltages to a resistor, which has a constant resistance, and a light bulb, whose filament has a resistance that depends
on temperature. As more current is sent through the filament of the bulb, it heats up, so the resistance changes. Items such as
the resistor are said to obey Ohm s Law, and are called ohmic.

Linear Fit For: Data Set:Potential
= mi+b
m(Slope): 10.4V74

-Intercept): -0.0245 ¥ 2 ry
Correlation:1.00

Potential (¥)
Potential (¥}
»

T T T T T T T T T T T L
ola ol oz 0 0.1
Current (A) Current (A)

{0.0000, 2.632)

Ohmic Resistor Non-ohmic Light Bulb
Examples

1. A certain material has a resistivity p and charge-carriers per volume n. A potential difference V is applied to a wire of

length L made of this material.
A) Express the drift velocity of the electrons in the wire in terms of these quantities and constants.

B) Check your expression for dimensional consistency, using ST units.

2. Aresearcher has a mass m of a conducting material whose resistivity is p, and whose mass density is d . She wishes to

form a wire whose resistance is R.
A) Derive a formula for the length L of the wire in terms of the given variables.
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B) Check the equation derived in A) for dimensional consistency, using SI units.

3. The figure to the right shows a rectangular solid conductor of resistivity p

and edge lengths L, 2L and 3L. A certain potential difference V is to be applied
between pairs of opposite faces of the conductor (left-right, top-bottom, front-
back). In each case find the given quantities. L
A) Left-right:
i) Resistance R

3L

ii) Current i

iii) Current density J

B) Top-Bottom:
i) Resistance R

ii) Current i

iii) Current density J

C) Front-back:
i) Resistance R

ii) Current i

iii) Current density J
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Energy Transfers and Ohm’s Law

The collisions of the conduction electrons transfer energy gained in the battery to the
molecules of the resistor, heating it up. We’ll consider the wires in the diagram to the right to
have no resistance, so that all the energy transfer takes place in the resistor.

If a small charge dg moves through the battery in a time d¢, how much energy dU is gained

from the battery? Express the rate at which this energy is

12.8

Y
|
4

gained in terms of the current 7 and the potential difference V:

Rate of transfer of

energy is power, as we have seen in mechanics. Power is measured in watts, where 1 watt =1 J/s. From your expression

above, what is another way to express 1 watt?

The expression above for power expresses both the rate of energy gain in the battery and, by conservation of energy, the rate
at which it is used in the circuit. If the external circuit is a resistor that obeys Ohm’s Law, we can express the power
dissipated (transferred out of the circuit) in terms of its resistance R and one other quantity: Express the power of an ohmic

resistor in terms of: i and R: V and R:

Example

A 1200 watt heater is designed to operate at 120 V. The heating element is made of 22 gauge nichrome wire, whose

resistivity is 1.5x 107% Qm. 22 gauge wire has a radius of 0.321 mm.
A) Determine the resistance of the heating element.

B) Determine the length of nichrome wire in the heating element.
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AP Physics C
Unit 12 Practice Quiz Name
Part |
Multiple Choice
1. A car battery is rated at 80 Ash. An amperechour is a unit of

A) power

B) energy
C) current
D) charge
E) force

Two wires made of different materials have the same uniform current density. They carry the same current only if

A) their lengths are the same

B) their cross-sectional areas are the same

C) both their lengths and cross-sectional areas are the same
D) the potential difference across them are the same

E) the electric fields in them are the same

The current is zero in a copper conductor when no potential difference is applied because

A) the electrons are not moving

B) the electrons are not moving fast enough

C) for every electron with a given velocity there is another with a velocity of equal magnitude in the opposite direction
D) equal numbers of electrons and protons are moving together

E) otherwise Ohm’s Law would not be valid

A certain piece of material carries a current of 2 amperes when the potential difference is 1 V, and a current of 5 amperes
when the potential difference is 2 V. This material

A) has aresistance of 2.5 Qat2 V
B) has aresistance of 2 Qat 1 V
C) has aresistance of 0.4 Qat2 V
D) does not have resistance

E) obeys Ohm’s Law

For questions 5 - 7: Brianna kept her 75 watt, 120 volt desk lamp turned on from 4 pm until 2 am. HECO charges 35 cents
per kWeh.

5.

6.

How many coulombs of charge would have passed through the lamp?

A) 190

B) 4,500
C) 9,000
D) 11,250
E) 22,500

About how much did it cost Brianna to keep her light on?

A) apenny
B) anickel
C) adime
D) a quarter
E) adollar

When Brianna bought the 75 watt light bulb for his desk lamp, she knew that

A) no matter how she used the bulb, the power would be 75 watts.

B) the bulb was filled with 75 watts at the factory.

C) the actual power dissipated will be much greater than 75 watts since most of the power appears as heat
D) the bulb is expected to burn out after she uses up its 75 watts.

E) none of these

H,.a94d4¢Ovd¢edcd’l
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Part II
Show your work
Credit depends on the quality and clarity of your explanations

A rod of negligible resistance, length L and radius « is surrounded by a
cylindrical electrode of inner radius b, also of length L and negligible
resistance. The material between the rod and the electrode has a resistivity
p . A battery establishes a potential difference V" between the rod and the

electrode, so that a radial current flows from the rod outward to the
cylinder.

A) Consider a cylindrical shell of radius » (¢ < r < b), thickness dr, and
length L. Express the differential resistance dR of this shell for radial
current, in terms of the given variables.

B) Integrate to find the total resistance between the rod and the electrode.

C) Express the current density as a function of 7, the distance from the
axis of the rod, where a <r <b.




AP Physics C
Unit 13 Name

Electric Circuits

In Unit 12 we examined current and resistance in conducting materials, and developed a simple model for the transfer of
energy in a circuit. Charges flowing through a battery gain energy (from a chemical reaction), and this energy is given off by
the charges in the outside circuit, often in the form of thermal energy.

We’ll simplify our discussion of a battery-bulb circuit by assuming that the wires have negligible
resistance, and the filament of the bulb behaves as an ohmic resistor (ie., obeys Ohm’s Law). Charges
gain energy in the battery and dissipate the energy in the bulb. The brightness of the bulb is an -—
indication of the rate at which it converts energy to thermal energy (and light).

If a current i is flowing through the bulb in the circuit above, and the potential difference across the bulb is ¥, what is the rate

at which it converts energy? What is another word for this rate?

Bulbs 1 and 2 are otherwise identical, but bulb 1 is brighter than bulb 2.

\ /
A) Is the current in bulb 1 necessarily greater than the current in bulb 2? Explain. ~ - ~ -
/ \
Bulb 1 Bulb 2
B) Is the potential difference across bulb 1 necessarily greater than the potential difference
across bulb 2? Explain.
Bulbs in Series
Two identical bulbs are connected in series in the circuit to the right, with the same battery as the single
bulb circuit above.
A) Will the current in the top bulb be greater than, less than, or the same as the current in the
bottom bulb? Explain in terms of the definition of current. —

B) Will the potential difference across each bulb be greater than, less than, or the same as the potential difference
across the battery? Explain in terms of the energy exchanges in the circuit.

C) Will the bulbs in this circuit be brighter, dimmer, or the same brightness as the bulb in the single-bulb circuit?
Explain in terms of the energy exchanges in the circuit.

D) Will the current in the battery in this circuit be greater than, less than, or the same as the current in the battery in the
single bulb circuit? Explain.

G) Is the resistance of this combination of two bulbs greater than, less than, or the same as the resistance of a single
bulb? Explain using the definition of resistance.
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In general would adding additional bulbs in series increase, decrease or not change the total resistance of the
combination? Explain in terms of Ohm’s Law and how the potential difference and current for each bulb is affected.

Bulbs in Parallel

Two identical bulbs are connected in parallel in the circuit to the right, with the same battery as
the single bulb and series circuits above.

A)

B)

0

D)

E)

F)

G)

H)

Download the PhET Circuit Construction Kit from the web site. Launch the simulator, click the “Small” button under “Size’

On the diagram to the right, sketch and number all possible paths a charge could take
in going from the positive terminal around the circuit to the negative terminal of the
battery.

For each of these paths, will the energy transferred to a bulb by a given charge be
greater than, less than, or the same as the energy gained in the battery by that charge?
Explain.

Will the potential difference across the left bulb be greater than, less than, or the same as the potential difference
across the right bulb? Explain in terms of the definition of potential difference.

Will the potential difference across each bulb be greater than, less than, or the same as the potential difference
across the battery? Explain in terms of the energy exchanges in the circuit.

Will the bulbs in this circuit be brighter, dimmer, or the same brightness as the bulb in the single-bulb circuit?
Explain in terms of the energy exchanges in the circuit.

Will the current in the battery in this circuit be greater than, less than, or the same as the current in the battery in the
single bulb circuit? Explain in terms of the definition of current.

Is the resistance of this combination of two bulbs greater than, less than, or the same as the resistance of a single
bulb? Explain using the definition of resistance.

In general would adding additional bulbs in parallel increase, decrease or not change the total resistance of the
combination? Explain in terms of Ohm’s Law and how the potential difference and current for each bulb is affected.

0

and construct the three circuits we have discussed above, so that all three appear in the workspace. Verify that your
predictions about the brightness of the bulbs in each circuit is correct. If not, resolve any inconsistencies.
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Series and Parallel Combinations

When the switch S is closed in the circuit to the right, a third bulb is connected in parallel
with the bottom bulb in the original series circuit.
A) On the diagram, sketch and number all possible paths a charge could take in going
from the positive terminal around the circuit to the negative terminal of the battery
once the switch is closed. -— S
B) Does the current change along a given path, or remain the same? Explain in terms
of the definition of current.

C) How does the current in the top bulb compare to the current in the bottom left bulb?

D) How does the potential difference across the top bulb compare to the potential difference across the bottom left
bulb? Explain using Ohm’s Law.

E) How, if at all, does the potential difference across the top bulb change when the switch is closed? Explain in terms
of the fraction of the battery’s potential across the top bulb before and after the switch is closed.

F) How, if at all, does the current in the top bulb change when the switch is closed? Explain using Ohm’s Law.

G) How, if at all, does the current in the battery change when the switch is closed? Explain how you know.

H) According to Ohm’s Law, is the resistance of the circuit with the switch closed greater than, less than, or the same
as the resistance of the circuit with the switch open? Explain.

I) A student makes the following statement: “The lower bulb will dim when the switch is closed, because it now only
gets half the current. But the brightness of the top bulb won’t change because it still gets all the current.” What’s
wrong with this statement?

J)  Use the PhET simulator to construct the circuit. Verify that your predictions about the brightness of the bulbs before
and after the switch is closed is correct. If not, resolve any inconsistencies.
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When the switch S'is closed in the circuit to the right, a third bulb is connected in parallel
with both bulbs in the original series circuit.

A) On the diagram, sketch and number all possible paths a charge could take in going
from the positive terminal around the circuit to the negative terminal of the
battery once the switch is closed. —

B) How, if at all, does the potential difference across the top bulb change when the
switch is closed? Explain in terms of energy transfers along different paths in the
circuit.

C) How, if at all, does the current in the top bulb change when the switch is closed? Explain using Ohm’s Law.

D) How does the potential difference across the third bulb compare to the potential difference across the battery once
the switch is closed? Explain in terms of energy transfers along different paths in the circuit.

E) How does the current in the battery change when the switch is closed? Explain how you know.

F) According to Ohm’s Law, is the resistance of the circuit with the switch closed greater than, less than, or the same
as the resistance of the circuit with the switch open? Explain.

G) Use the PhET simulator to construct the circuit. Verify that your predictions about the brightness of the bulbs before
and after the switch is closed is correct. If not, resolve any inconsistencies.

Six identical bulbs are connected as shown in the circuit to the right. Rank the brightness of
the bulbs, and explain your reasoning.

'@ ‘@
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Batteries in Series
Consider the three circuits to the right, made with 3
identical batteries and bulbs. — 1 G) 2 6)
A) Predict the ranking of the brightness of the —
bulbs from brightest to dimmest. If any bulbs 4
have equal brightness, state so explicitly.
Circuit [ Circuit IT Circuit I1I

B) Explain your ranking in terms of the energy exchanges in each circuit.

C) Use the PhET simulator to construct the circuits so that all three appear in the workspace. Verify that your
predictions about the brightness of the bulbs in each circuit is correct. If not, resolve any inconsistencies.

Circuit IV is constructed from Circuit II by adding a bulb in parallel to bulb 2.
JCONIC)

D) Will the brightness of bulb 2 increase, decrease, or remain the same? Explain.

E) Use the PhET simulator to construct the circuit by adding another bulb to Circuit II.
Verify that your predictions about the brightness of bulb 2 is correct. If not, resolve Circuit IV
any inconsistencies.

In the early days of the study of batteries, the term used to describe the energy per unit charge given to the charges flowing
through a battery was electromotive force, or emf €. We still use the abbreviation even though energy per unit charge is not

a force. Make a general statement about the effective emf of multiple batteries when connected in series.

We can think of the direction of a battery’s emf as pointing out the positive terminal. The chemical reaction that gives energy
to charges passing through a battery may be reversible. In that case, charges sent through the battery in the opposite direction
of its emf will give energy fo the battery; we say that the battery is rechargeable and that it is being charged. It would be
better to say that it is being energized because it is gaining energy, not charge. A battery giving energy to a circuit is said to
be discharging. We will assume in what follows that our batteries are rechargeable.

Consider the circuit to the right, with four batteries and two bulbs. Note the orientation of the
batteries. A C
A) How many distinct paths are there for a charge that leaves the positive terminal of battery
A and goes completely around the circuit? ! 2
B) Rank the brightness of the two bulbs and explain your reasoning. B T D T
Circuit V

C) In what direction, if any, will current flow in the circuit? Explain your reasoning in terms of energy transfers in the
circuit.

D) Which battery(ies) is (are) being charged? Explain.
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Consider circuits VI - VIII to the right.
E) Rank the brightness of bulbs 1 - 5 in circuits V -

= ® | «@® [ @

T T

Circuit VI Circuit VII Circuit VIII

F) Explain the reasoning for your rankings above.

G) Use the PhET simulator to construct the circuits. Verify that your predictions about the relative brightness of the
bulbs is correct. If not, resolve any inconsistencies.

Modify your general statement on the previous page about the effective emf of batteries in series to account for the direction
of each battery’s emf.

Multiple Loop Circuits

Consider Circuit IX to the right.
A) Predict whether the brightness of bulb 6 will increase, decrease, or remain the N
same when the switch is closed. Explain your reasoning. A — 6 <°D

Circuit IX

Circuit X is formed by adding bulb 7 as shown.
B) Predict whether the brightness of bulb 6 will increase, decrease, or remain the @_
same when the switch is closed. Explain your reasoning. 7

Y i 6<eD j —

C) How will the brightness of bulb 7 compare to the brightness of bulb 6 once the Circuit X
switch is closed? Explain your reasoning.

Circuit XI is formed by reversing battery 4 as shown.
D) Predict whether the brightness of bulb 6 will increase, decrease, or remain the @_
same when the switch is closed. Explain your reasoning. 7
a= 6(3) B mm
E) How will the brightness of bulb 7 compare to the brightness of bulb 6 once the Circuit XI o

switch is closed? Explain your reasoning.

F) Use the PhET simulator to construct these circuits and verify that your predictions are correct. If not, resolve any
inconsistencies.


tcoke
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Complete this PhET activity, don’t skip!
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Quantitative Analysis of Circuits
We will now develop tools based on what we have learned so far that will enable us to calculate the behavior of  AAAAA.

circuits. Instead of bulbs, we will consider the more generic resistors, whose symbol is shown to the right, which  Registor
may have various resistances. We will see how they combine with batteries in various ways.

Three resistors are connected in series, as shown to the right. A current i is sent —»  AAAAA—ANAA—ANAN—>—
through the combination. We wish to find the resistance R of a single resistor i R R, Ry
with the same resistance as the series combination.

A) What is the potential difference V across the combination of resistors in

terms of the potential differences ¥}, V,, and V; across each resistor? ; R

B) What is the current i through the combination of resistors in terms of the currents i, i,, and i; through each

resistor?

C) Use Ohm’s Law to express the total resistance R in terms of the resistances R;, R,,and R;:

Three resistors are connected in parallel, as shown to the right. A current i is sent through the
combination. We wish to find the resistance R of a single resistor with the same resistance as the
parallel combination.
A) What is the potential difference J across the combination of resistors in terms of the i m
potential differences ¥, V,, and V; across each resistor?
R3
—— NNV ——
i R

B) What is the current i through the combination of resistors in terms of the currents i,

iy, and iy through each resistor?

C) Use Ohm’s Law to express the total resistance R in terms of the resistances R;, R,,and R;:

We saw in Unit 12 that charges moving through a conductor encounter obstacles, which give rise to resistivity of materials
and resistance of circuit elements. This is also true for batteries themselves; they have resistance called internal resistance.
Current generates heat no matter which direction it flows through a battery.

A) Select “Reset All” on the PhET simulator to start with a blank workspace. Drag in a battery and click the Voltmeter

checkbox. Position the probes of the voltmeter on the terminals of the battery and read the voltage:

B) Construct a complete circuit with this battery and one resistor. Measure the voltage of the battery while it is

discharging:

C) Control-click on the battery and select “Change Internal Resistance.” Type in 2.0 Q. Measure the voltage of the

battery while it is discharging:




D)

E)

13.8

Disconnect one of the wires in the circuit to stop the current. Measure the voltage of the battery:

Explain why the terminal voltage of the battery when it is discharging is less than when it is not.

Add two more batteries to the circuit in series so that there are three in series with the resistor. Change the internal resistance
of these batteries to 2 Q. Control-click on one of the batteries and select “Reverse” so that this battery is being charged.

F)

G)

H)

D)

Simple Circuits

Circuits that are equivalent to a single emf and a single
resistance are called simple circuits, no matter how complicated

Measure the terminal voltage of the charging battery:

Measure the terminal voltage of the discharging batteries:

Explain why the terminal voltage of the charging battery is greater than its emf.

Write expressions for the terminal voltage of a battery with emf €, internal resistance 7, carrying a current i under
the following conditions:

i)  The battery is discharging:

ii) The battery is charging:

they may look. The circuit to the right is a simple circuit. 30 F 10
A) Determine the equivalent emf of the circuit. E
—AVWY
G 6€2 4Q D
. . . 12Q2
B) Determine the equivalent resistance of the parallel
section on the top. Write this value in the box.
1 _€&=110V € =90V |
r=19Q r=3Q —
C) Determine the equivalent resistance of the parallel £ =100V
section on the bottom. Write this value in the box. ey
r=
A I I B 12Q C

D)

E)

Determine the equivalent resistance of the circuit, C ) 0

. . . . : 24
including the internal resistances of the batteries.

Determine the maximum current in the circuit, and write it in the appropriate circle.
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F) Determine the currents in the remainder of the circuit, and write them in the appropriate circles. Show your work.

G) The symbol at point 4 means that point 4 is ground; ie., it is arbitrarily set to zero potential. Determine the

potentials of the remaining lettered points relative to A. Show your work.

Ammeters and Voltmeters

In order to measure the potential difference between two points in a circuit, we simply place
the red probe at the point with the higher potential and the black probe at the point with the
lower potential. The meter reads the potential between the points. The voltmeter in the

diagram to the right is measuring the potential difference across the bottom bulb. —

A) Should the voltmeter itself have a high resistance or a low resistance in order not to
affect the potential difference it is measuring? Explain.

In order to measure the current at a point in a circuit, we place an ammeter into the circuit in
such a way that all of the current to be measured passes through it. The ammeter in the diagram
to the right is measuring the current in the bulb on the right.
B) Should the ammeter itself have a high resistance or a low resistance in order not to
affect the current it is measuring? Explain.

Voltmeter

Ammeter

(mEEE]

The same digital display can be used by a manufacturer to construct either of these instruments. In fact, most meters are
“multimeters” which are capable of measuring either voltage or current by flipping a switch. The switch engages the proper

circuitry with the display so that the proper quantity is measured.

Example

Your company has bought thousands of digital displays with the following specifications:
«  Each display has two terminals labeled “+” and “—”

o The internal resistance of the display is 10 Q.

o The reading on the display is proportional to the current sent through it.

o When a current of 10 mA is sent through the display, it reads “10.00”. More current damages the display.
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Your job is to design a multimeter with two switch settings: “10 A” and “10 V” so that:

A) When the switch is set to “10 A” and 10 amperes of current is sent / \
through the multimeter, the display reads “10.00”. Calculate the
resistance of the single resistor you need to connect to the display, and ] |
show how it is connected in the diagram. This resistor is called a “shunt.” + @ —
10A

\_ /

Ammeter
B) When the switch is set to “10 V” and the terminals of the multimeter are
connected to a potential difference of 10 V, the display reads “10.00”. Calculate 10V
the resistance of the single resistor you need to connect to the display, and show
how it is connected in the diagram. This resistor is called a “multiplier.” / \

—1ltlofofof/—

- J

Voltmeter
Multiloop Circuits and Kirchhoff’s Rules
Consider the simple circuit to the right. ANV A
5Q 1Q
A) Determine the equivalent emf of the circuit:
—— £=200V € =40V——
- -
B) Determine the equivalent resistance: r=1Q r=1Q
AV —AM
C) Determine the current in the circuit: 4Q 3Q
We now add a 10 Q resistor as shown to the right. It is impossible to resolve the
circuit into a single equivalent emf and a single resistance. Such a circuit is —VVW\ — VWV
analyzed by two tools called Kirchhoff's Rules after Gustav Kirchhoff, a German 5Q 1Q
physicist. o
1. (The Junction Rule) The net current flowing into a junction is equal to £ =200V § o € =40V
the net current flowing out of the junction. - ~10 - - 10 -
2. (The Loop Rule) The net change in potential around any closed loop in "= r=
the circuit is zero. AAAA AAAN
4Q 3Q

D) In the circuit to the right, how many different currents are there?

E) Although you don’t necessarily know in advance the direction of the currents, choose a direction for each current
and label them i}, i,, etc. on the diagram.

F) Write the equation that results from applying the Junction Rule to one of the junctions:

G) Choose two loops that you can follow in the direction of your chosen current. Write the two equations that result
from applying the Loop Rule to these loops.
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H) Solve these equations to find the currents in each part of the circuit. If any result is negative, it just means that the
current goes in the direction opposite the one you chose.

Consider the multiloop circuit to the right.

A) Label each current on the diagram. A4 A4

2Q 3Q
B) Write the Junction Rule equation:

& =8V—— € =10V—— € =15V——
. . ]
C) Write the Loop Rule equations: =20 T F=20 F=20
AAAAY AAAAY
6Q 4Q

D) Solve to find the currents.
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RC Circuits

In the Capacitor Lab you used a circuit like the one to the right to observe the current while — AAMA———
the capacitor was being charged. Such a circuit is called a Simple RC circuit. R
Imagine that we start charging the capacitor at time 7= 0, and at some later time # the current o —— -
in the circuit is i(#) and the charge on the capacitor plates is g(f). As we watch for a short T
time dt, a small charge dg passes through the battery, and the same amount of charge passes
through the resistor and is stored on the capacitor plates. @

A) How much energy dU, has been supplied to dg by the battery? Ammeter

B) What is the rate at which the resistor is dissipating heat?

0

D)

E)

F)

G)

H)

D)

What is the differential energy loss dU in the resistor in the time dz?

How much energy U~ is stored in the capacitor at this moment?

What is the differential increase dU - in this energy due to the addition of dg?

Write the equation that states that the energy supplied by the battery is equal to the energy dissipated by the resistor
and the energy stored in the capacitor.

Divide the equation from part F) by d¢ and simplify. Verify that the resulting equation follows from the Loop Rule.

Write the equation from part G) as a differential equation in ¢.

Integrate the differential equation in part H) to find an expression for ¢(z).




J)  Given your expression for g(z), develop the expression for i(f).
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K) This is the equation of the form i = ae”" from the capacitor lab. What is the constant a, and what does it represent?

L) If the capacitor were replaced by a wire, what steady current would the ammeter measure?

M) Make a general statement about the initial current in an RC circuit.

N) Show that the quantity RC has units of time:

O) The quantity RC is called the time constant T (tau) of the RC circuit. What fraction of the initial current remains

after the following times? 7:

. . . (¢
P) For any time ¢, what is the ratio - i(t) ?
i(t+71)

27:

37:

Q) On the axes below, left, sketch a graph of i(f) for the resistor in an RC circuit. On the axes below, right, sketch a

graph of ¢(#) for the capacitor in an RC circuit. Make your graphs approximately to scale.

T 2T

3t

t

q
ECT

T

27

3t

t

R) Use these graphs to describe how the potential differences across the resistor and the capacitor vary with time in an

RC circuit.
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Example

The series circuit shown to the right contains a resistance R =2 X 10% Q , a capacitor of
unknown capacitance C, and a battery of unknown emf € and negligible internal
resistance. Initially the capacitor is uncharged and the switch S'is open. At time =0 1 E—

the switch S is closed. After this time, the current in the circuit is described by the — e
equation

i()=(10 uA)e % S

A) Determine the emf of the battery.

B) By integrating with appropriate limits, develop an expression for the charge on the capacitor as a function of time.

C) On the axes to the right, sketch a graph of the charge ¢ on the capacitor as a
function of time . Indicate significant points on the g axis. q
D) Determine the capacitance C.

Non-simple RC Circuits

If the RC circuit is not a single capacitor in series with a resistor and a battery, the analysis is more complex, but still uses the
concepts of energy transfer and the Loop Rule. Often it is sufficient to understand the initial behavior (when the capacitor
behaves like a wire) and the behavior after a long time (when the capacitor behaves like an open switch).

Consider the circuit to the right. — AAMAA — AAAA
A) What is the current through the battery immediately after the switch R R
is closed?
Ca— R c
S

B) What is the current through the battery a long time after the switch is
closed?
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C) On the axes to the right, sketch the current in the battery as a function of
time, showing initial and final values.

D) Determine the potential difference V. across the capacitor plates after a

long time.

E) Determine the charge Q that is stored on the capacitor plates after a long time.

After being closed for a long time, the switch is opened. We reset the stopwatch to #=0.

F) Of the three resistors in the circuit (left, middle, right), which will have current at the instant the switch is opened?
Explain your reasoning.

G) What is the direction in which current flows once the switch is opened? What is the initial value of this current?

At some later time ¢, the current in the circuit is i(f), and the charge left on the capacitor is g(¢).
H) Use the Loop Rule to write an equation relating i and g to the capacitance C and the resistance R.

I) Write the above equation as a differential equation in g. Note that since charge is leaving the capacitor, i= —ﬁ .

J) Separate variables and integrate with appropriate limits to determine g(z).

K) Given your expression for g(#), develop the expression for i(f).

In general, we can assume that the current in an RC circuit starts at the initial value and asymptotically approaches the final
value.



Examples

1.

In the circuit shown to the right, the switch § is open and the capacitor C
is initially uncharged. The values of the resistances, capacitance and emf
are shown.

A)

B)

0

D)

E)

Calculate the current in the resistor R, immediately after the switch S
is closed. R,

Calculate the current i, in the resistor R, after the switch has been
closed for a long time.
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C=5uFd R =5kQ
£=3kV Ry =10kQ

On the axes to the right, sketch the potential difference V, across R, as a

function of time ¢ indicating initial and final values. Show your
calculation.

Calculate the charge Q on the capacitor after a long time.

Calculate the energy U stored in the capacitor after a long time.

Now the switch S is open after being closed for a long time.

F)

G)

On the axes below, right, sketch the current i, in the resistor R, as a

function of time ¢, and indicate the initial and final values.
Is the current through R, up or down? Explain.
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In the circuit shown to the right, the battery has been P ——"VWW\—

connected for a long time so that the currents have steady 9Q

values. Given these conditions, calculate each of the

following: 8Q §
A) The current in the 9 Q resistor

AV — 4Q§

4Q§ 30uF

B) The potential difference across the capacitor

C) The energy stored in the capacitor

At time #;, the connection at point P fails, and the current through the battery becomes zero.

D) On the axes to the right, sketch a graph of the current in the 8 i
Q resistor as a function of time both before and after time #, clearly

indicating current values on the i-axis. Let current downward
through the resistor be positive. Show your calculations below.
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AP Physics C
Unit 13 Practice Test Name

Part I
Multiple Choice

amperes as shown in the diagram to the right. Under these circumstances, a voltmeter connected

1. A 12-volt storage battery, with an internal resistance of 2 €, is being charged by a current of 2 2A
across the terminals of the battery will read l

=12V
A) 4 volts
B) 8 volts r=2Q
C) 10 volts
D) 12 volts

E) 16 volts

For questions 2 - 4: The batteries in each of the circuits shown below are identical, and they and the wires have negligible
resistance.

A%
20
T 2Q§ 20 = 49§ 4Q§ T T ZQ§ T 60
T 20
A) B) ®) D) E)
2. In which circuit is the current furnished by the battery the greatest?
3. In which circuit is the equivalent resistance connected to the battery the greatest?
4. Which circuit dissipates the least power?
5. Inthe RC circuit to the right, a battery of emf 10 volts and no ——VYWWAV—
internal resistance is connected in series with a 1000 Q resistor and R =1000 Q
a 100 uF capacitor. About how long will it take after the switch is
closed for the current to become less than 1 milliampere? E=10V C =100 uF

A) between t = 0 and one time constant
B) between one and two time constants
C) between two and three time constants S
D) between three and four time constants

E) more than four time constants

6. Alamp, a voltmeter V, an ammeter A, and a battery with no internal
resistance are connected as shown to the right. Connecting another lamp

as shown by the dashed lines would I '+
= © © 5
A) increase the ammeter reading

B) decrease the ammeter reading
C) increase the voltmeter reading @_ ______________ H
D) decrease the voltmeter reading

E) produce no change in either meter reading
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Questions 7 and 8 relate to the five incomplete circuits below, composed of resistors R, all of equal resistance, and capacitors

C, all of equal capacitance. A battery that can be used to complete any of the circuits is available.

\AMA
R R c R C R
\AMA
R R R
A) B) 9]

D)

7. Into which circuit should the battery be connected to obtain the greatest steady power dissipation?

8. Which circuit will retain stored energy if the battery is connected to it for a while and then disconnected?

9. In the circuit shown to the right, the capacitor is initially uncharged. At time =0, ——VYWW\—
switch S is closed. Which of the following is true at time ¢ = RC? R
e —— — 1
A) The current is £ . - ¢
eR
. &
B) The currentis —.
R S
C) The voltage across the capacitor is € .
D) The voltage across the capacitor is £ .
e
E) The voltages across the capacitor and resistor are equal.
10. In the circuit shown to the right, the emf's of the batteries are given, 2A 1A
as well as the currents in the outside branches and the internal > >
resistance of the middle battery. The internal resistance of the 15V
battery must be L e=15v —L_eg=1ov —L_¢=10v
A) 1Q r=17 r=2Q T r=17
B) 1.5Q
C) 2Q
D) 3Q
E) 45Q
11. Abattery having emf € and internal resistance r is connected to a circuit consistingof {7
two parallel resistors each having resistance R. For what value of R will the power
dissipated by the external circuit be a maximum? €
A) 0 r Ed R § R §
B) 72
C r
D) 2r
E) 4r / """"""""""""""""""
External circuit
12. In the circuit to the right, all batteries are identical with emf €
and no internal resistance, and all resistors are identical with I I
resistance R. The total power dissipated by the resistors is E mm R — — —
2 2 2 2
2 16
A & B) & o £ p) 2
4R R R R

E) None of the above



13.

14.

15.
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In the circuit shown to the right, the potential difference between points a and b is zero 1 uF
when the capacitance C is 1Q

A) 1/3 uF a b o
B) 2/3 uF Q
C) 2uF C 3
D) 3 uF

E) 9uF

When two identical resistors are connected in series to an ideal battery, the total power dissipated is P. When the same
two resistors are connected in parallel to the same battery, the total power dissipated is

A) 1/4P
B) 12P
C) P
D) 2P
E) 4P
In the circuit shown to the right, the current in each battery is 0.04 A. The |
potential difference between points a and b is I MWWV
=2V 50 Q
A) 0volts |
B) 2 volts
C) 4volts ANV
D) 6 volts E=2V 50 Q
E) 8volts
a AV b
150 Q

VSIHAPLVELATT AT 40l V6ed8ALYIDSCHYHEVTHI
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Part II
Show your work
Credit depends on the quality and clarity of your explanations

A battery with €=20V is connected in series with a resistor of 300 kQ and VMV

a parallel-plate capacitor with C = 6 uF. 300 k2

A) Determine the energy stored in the capacitor when it is fully charged. /== € =20V 6 uF

The spacing between the capacitor plates is suddenly increased (in a time
short compared to the time constant of the circuit) to four times its original
value.

B) Determine the work that must be done in increasing the spacing in this fashion.
C) Determine the current in the resistor immediately after the spacing is increased.

After a long time, the circuit reaches a new static state.

D) Determine the total charge that has passed through the battery.
E) Determine the energy that has been added to the battery.



The 2 uF capacitor shown in the circuit to the S, S, 1 MQ
right is fully charged by closing switch S, and AMAAAN
keeping switch S, open, thus connecting the

capacitor to the 2,000 volt power supply.

A) Determine each of the following for this - 2,000V — 2uF oufF
fully charged capacitor.
i) The magnitude of the charge on each
plate of the capacitor
ii) The electrical energy stored in the
capacitor

At a later time, switch S| is opened. Switch S, is then closed, connecting the charged 2 uF capacitor to a 1 MQ (1x 10°
Q) resistor and a 6 uF capacitor, which is initially uncharged.

B) Determine the initial current in the resistor the instant after switch S, is closed.

Equilibrium is reached after a long period of time.

C) Determine the charge on the positive plate of each of the capacitors at equilibrium.

D) Determine the total energy stored in the two capacitors at equilibrium. If the energy is greater than the energy
determined in part A) ii), where did the increase come from? If the energy is less, where did the electrical energy
go?
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0.005 -

4 8 12 A

In the laboratory, you connect a resistor and a capacitor with unknown values in series with a battery of emf € =12 V.

You include a switch in the circuit. When the switch is closed at time ¢ = 0, the circuit is completed, and you measure the
current through the resistor as a function of time as plotted above. You use Logger Pro to find that the current decays
t

. . . E 4.
according to the relation i(¢) = Ee 4s

A) Using common symbols for the battery, the resistor, the capacitor, and the switch, draw the circuit that you
constructed. Show the circuit before the switch is closed and include whatever other devices you need to measure
the current through the resistor to obtain the above plot. Label each component in your diagram.

B) Having obtained the curve shown above, determine the value of the resistor you placed in this circuit.

C) What capacitance did you insert in the circuit to give the result above?

(continued on next page)
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You are now asked to reconnect the circuit with a new switch in such a way as to charge and discharge the capacitor.
When the switch in the circuit is in position A, the capacitor is charging, and when the switch is in position B, the
capacitor is discharging, as represented by the graph below of voltage 7 across the capacitor as a function of time.

Switch at A Switch at B
Ve (V) Charging v Discharging q
12 L ™ 1
6 +
T T T T T T T T T T T T T T 1 T t(s)
4 8 12 16 20 24 28 32

D) Draw a schematic diagram of the RC circuit that you constructed that would produce the graph above. Clearly
indicate switch positions A and B on your circuit diagram and include whatever other devices you need to measure
the voltage across the capacitor to obtain the above plot. Label each component in your diagram.






14.1
AP Physics C
Unit 14 Name

Special Relativity

Albert Einstein’s Special Theory of Relativity has to do with the perception of events from different reference frames. An
inertial reference frame is one which is not rotating or accelerating. Einstein’s assumptions are:

1. The laws of physics are the same in any inertial reference frame.
2. The speed of light in vacuum (c¢) is the same to all observers in inertial reference frames, regardless of their
motion relative to each other or the source of light.

Given these assumptions, Einstein showed that time and length are not absolute quantities, measured the same by all
observers, but relative quantities, whose observed values depend on the motion of the observer relative to the object.

. . . o 1
If v is the speed of the observer relative to the object, then the change in time and length depend on the factor ————.
V1-v?/¢?
This factor has a special name (the Lorentz Factor), and a special symbol (¥ , the Greek letter gamma). The Lorentz Factor
is a pure number, whose value ranges from 1 (when v = 0), to infinitely big (as v approaches c).
The time intervals in one reference frame expand by the Lorentz Factor when observed from another frame. This is usually

explained in terms of the “ticks” of a clock. Let Az represent the time interval between ticks of a clock in a reference frame

at rest. If that same clock moves with a speed v, then the observed time interval A¢ would be longer by the Lorentz Factor:

At=1yAt . Dilation means expansion, so this phenomenon is known as time dilation.

The distance between two points measured in one reference frame become shorter (contracted) when viewed from a
reference frame in relative motion. If L, represents the distance measured in a reference frame at rest, then the distance L

L
measured in a moving frame is shorter by the Lorentz Factor; that is, it is proportional to 1/y: L=—2. This is known as
length contraction. Length contraction happens only in the direction of motion, not in perpendicular directions.

Forces on Moving Charges

m
Consider two equal positive charges +¢, each with mass m, a distance r apart, moving together at the same Tqoq —
speed v in the laboratory reference frame (neglect gravitational forces). What is the force of electrical r
+q O l —v)
m
repulsion between these charges? Fj = This repulsive force would accelerate the charges

away from each other. In a reference frame moving with the charges, they appear to be at rest; in this reference frame, what

is the acceleration of each charge at the moment they are a distance r apart? a = In the laboratory frame,

would time dilation make this acceleration greater than a, or less than a? Explain.

In the laboratory frame, would the force acting between the charges be greater or less than Fj above?

In the laboratory frame, there must be another force acting in addition to F, to account for the observed acceleration. Is the

direction of this force on each charge toward or away from the other charge? Note that this force only
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acts on moving charges, and the faster they move, the greater the force. How fast would the particles have to move so that

this force completely cancels F}; ? Explain using the Lorentz Factor.

Forces on Current-Carrying Wires

i=0 ) i
B — B —
B8 3 8 8 8 8 B %% %% J 6" ®H F 0% o0 B 0% &
Srotoﬁs eljctroils i i
e — e —
8 8 8 88 &8 8 & 935% %% 8 °5° & 0% %0 % 0% ¢
Laboratory frame Proton frame Electron frame

The diagrams above represent an idealized view of two parallel wires. When there is no current flowing in the wires, there
are equal numbers of protons and electrons, so that the positive and negative linear charge densities £ are equal. Now

consider sending equal currents to the right in both wires. In the lab frame (the proton frame), the electrons move. Which

way do the electrons move? In the proton frame, the electrons are length contracted as shown in the

second diagram. In this frame, is the negative charge density of each wire greater than or less than A ?

How would the protons in one wire respond to the other wire?

In the electron frame, the protons are length contracted as shown in the third diagram. In this frame, is the positive charge

density of each wire greater than or less than A ? How would the electrons in one wire react to the
other wire? If the wires carry _t,
O O O O O O
0 0 "0 0~ 0 0 0-0 0
current in opposite directions, then in the frame of the electrons in one wire, the i
electrons in the other wire will be length contracted more than the protons are. How o e—
. . . R 9,0 8 0,0 8 0,0 0007
would the electrons in the top wire react to the protons and electrons in the bottom 0 00 0 0 "0 0

wire? Explain. Frame of electrons in top wire

Make a general statement about the force between wires that carry current in the same direction and wires that carry current
in the opposite direction.

Two wires are bent into circular loops, and carry current in the same direction as shown ; i
in the first diagram to the right. What would happen to these two loops? ﬂ

If the currents in the loops were in opposite directions, as in the second diagram, what
would happen to the loops?




14.3
Forces Due to Electron Orbits

Electrons in their orbits can be considered tiny current loops like the ones on the previous page. In normal materials there are
so many electrons and their orbits are so randomly oriented that there is no net effect. However, in some materials such as
iron, it is possible to orient more of the orbits one way than another.

Imagine that we have two bars of iron in which we have oriented
the electron orbits predominantly the same way, as shown in the S ( NJ [ S ( NJ
top diagram. We have randomly chosen two letters, “S” and “N,”

to help keep track of the orientations in the two bars. What is the A AW

direction of the force on each bar due to the other?

If the bar on the right is flipped around as shown, what is the
direction of the force on each bar due to the other?

In ancient Greece, stones were discovered that behaved like the bars above. They were eventually called magnets after the
Greek region called Magnesia. The ends of the bars behave in a way that reminds us of electric charges; “likes repel and
unlikes attract.” In this sense, bar magnets like the ones above are like dipoles.

If one were to cut a bar magnet in half, as shown to the right, would you expect those halves to
attract or repel? Explain, and indicate the appropriate letter at each end of the new bars. [ ( ( J

N N

A single pole, either an “N” or an “S,” would be called a magnetic monopole. Do you think it would be possible to isolate a
magnetic monopole? Explain how or why not.

Magnetic Field

In our discussion of electricity and electric field, we considered an electric charge as causing an electric field in its vicinity,
such that other electric charges placed in that field feel an electric force. We drew vectors and field lines to represent the

magnitude and direction of E. In a similar way, we’d like to examine the region around a bar magnet to see what the effect
would be on other bar magnets in the region. We use the symbol B for magnetic field. 7 N
To investigate the magnetic field of a bar magnet, we use another, small bar magnet that can rotate freely. Such O
an instrument is called a compass as shown to the right. In the space to the below, draw compasses at the lettered S~
points to show the orientation of the compass if it were placed there.
Compass
Download the PhET simulation Magnet and Compass from the
web site. Move the simulated compass to the corresponding
points to check your predictions. B

In the simulation, small compasses are drawn at regular intervals
to show the direction of the magnetic field in the whole region. A [

The strength of the field is represented by how bright or faded .
the compasses are.

On the diagram to the right, sketch field lines that show the D E
general direction of the magnetic field in the region. The field
lines should be closer together where the field is stronger, and
farther apart where it is weaker. We arbitrarily choose the
direction in which the N pole points to be the direction of the
magnetic field. Draw arrowheads on your field lines to indicate the direction of the field.
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Compasses have been used for centuries to guide travelers on land and sea. On the simulation, check the “Show planet
Earth” checkbox. Move the compass along the surface of the Earth and explain why the letters “S” and “N” were chosen to
label the poles of magnetic dipoles, and why the Earth’s magnetic poles are labeled as they are.

Consider the magnet broken in half from the previous page. If a small compass were placed

[S?N

between the pieces, which direction would it point? Would you

expect the field there to be strong or weak? Explain.

These pieces can be held arbitrarily close together. What does this say about the magnetic field inside the original magnet?
Is it strong or weak? What direction does it point?

On the simulator, check the “See Inside Magnet” checkbox. Verify that your prediction about the strength and direction of
the field inside the magnet is correct. Complete the diagram of field lines on the previous page by drawing field lines inside
the magnet.

Magnetic dipoles are similar in many ways to electric dipoles, but there is a major

difference. On the diagram to the right, sketch a few electric field lines in the region
of the electric dipole. Look in particular at the region between the poles. What is the
major difference between the fields of the two dipoles? - 5‘1

Gauss’ Law for Magnetism

Electric field lines start on positive charges and end on negative charges. Because there are no magnetic monopoles,
magnetic field lines don’t start or end; instead, they form closed loops. Consider a closed Gaussian surface in a region of
space where there are magnetic field lines. What would you expect to be true about the flux of the magnetic field over this
surface? Explain.

In view of the above, write Gauss’ Law for magnetism:

Magnetic Field and Magnetic Force A

We have seen that there is a magnetic force between two parallel 3

current-carrying wires. This means that the first wire causes a $
magnetic field, and the second wire experiences a force due to Q
this field, and vice versa. We can examine the magnetic field of a N

i<
wire using a compass. If we did so, we would find that in a plane & !
perpendicular to the wire, the magnetic field lines would form éQ‘ !
circular loops around the wire. chQ ‘\
& -~ C
On the diagram, draw arrowheads on the field lines to show the Wire ompass

direction of the field indicated by the compass.




If we place a second wire in the magnetic field of the first wire,
carrying the same current in the same direction, we know that it will
experience a force toward the first wire. This means that the
magnetic force is perpendicular to the magnetic field as defined by
the compass direction, and it is also perpendicular to the current that
experiences the force.

To remember the relative directions of the current, the magnetic field
and the magnetic force, we have two right-hand rules:

#1: Force on a current or moving positive charge: With
your thumb in the direction of the current (or velocity

o_f positive charge), and your fingers in the direction of Right-Hand Rules
B, your palm will “push” in the direction of the force.

#2: Field of a current in a wire: With your thumb in the direction of the current, wrap your fingers around the wire.
This shows the direction of B in circular loops around the wire.

Note that Right-Hand Rule #1 applies to (positive) current or moving positive charge. Moving negative charge experiences a
force in the opposite direction; we can say that moving negative charge obeys Left-Hand Rule #1.

Magnitude of B

We have used the term “charge” in reference to the electric force, but it can be used more generally to refer to a property of
an object that makes it respond to a particular field; ie., electric charge is what responds to electric field. In this sense, what

is gravitational charge? Note that the “charge” that responds to a field is the same as the

“charge” that causes the field.

We have seen that the magnetic force occurs between charges only when they are in motion relative to an observer. Magnetic
charge, the property that causes and responds to a magnetic field, is the product of the charge ¢ on the particle and the speed

v at which it moves. However, the direction of the particle’s velocity must be perpendicular to the direction of B for it to
feel the maximum magnetic force. If it’s not, then the force is proportional to the component that is perpendicular to B. We

call this component v .

We determine the magnitude of B at a point in the same way we find the magnitude of other fields: Consider a “charge” at
that point, and divide the force felt by the “charge” by the magnitude of the “charge.” So the magnitude of B can be written:

B= i . What are the SI units of B? One of these is called a Tesla (T) after Nikola Tesla, an electrical
qv,

engineer and inventor. We can solve for F: F = Bgv | , so a charge of 1 C, moving at 1 m/s perpendicular to a 1 T magnetic

field will experience a 1 N force.

The equation above for the magnetic force involves three vector quantities (F , B, and ¥ ) and one scalar (q). Write the

equation for F using vector cross product notation so that Right-Hand Rule #1 is satisfied:

Of the three vectors in this equation, which pair(s) must be at right angles, and which pair(s) can be at arbitrary angles?

Since we often have to draw vectors in three dimensions on two-dimensional paper, we have a convention for drawing
vectors perpendicular to the page. We think of the vector as an arrow. “s” (the tip of the arrow) represents a vector coming
out of the page, and *“ X (the tail feathers of the arrow) represents a vector going into the page.
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Examples

1.

You are sitting in a room with a uniform magnetic field. You have your back to the back wall, and an electron beam,
moving horizontally from the back wall to the front wall, is deflected to your right. What is the direction of B ?

A uniform magnetic field B with magnitude 1.2 x 107° T points vertically upward in a room. A proton with a mass of
1.67 %1077 kg and an energy of 5.3 MeV moves horizontally from south to north past a certain point in the room. An

eV is an “elementary chargeevolt” and the elementary charge is 1.6 x 107" C. 1 MeV =106 eV
A) What is the energy of the proton in Joules?

B) What is the speed of the proton?

C) What is the magnitude of the magnetic force on the proton?

D) What is the direction of the force on the proton?

E) What is the acceleration of the proton?

The diagram to the right shows a particle with mass m and positive charge +g moving

- I [ ] [ ] [ ] [ ] [ ] [ ]
to the right with velocity v in a uniform magnetic field B directed out of the page. B
A) What is the magnitude and direction of the magnetic force F »» on the charge? e
[ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ]
+g0 ——>
[ ] [ ] [ ] [ ] m [ ] v [ ] [ ] [ ]
[ ] [ ] [ ] [ ] [ ] [ ] [ ]

This force will deflect the path of the particle, but since the magnetic force remains
perpendicular to v, the particle moves along a circular path at constant speed. e o o o o o o e

B) Determine the radius  of this circular path.

C) How does the radius of the path depend on

i) The magnitude of B? ii) The particle’s momentum?

iii) The particle’s kinetic energy?
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D)

E)

Instead, the particle moves so that its velocity is not perpendicular to B, but at an
angle O to the plane of the page as shown to the right in the side view.

F)

This path is called a %elix, a three-dimensional curve that wraps around a
cylinder. It can be described in terms of its axis, radius, and pitch. The axis and
radius correspond to those of the cylinder. The pitch is the distance between

Determine the period T of the particle’s circular motion.

14.7

How does the period depend on

i) The magnitude of B?

iii) The particle’s charge?

Sketch the path of the particle on the diagram.

successive wraps of the helix, measured parallel to the axis.

G) Describe the direction of the axis of the helical path with respect to the

H)

)

7

K)

direction of B.

ii) The particle’s mass?

iv) The radius of the path?

-

Determine the radius of the helical path.

Determine the period (the time to complete one wrap).

Determine the pitch of the helical path.

If the particle continues to move along a helical path, but the field gets stronger, how would that affect

i) the radius of the helix?

ii) the centripetal acceleration of the particle?

When charged particles accelerate, they radiate electromagnetic waves. The greater
the acceleration, the higher the energy they radiate. The sun emits charged particles
that travel to the earth and encounter its magnetic field as shown to the right.

L) Describe what happens to such a particle in the northern hemisphere.

Go to the web site and play the video clip “ISS Aurora.mp4” to see a view of this from space.

V2
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The figure to the right shows the tracks of two electrons (¢7)

and a positron (¢) in a bubble chamber emerging from a
collision at point P. A positron is identical to an electron, but
with a positive charge. There is a magnetic field filling the
chamber, perpendicular to the plane of the page. The tracks
are made as the particles interact with the supersaturated gas
to make bubbles.

A) Why are the tracks spirals and not circles?

B) Why do the two electrons make different tracks?

e e et
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C) What is the direction of the magnetic field?

(The Cyclotron) The diagram to the right shows two D-shaped

electrodes called “dees” with a potential difference /" between them.
The system is immersed in a uniform magnetic field B into the page.
A particle with mass m and charge +¢ is inserted with a small initial
speed v, near the center as shown. This device is called a cyclotron.

A) Determine the time it takes for the particle to complete the
semicircle in the right dee.

The particle is accelerated by the potential difference in the gap and

enters the left dee.

B) What is the energy it gains in the gap?

C) Is the time it takes to complete the semicircle in the left dee greater
than, less than, or the same as the time it took in the right dee?

Explain.

While the particle is in the left dee, the polarity of the potential difference is reversed. When the particle reaches the gap,
it is accelerated again. As long as the polarity of the potential is reversed with just the right frequency, this process

continues until the particle reaches the outer edge, gaining energy every time it crosses the gap.

D) If the radius of the dees is R, determine the maximum speed of the particle.

Assume the particle is a proton, with a mass m p = 1.67x107%7 kg and a charge 1.6 % 107°C . If the magnetic field is

0.1 T, the accelerating potential is 1,000 V, and the radius R is 5 m:

E) Determine the maximum speed of the proton
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F) Determine the energy of the proton in MeV.

G) Determine the number of times the proton crossed the gap.

H) Determine the frequency with which the polarity of the potential was reversed.

(The Velocity Selector) Consider again the particle with mass m and positive

charge +g moving perpendicular to the magnetic field B . ° B LA
A) What is the direction of the magnetic force?
+qOm =

A uniform electric field E is created in the same region by parallel charged

plates. . . . . . . . .
B) What direction should the electric field point so that there is no net force on

the moving charge? Sketch the field lines on

the diagram.
C) What is the magnitude of E if there is no net force on the moving charge?

A beam of charged particles with different masses, charges (both positive and negative), and speeds enters the region
above with B and E fields. Particles with mass m, charge +¢, and speed v experience no net force, so they move along

a straight line.
D) Describe what happens to the following particles:
i) Particles with mass m, speed v and charge —¢:

ii) Particles with mass m, speed v and positive charge greater than +¢:

iii) Particles with speed v and charge +¢ but mass greater than m:

iv) Particles with mass m and charge +q but speed greater than v:

E) Explain why this device is called a velocity selector.

F) The magnetic field is removed, but the electric field remains. Describe the path of the particle. Explain.
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unclear what particles were responsible for carrying the moving charge that
constituted current. Edwin Hall devised an experiment to determine the sign
of the charge carriers. Consider a wide, flat conductor carrying conventional | ‘ | |

(The Hall Effect) In 1879, electrons hadn’t been discovered, and it was |

[>Tt

current in the direction shown. Create a magnetic field perpendicular to the
conductor.
A) If the charge carriers are positive, are they traveling toward or away from 4

you in the diagram?

- w
B) Will the magnetic force push the positive charges foward X or toward Y A/,

in the diagram?

C) The potential difference between points X and Y is measured with a voltmeter. Which side, X or Y, will be at the

higher potential?

D) If the charge carriers are negative, are they traveling toward or away from you in the diagram?

E) Will the magnetic force push the negative charges toward X or toward Y in the diagram?

F) The potential difference between points X and Y is measured with a voltmeter. Which side, X or Y, will be at the

higher potential?

It was discovered that in fact, charge carriers in metal conductors are negative. Recall that the drift velocity of charge

carriers in a conductor is vy = —, where J is the current density, » is the number of charge-carriers per unit volume, and
ne

e is the elementary charge.

G) What is the magnitude of the magnetic force F 'z on the charge carriers in the conductor?

Charge carriers crowd to one side of the conductor, leaving the opposite side with the opposite charge, creating a
transverse electric field in the conductor. The force due to this electric field balances the magnetic force on the charge
carriers.

H) Determine the strength of the transverse electric field, called the “Hall electric field.”

I) Determine the potential difference between opposite sides X and Y of the conductor, called the “Hall potential.”




Magnetic Force on a Current

We have seen that the moving charges in current-carrying wire in a magnetic field

of as moving with the drift velocity v, .

- dl B
experience a force. Consider a wire of area 4 carrying a uniform current density J . The \‘H B
wire is in a uniform magnetic field B perpendicular to the wire as shown. A small A
segment of current of length d/ and charge dgq is highlighted. This segment can be thought
. . N . . J
A) What is the magnitude and direction of the force differential force dF on the o ARV
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current segment?

B) Ifn is the number of charge carriers per unit volume, and e is the elementary charge, what is the charge dg?
C) Express dF in terms of the current in the wire.
D) It is customary to define vector d/ whose magnitude is the same as d/ and whose direction is that of J. If dl is
not perpendicular to B, then (as with the moving charges) the magnetic force depends on the component that is. So
just as in the case of moving charges, write the above relationship as a vector cross product involving dl and B.
Examples
1. Abar magnet is held vertically and charges or current segments are held at or moved past a pole as shown below. For
each situation, state the direction (if any) of the force on the charge or current segment as none, left, right, up (toward
the top of the page), down (toward the bottom of the page), into (the page) or out (of the page).
- @ =) ®
A pogitive A positive A positive charge A segment Asegment | A segment carries
charge is hung |charge moves to | poves down | Carries current |.oococ on. up| current into the
by a thread the right left
y a threa g page
Direction:
2. There is a uniform magnetic field B pointing out of the page. You have abattery of [, o o o o o o o
emf € and a copper bar, mass density J and resistivity p. You are told to form a B
(] (] (] (] (] (] (] (]
wire out of the copper such that, when connected to the battery, the magnetic force on
it will equal its weight. . (‘1) e o o o o o ) .
A) On the diagram, show how the battery would be connected to send current
. . . . (] (] (] (] L (] (] [ ) ]
through the wire in the proper direction.
B) Find the dimensions of the wire in terms of the given quantities and constants, e o o o o o o o

assuming a constant cross sectional area.
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C) Check your expression in part B) for dimensional consistency.

Consider a wire bent into a semicircle of radius R, carrying a
current i clockwise as shown to the right in a magnetic field B —~
out of the page.

A) On the diagram, choose and label a short segment dl of

the the semicircular part of the wire. Choose and label
parameters that specify its exact size and location.

B) What is the direction of the differential force dF on this
segment due to the magnetic field?

C) In what direction will the net force on the entire semicircular part of the wire point? Explain.

D) Integrate with appropriate limits to find the magnitude of the net force on the semicircular part of the wire.

Throughout a region of space, there is a uniform magnetic field B. When a proton (g =

y
1.6x107"° C) moves with a speed v= 5X 10° m/s away from the origin along the line '__A
OA at 30° with respect to the x-axis (in the x-y plane), it is not deflected by the B field.
When a proton of the same speed moves on the x-axis in the +x direction, the magnetic '
field exerts a force of 2x107'% N on it, in the +z direction (out of the page). 300
A) i) What is the direction of the uniform field B ? Explain your reasoning. or X
Z

ii) Determine the magnitude of the uniform field B.

B) A uniform electric field E is to be added throughout space so that the proton moving on the x-axis is not deflected.
i)  What is the direction of this electric field? Explain your reasoning.
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ii) Determine the magnitude of the uniform electric field E.

C) A wire of length 1 m is bent at the midpoint at 90°, into the shape of an "L" and
placed half along the y-axis and half along the x-axis. What is the magnitude and y
direction of the magnetic force on this wire if it carries 6 A down (—y) and right (+x)?

Magnetic Flux

The flux of the magnetic field is defined as for any vector field. For a given surface, the flux is _[E e dA over that surface.

What are the ST units of magnetic flux? This unit is defined as the Weber (Wb) after Wilhelm

Weber, the inventor of the outdoor charcoal grill.

Examples

1. A rectangular loop of wire of length » and width « carries current i as shown
to the right. The loop is at an angle 6 to the x axis, and there is a uniform

oo

magnetic field B parallel to the z axis.
A) Calculate the magnetic flux through the loop.

B) Find the magnitude and direction of the torque about the y axis caused
by the magnetic force on the loop. z

T
i
/

‘ WS
C) Express the torque in terms of the area of the loop. ~

[ /]
5]

D) Imagine that the loop has arbitrary shape, but is in the plane of the
original rectangular loop. Would the relationship in part C) still hold?
Why or why not? View from above

z
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E) Does the torque on the loop tend to increase, decrease, or not change the magnetic flux through the loop? Explain.

F) Once the loop is in the x-y plane, do the forces on the parts of the loop tend to increase, decrease, or not change the
magnetic flux through the loop? Explain.

A quarter-circular arc of wire of radius 7 is carrying current i as shown to the right, in
a uniform magnetic field B in the positive x direction.

A) On the diagram, choose and label a short segment d/, and choose and label
parameters that will specify its exact size and position. B

B) What is the magnitude and direction of the differential force dF on this \ l
segment?

-
~

C) What is the magnitude of the differential torque d7 about the y axis due to this *
segment?

D) Integrate with appropriate limits to determine the magnitude of the torque T on the arc about the y axis. The

. .. . 2 1 cos260
trigonometric identity cos” 6 = 5 +

may prove useful.

E) Express the torque in terms of the area of the arc.
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Magnetic Dipole Moment

Recall that an electric dipole experiences a torque in an electric field. The electric

dipole moment p is a vector pointing from the negative to the positive charge, with w
2

magnitude gd, and we showed that the torque is given by 7= px E . 0

A) Using the result of Example 1 on the previous page, define the magnitude of d
the magnetic dipole moment [i of a current loop so that it obeys the -4 @//

corresponding equation 7 = fix B. Explain.

v

B) Define the direction of the magnetic dipole moment vector with respect to the magnetic field in the center of the
loop, so that the above definition is valid. Explain.

C) What are the SI units of magnetic dipole moment?

D) If the current loop has N turns instead of 1, how would you redefine the magnitude of the magnetic dipole moment?

E) Alength L of wire carries a current i. It is to be formed into a circular coil with N turns and placed with its dipole
moment perpendicular to a magnetic field with magnitude B.

)

ii)

F) The magnetic dipole moment of the earth has a numeric value of about 8§x1

Show that the maximum torque is obtained when N =1

Find the magnitude of the maximum torque.

0?2 in SI units. Assume that this is the

result of charge flowing in a circle of radius 3,500 km, in the earth’s molten outer core. Calculate the current
associated with this flowing charge.
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AP Physics C
Unit 14 Practice Test Name
Part I
Multiple Choice
For questions I - 3: A particle of charge +¢ and mass m is projected with velocity y

¥ parallel to the + x-axis into a uniform magnetic field B, which is directed in

the positive z-direction as shown to the right. The particle moves in a semicircle
of radius R.

1.

m
Which of the following best indicates the magnitude and the direction of the @ —
magnetic force F on the charge just after the charge enters the magnetic

RN
NN
NN
IR NN

field? +q
Magnitude Direction
2
A) —kQZ +y <
R
k 2
O OvB +z
D) OvB +y
E) OvB -y

If the magnetic field strength is increased, which of the following will be true about the radius R?

I Rincreases if the incident speed is held constant.
I  For R to remain constant, the incident speed must be increased.
Il For R to remain constant, the incident speed must be decreased.

A) Tonl B) T onl C) I onl D) Iand II only E) I and III only
y y y

Which of the following best indicates the magnitude and the direction of the electric field E that could be created so that
the charge continues in a straight line after it enters the magnetic field?

Magnitude Direction

ki
A) —% ty
R
k
B) —% -
R
O) vB +z
D) vB +y
E) vB -y

Two long parallel wires, separated by a distance d, carry equal currents i toward the top of the page, as

shown to the right. The magnetic field due to the wires at a point halfway between them is 4

A) zero in magnitude
B) directed into the page i A Al
C) directed out of the page
D) directed to the right

E) directed to the left
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5. The diagram below that best represents the magnetic field around a straight wire in which electrons are flowing to the
right is

X X X X X X X X * * * * * * * *
X X X X X X X X . . . . . . . .
lo— |l[o— |[o— J[o— |[ oe— |
. . . . X X X X . . . . X X X X
. . . . X X X X . . . . X X X X
A) B) 0 D) E)

6. In a mass spectrometer, the strength of the magnetic field is 0.1 Tesla. Upon entering the chamber of the spectrometer, a

positive ion traveling at 2.0x 10® meters per second perpendicular to the magnetic field experiences a magnetic force

having a magnitude of 3.2x 10~'* Newtons. The charge on this positive ion is

A) 64x10721 C
B) 1.6x107"°C
C) 64x107°C
D) 1.6x107° C
E) 1.6x1072'C

7. Two long, straight parallel wires are held fixed, as shown to the right. There is a known

i
X
current i, in wire X as shown, and wire X experiences a magnetic force of magnitude Wire X <
Fy toward wire Y. Which of the following could be true of wire ¥?
Wire Y
I Itcarries a current in the same direction as i .
IT It experiences a force directed away from wire X.
IIT It experiences a force of different magnitude than the force on wire X.
A) None B) Tonly C) 1l only D) I only E) TorIl

8. A uniform magnetic field B of magnitude 1.2 T passes through a rectangular B= 1.7 / /

loop of wire, which measures 0.10 m by 0.20 m. The field is oriented 30° with / / /
respect to the plane of the loop, as shown to the right. What is the magnetic /_
flux through the loop?

A) Zero

B) 0.012 Tem?
C) 0.02 Tom?2
D) 0.024 Tem?
E) 0.048 Tem?

9. Anpositively charged particle in a uniform magnetic field is moving in a circular path of radius » perpendicular to the
field. How much work does the magnetic force 7 do on the charge for half a revolution?

A) wr’F
B) 2mrF
C) nrF
D) 2rF

E) Zero



10.

11.

12.

13.

14.

15.

A loop of wire carrying a steady current i is initially at rest perpendicular to a uniform magnetic
field of magnitude B, as shown to the right. The loop is then rotated about the axis shown at a B
constant rate. The torque on the loop is maximum when the loop has rotated, with respect to its
initial position, through an angle of o o oo [e

A) 30°
B) 450 L] (] ® L . L]
C) 90° S
D) 180°
E) 360°

The figure to the right shows the paths of five particles as they pass through the
region inside the box that contains a uniform magnetic field B directed out of the B out of E
page. Which particle has a positive charge? the page D

e
ISR Y
oo}

The units of magnetic dipole moment are /‘\
A) Ampereemeter

B) Amperesmeter?

C) Ampere/meter

D) Ampere/meter?
E) Ampere

A cyclotron operates with a given magnetic field at a given frequency. If the radius of the cyclotron is R, the maximum
particle energy is proportional to

A) 1/R
B) R
C) R?
D) R3
E) R4

A charged particle is projected into a region of uniform, parallel £ and B fields. The force on the particle

A) is zero

B) is parallel to the field lines

C) is perpendicular to the field lines

D) is nonzero, but neither parallel nor perpendicular to the field lines

E) isnonzero, and can either be parallel or perpendicular to the field lines

An electron and a proton each travel with equal speeds around circular
orbits in the same uniform magnetic field, as shown to the right (not to
scale). The magnetic field is into the page. Because the electron is less

massive than the proton, and because the electron is negatively charged
and the proton is positively charged, B into @
A) the electron travels clockwise around the smaller circle and the the page

proton travels counterclockwise around the larger circle

B) the electron travels counterclockwise around the smaller circle and
the proton travels clockwise around the larger circle

C) the electron travels clockwise around the larger circle and the proton
travels counterclockwise around the smaller circle

D) the electron travels counterclockwise around the larger circle and the proton travels clockwise around the smaller
circle

E) the electron travels counterclockwise around the smaller circle and the proton travels counterclockwise around the
larger circle

VEIayrOerdgargirdordedsdLdovVevyaedtd’l



Show your work
Credit depends on the quality and clarity of your explanations

14.19

An ion of mass m and charge of known magnitude ¢ is observed to move in a straight line through a region of space in
which a uniform magnetic field B points out of the paper and a uniform electric field E points toward the top edge of

the paper, as shown in region I below, left. The particle travels into region II in which the same magnetic field is present,
but the electric field is zero. In region II the ion moves in a circular path of radius R as shown. (Neglect gravitational

forces.)

m, q
o—>

B.
R 3
region II

Py

region |

region II

A) Indicate and label on the diagram above, right, each of the forces on the ion at points P and P,.

B) Is the ion positively or negatively charged? Explain briefly the reasoning on which you base your conclusion.

C) Derive an expression for the ion's speed v at point P in terms of £ and B.

D) Starting with Newton's second law, derive an expression for the mass m of the ion in terms of B, E, ¢, and R.

E) Anion with the same mass but twice the charge enters region I with the same velocity. Is it possible to adjust the
magnitude of either or both fields so that the particle follows the same path? If so, show what adjustment would
work; if not, explain why not.



A wheel with six spokes is positioned perpendicular to a uniform magnetic field Bof
magnitude 0.5 T. The radius of the wheel is 0.2 meters. The field is directed into the
plane of the paper and is present over the entire region of the wheel as shown to the right.
When the switch S is closed, there is an initial current of 6 A between the axle and the
rim, and the wheel begins to rotate. The resistance of the spokes and the rim may be
neglected.

A) What is the direction of rotation of the wheel? Explain.
B) A short segment of one of the spokes of length dr is a distance » from the axle of the

0

14.20

wheel.
i) Interms of  and dr, express the differential torque d7 about the axle due to this segment.

ii) Determine by integration the initial torque on the wheel due to all the spokes.

iii) Is there a net force on the wheel due to the current in the spokes? Explain.

Current returns to the battery through a contact point called a brush. The current takes the shortest path from each
spoke along the rim to the brush. As the wheel begins to rotate,

i) 1is there a torque about the axle due to the current in the rim? Explain.

ii) is there a net force on the wheel due to the current in the rim? Explain.






15.1
AP Physics C
Unit 15 Name

Magnetic Field Due to Current

So far our study of the magnetic field has centered on the effect of an existing field B on a moving charge ¢V, and on a

current segment id/ . We now turn our attention to the cause of the magnetic P
field. The same things that feel the effects of magnetic fields are the things that I
cause them: moving charges and current segments. If
A
Consider an infinite line of positive charge density A. P is a point a distance R
from the line.
A) On the diagram to the right, choose a Gaussian surface that will allow
you to find the electric field at P due to the line of charge. Choose
parameters that will specify its location and size.

B) Use Gauss’ Law to find the magnitude of the electric field £ at P. Leave your expression in terms of €, not k.

Now imagine that the line of charge is moving with a speed v (which could be the drift velocity of the charge carriers), and
there is a point charge at P with charge +¢ moving at the same speed the other way. Due to length contraction it can be
2
o voo. . . .
shown that the charge density increases by the factor — in the frame of the moving charge, so it would see a charge density

2
of A| 1+—
2

C) Write the expression for the electric field £ in the moving charge’s frame, in terms of the original field £ :

D) Write the expression for the electric force F' the moving charge would feel due to this field:

In our frame, we would see the electric force E o4 and an “extra” force, which we would see as the magnetic force Bgv.

E) Equate the “extra” force to the magnetic force and solve for B plugging in the expression for E_ above:

The moving line of charge represents a current.

F) What is the current 7 due to the moving charge? (Hint: think of the units):

G) Express the magnetic field B in terms of the current:
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. 1 . Ak
Since g, = n , We can write as —.

T
800 c

H) In SI units, what is the numeric value of % (you shouldn’t need a calculator)?
c

. . . T
I) What are the SI units of iz ? Show that these units are equivalent to
c

. 1 4 .
We abbreviate the constant = sz and call it u .

SOC c

J)  Write the expression for the magnetic field of a long straight current i at a perpendicular distance  from the current,

using the constant u_: B = (Later we will see an easier way to derive this.) The

denominator should remind you that the field lines are circles around the wire.

Examples

1. Two parallel wires a distance d apart carry different currents in the same direction

as shown in the diagram. B :Q
A) What is the direction of the field B,, due to the bottom wire, at the location of > 2

the top wire? (Indicate its direction in the circle.) ‘ d

B) What is the direction of the force on the top wire due to its current and the

.
>

i2
field B,? B, Q

C) What is the direction of the field B, due to the top wire, at the location of the
bottom wire? (Indicate its direction in the circle.)

D) What is the direction of the force on the bottom wire due to its current and the field B,?

E) Write an expression for the magnitude of the magnetic field B, at the top wire: B, =

F) Consider a short segment idl of the top wire. What is the differential force dF on this segment?

dF =

G) Write an expression for the force per unit length on the top wire:

H) What is the force per unit length on the bottom wire? Explain.
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I) What changes (if anything) in each of the above if the direction of the current in the top wire is reversed?

A) E)

B) F)

Q) G)

D) H)

2. Shown to the right are cross-sectional views of two long straight wires that are
parallel to each other. One carries current i out of the page (@), and the other carries

©

an equal current { into the page (@).

A) Draw a vector on the diagram to show the direction of the magnetic field, if
any, at point P. Explain your reasoning.

B) A third wire, also carrying current 7 out of the page, passes through point P.
Draw a vector on the diagram to indicate the direction of the magnetic force, if
any, exerted on the wire at P. Explain your reasoning. ( .)

=

SIRRROL

C) The third wire is now moved to a location such that the magnetic field at point
P has zero magnitude. Determine its exact location and draw the wire on the
diagram. Explain your reasoning.

©

=

N
%
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15.4
The Biot-Savart Law
We would like to be able to determine the magnetic field due to any current-carrying wire, not just straight, infinitely long
ones. To do this, we need to break the wire up into short current segments id/ and see what contribution dB each segment
makes to the total field B.

Consider the current segment shown to the right, part of a long, straight wire
carrying current i. If this segment makes a contribution dB to the field at P, then

|
B= IdB must give the expression you derived above. We make the following a L~ If

“educated guesses” about what dB should look like:
1. dB should be directly proportional to the cause of the field, idl. )

2. dB should be directly proportional to sin6 , because the greatest
contribution happens when 6 =90°, and the contribution goes to zero as 8 goes to zero or 180°.

3. dB should be proportional to Lz , so that when we integrate, the total will be proportional to %
r

idlsin@

2
r

So our candidate for dBis: dB=K

where K is yet to be determined. We can integrate with respect to 0, where R is

constant.

A) Express /and r in terms of R and 6:

B) Express d/ in terms of R and 0:

C) Substitute the expressions for d/ and r and integrate dB with respect to 6, using appropriate limits:

D) To match the expression on the previous page, what must the constant K be?

We now have the tool we need to find the magnetic field of any wire. This is known as the Biot-Savart Law (after the French
physicists Jean-Baptiste Biot and Felix Savart — the t’s are silent, so it sounds like “Bio-Savar™.) The direction of each

contribution dB to the total field is given by Right-Hand Rule #2.

Examples
1. A finite wire of length L carries a current i as shown to the right. Point P is a distance L/2 P
from the center of the wire. T
~ L2
A) What is the direction of the magnetic field B at P due to the wire? i |
L

B) Modify the integration from the previous page to find the magnitude of B:




C) Use your result to find an expression for the magnetic field in the center of a square loop of side L
carrying a current i:
P e

A circular loop of wire of radius R carries current i as shown to the right.
A) On the diagram, choose and label segment id!.
B) What is the direction of the contribution dB to the total field at P, the center of the loop?

C) Write the expression for the magnitude of dB according to the Biot-Savart Law:

D) What is the value of the angle 8 ?

E) Integrate to find the magnitude of the magnetic field at the center of the loop.

F) Given a length L of wire, would you get a stronger field in the center by forming it into a circle or a square? Show
your reasoning.

Now consider point P a distance y from the center of the loop along the
axis of the loop. A segment d/ has been labeled on the diagram.

G) On the diagram, draw a vector dB representing the direction of the
contribution of this segment to the field at P by Right-Hand Rule #2.

H) Write the expression for the magnitude of dB according to the Biot-
Savart Law:

< —
Ad

dl
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I) What is the value of the angle 6 in the Biot-Savart Law?

J)  What is the direction of the net magnetic field B at P? Explain.

K) On the diagram, draw and label the component of dB that points in the direction of the net magnetic field.
L) Integrate to find the total field B at P due to the loop.

M) Show that your expression reduces to the expression in part E) when y = 0.

Ampere’s Law

Using the Biot-Savart Law we can determine the magnetic field due to any currents by summing the contributions dB from
small current segments id/. This is similar to finding the electric field E due to any charge distribution by summing the
contributions dE from small charges dg. If we have certain kinds of symmetry, Gauss’ Law provides a simpler way to find

E . We will see that, if the magnetic field has certain kinds of symmetry, there will be a simpler way to find B.

Recall from Unit 10 the definition of electric potential difference between two points 4 and B
in an electric field: Choose an arbitrary path from 4 to B and evaluate the integral

B -
AV = IA E«dr along the path. This type of integral is called a line integral. In Gauss’

Law we evaluate a surface integral.

Consider the diagram to the right showing a current out of the page, and some of the
magnetic field lines due to that current.

A) Write the expression for the magnitude of B at a distance R from the wire.

B=

B) Evaluate the line integral C_[)E «dr counterclockwise along a circular path of radius R.

The circle on the integral sign indicates that the path of the line integral is a closed loop.
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C) If you choose a circular path with a larger radius, would the line integral be greater, less, or the same as above?
Explain.

D) If you integrate along the same path clockwise, what is the value of the integral? Explain.

Consider the path shown to the right, consisting of circular arcs of various radii joined by
radial segments. We are going to integrate counterclockwise along this path.
E) When dr points along a radial segment, either inward or outward, what is the value of

jg’ «dr for that segment? Explain.

F) Let one of the arcs have radius R and subtend an angle 6. What is the length of that

segment?

G) What is the value of _[E-df for that segment?

H) What is the value of (JSE’ «dr for the entire closed loop?

Now consider the path shown to the right, which doesn’t “surround” the current.
I) What is the value of CﬁE- dr counterclockwise around this loop? Explain.

Finally, consider two arbitrarily-shaped loops 1 and 2 shown to the right. Loop 1 “surrounds”
the current, and loop 2 doesn’t. We can consider each loop to consist of infinitesimal arc-
shaped and radial sections.

J)  What is the value of CﬁE- dr when we integrate: v 2
counterclockwise around loop 1? clockwise around loop 1?
counterclockwise around loop 27 clockwise around loop 2?

We can summarize this discussion by stating Ampere’s Law: For any closed loop (called an Amperian loop, the counterpart

of a Gaussian surface), 951?- dr = p i, , where i is the net current through the loop. Since the direction of integration is

arbitrary, we choose to define the positive direction by a Right-Hand Rule similar to RHR #2: When you curl the fingers of
your right hand in the direction of integration, your thumb points in the direction of positive current. The quantity ¢1§ odr is

called the magnetic circulation.



Examples

1.

Four wires carry currents perpendicular to the page as shown to the right.
A) For the Amperian loop shown, what is i._, if the loop is integrated clockwise?

n’

Counterclockwise?

B) What is the value of the magnetic circulation around the loop, integrated

clockwise?

The drawing to the right shows a region of uniform magnetic
field B to the right above a pair of dotted lines, and another
region of uniform B field to the left below the lines. It is
unknown what is between the dotted lines.

A) Three Amperian loops are shown, each a square of side L.

For each of the loops, calculate the value of the magnetic

circulation @E’ «dr clockwise around the loop.

Loop 1:

Loop 2:

Loop 3:

B) What must exist between the dotted lines? Explain.

Counterclockwise?

15.8

A solid wire of radius R carries current density .J uniformly

distributed over the interior.

A) On the front view to the right, draw an Amperian loop of
radius ; <R.

B) Use Ampere’s Law to find the magnitude of B at points
inside (7, < R) the wire. State the direction in which you
integrate around the Amperian loop.

-
-
—J
-
-

side view

> —

front view

C) On the front view to the right, draw an Amperian loop of radius r, > R.

D) Use Ampere’s Law to find the magnitude of B at points outside (5 > R) the wire.
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E) On the set of axes to the right, sketch a graph of B vs. r, indicating B
significant points on the B axis.

R 2R r
Solid wire

A hollow pipe of radius R carries a total current i uniformly
distributed over its surface.
A) On the front view to the right, draw an Amperian loop of

radius r; <R. ‘l—
B) Use Ampere’s Law to find the magnitude of B at points D

inside (7, < R) the pipe.

side view front view

C) On the front view to the right, draw an Amperian loop of radius r, > R.

D) Use Ampere’s Law to find the magnitude of B at points outside (5 > R) the wire.

E) On the set of axes to the right, sketch a graph of B vs. r, indicating
significant points on the B axis. B
1 1
R 2R r
Hollow wire
The figure to the right shows a cross-section of an infinite
conducting sheet in the x-z plane with a current per unit length
A in the x-direction. The current is flowing in the positive z- ' 7
direction, and points P; and P, are a distance a above and @

below the sheet, respectively. Sections dx; and dxp of the

sheet are equidistant from points P, and P,
A) Based on the Biot-Savart Law, indicate and label the dxy dxg
contribution dE‘L to the magnetic field at points | and P, I

due to section dx; .

B) Indicate and label the contribution dER to the magnetic
field at points P, and P, due to section dxp.
C) Indicate and label the net magnetic field E’l and 5’2 at points P; and P,.

D) Draw an Amperian loop on the diagram that reflects the symmetry of the magnetic field and will enable you to find
the magnitude of the magnetic field E’l at Py.
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E) Use Ampere's Law and symmetry arguments to find the magnitudes of B1 and B,.

F) On the axes provided, sketch a graph of the magnitude
of the magnetic field above and below the sheet as a B
function of y. Let the direction of the field at point P,

be positive, and indicate significant values on the B

axis.
1 1 1 1
—2a —-a a 2a y
A second identical infinite conducting sheet is placed a p
distance a below point P,, with current per unit length A flowing in the IR

negative z-direction, as shown.
G) Use superposition and symmetry arguments to find the magnitude and

direction of the magnetic field BI .

KX K KKK KKK KKK K KKK KKK XXX

H) Use superposition and symmetry arguments to find the magnitude and direction of the magnetic field Ez .

In an idealized situation, a downward magnetic field B exists in the region where x < 0, but
drops abruptly to zero for x > 0. Consider the Amperian loop in the figure.

A) Integrate counterclockwise and evaluate Sﬁf? «dr for the loop. =

B) According to Ampere’s Law, what must be true of this loop?

This contradiction shows that magnetic fields don’t end abruptly like this.
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A solenoid is a long coil of wire wrapped in the shape of a
cylinder. In the figure to the right, the solenoid is split in half
showing current coming out of the page at the top and going
into the page at the bottom. Consider two of the loops of the
solenoid as shown below, right.

A) Indicate the direction of the magnetic field at points P,

and P, due to both loops.
B) How do the strengths of the fields at 7| and P, compare?
Explain.

An ideal solenoid is one whose length is large compared to R. In this case, the field
inside becomes highly uniform, and the field outside is comparatively negligible. Treat

the solenoid above as ideal, with » turns per unit length.

C) Choose an Amperian loop that reflects the symmetry of the field, and draw it on the

diagram above.

D) Apply Ampere's Law to find the field inside an ideal solenoid. You should

memorize this result.

A long hollow conducting cylinder of inner radius
a and outer radius b has a uniform current density

J distributed over its interior as shown to the

right.

A) Using Ampere's law, derive expressions for
the magnetic field intensity at distances r; and

1, from the axis of the cylinder, where

a<r <b<r,. Clearly show your Amperian

loops on the front view to the right.

. P]
. P2
b —
1 ¢
side view front view

B) On the axes to the right, sketch a graph of the magnitude
of the magnetic field of the hollow cylinder as a function
of r, the distance from the axis of the cylinder. Indicate
the values of the field at the specified values of r.

a b
Hollow cylinder

2b




0

D)

Consider a longitudinal cross section
of the cylinder as shown in the figure
on the left. On the top view, indicate
what the magnetic field looks like in
that region. Your sketch should
reflect the relative strength of the
field at different points of the
section.

Choose a differential area d4 for
which the magnitude of B is uniform.
Sketch dA4 on the top view diagram,

and choose and label parameters to identify the size and location of dA4.

15.12

side view

[

J

—_ e —

«—

top view

E) Derive an expression for the magnetic flux per unit length @ // through the section.

A plasma is an ionized gas which contains an equal number of positive
charges (ions) and negative charges (electrons). In a current-carrying
plasma, the former move in the same direction as the current, and the
latter move in the opposite direction. The diagram to the right
represents a plasma in the form of a long cylinder of radius R carrying

an initially uniform current density J .

A) On the figure below, draw vectors representing the forces on a
positive ion of charge ¢ and an electron of charge —¢ at the edge of

the plasma, assuming that their velocities are v.

B) By using Ampere's Law, derive an expression for the magnitude of

the magnetic field at the edge of the plasma.

C) Calculate the force on the ion in terms of the given variables and

constants.

D) Describe qualitatively what happens to the plasma. Explain why it is called the “pinch effect.”
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15.13
AP Physics C
Unit 15 Practice Test Name

Part I
Multiple Choice

1. Two long, parallel wires, fixed in space, carry currents /| and i,. The force of attraction has magnitude /. What currents
will give an attractive force of magnitude 4F?

A) 2i, and (1/2)i,

B) i, and (1/4)i,

C) (1/2)i; and (1/2)i,
D) 2i, and 2i,

E) 4i, and 4i,

2. Two identical parallel conducting rings have a common axis and are separated by a —a —
distance a, as shown to the right. The two rings each carry a current 7, but in opposite
directions. At point P, the center of the ring on the left, the magnetic field due to these
currents is
i
A) zero
B) in the plane perpendicular to the x-axis
C) directed in the negative x-direction X
D) directed in the positive x-direction i
E) none of the above

3. The magnetic field at the center of a solenoid can be calculated using

I The Biot-Savart Law
I Ampere's Law
III Coulomb's Law

A) Tonly B) II only C) III only D) Iand I E) Il and III
4. Atpoint P, a distance R from a long, thin, straight wire carrying current i as i
shown to the right o ~r—— )
. . . i R
A) the magnetic field is proportional to 2
- e

B) the magnetic field is proportional to Lz
R

C) the magnetic field is proportional to iR
D) the electric potential is proportional to iR
E) the electric field is proportional to iR?

5. If the magnetic field B is uniform over the area bounded by a square with edge a, the net current through the square is
A) 0
B) 4Balu,
C) Bd%lu,
D) Balu,
E) Blu,
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Two very long parallel wires carry equal currents in the same direction into the
page, as shown to the right. At point P, which is equidistant from each wire, the P
magnetic field is

A) zero

B) directed into the page

C) directed out of the page

D) directed to the left ® Wire Wire ®
E) directed to the right

A hollow copper pipe carries current i parallel to the axis of the pipe. The magnetic field due to the current is

I radially outward outside the pipe
I zero inside the pipe
IIT circular inside the pipe

A) Tonly B) Il only C) III only D) Iand II E) Il and 111
A wire carries current i toward the top of the page as shown to the right, in a region where a A = I X
uniform magnetic field B points into the page. The net magnetic field is due to the uniform field B

and the field of the wire. As a result, the wire will experience

A) a force directed toward the region of stronger net magnetic field
B) a force directed toward the region of weaker net magnetic field y % y y
C) a force in the direction of the uniform magnetic field
D) a force in the direction opposite the uniform magnetic field x . x x
E) anettorque

A straight conductor carrying a current  is split into identical semicircular turns of

radius R as shown to the right. The magnetic field at the center of the circular loop .
so formed is i
A) uyil2R

B) uyil4R

C) uoilR

D) 2uyilR

E) zero

—R —

For questions 10 - 12: Consider Ampere’s Law: qSE- dr =i,

10.

11.

12.

The integration must be over any

A) surface

B) closed surface
C) path

D) closed path

E) closed path that surrounds all the current producing B
The symbol dr is

A) An infinitesimal piece of the wire that carries current i
B) in the direction of B

C) perpendicular to B

D) a vector whose magnitude is the length of the wire that carries i
E) none of these

The direction of the integration

A) must be clockwise

B) must be counterclockwise

C) must be such as to follow the magnetic field lines
D) must be along the wire in the direction of the current
E) none of these
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13. Along, straight cylindrical conducting shell carries current i parallel to its axis and uniformly distributed over its cross
section. The magnitude of the magnetic field is greatest

A) at the inner surface of the shell

B) at the outer surface of the shell

C) inside the shell at the center

D) outside from the shell far from the shell
E) none of these

14. Solenoid 2 has twice the radius and six times the number of turns per unit length as solenoid 1. The ratio of the magnetic
field in the interior of solenoid 2 to that of solenoid 1 is

A) 2:1
B) 4:1
C) 6:1
D) 1:1
E) 13

A

Y

>
>-

15. A long straight wire carries a current to the right as shown above. A rectangular loop of wire is above the long wire, and
also has a current flowing counterclockwise as shown. Which of the following statements is true?

A) The net magnetic force on the loop is upward, and there is also a net torque on the loop.
B) The net magnetic force on the loop is zero, and the net torque on the loop is zero.

C) The net magnetic force on the loop is downward, and there is also a net torque on the loop.
D) The net magnetic force on the loop is zero, but there is a net torque on the loop.

E) The net magnetic force on the loop is downward, and the net torque on the loop is zero.

HCIOPl €1 4T 11 d0old6d8dLd9VEVYaAecdTal
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Part II
Show your work
Credit depends on the quality and clarity of your explanations

A toroid is a solenoid bent into the shape of a doughnut. A rectangular
toroid is a toroid with a rectangular cross section rather than a circular cross
section. Consider the rectangular toroid with inner radius a, outer radius b,
and height / as shown in the drawings to the right. The toroid has N turns of
wire carrying a current 7 as shown. As with the ideal solenoid, the magnetic
field is entirely confined to the interior of the toroid.

A) In each drawing, sketch the magnetic field lines within the toroid.

B) Use Ampere’s Law to find an expression for the strength of the magnetic
field inside the toroid at a distance » from the center.

C) Explain how this expression is related to the expression for the magnetic
field of an ideal (straight) solenoid, assuming that a and b are almost
equal.

D) Find the magnetic flux through a rectangular cross section of the toroid.
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P

/)

Cross-sectional View
(current into the page)

2. Asection of a long conducting cylinder with inner radius @ and outer radius b carries a current i  that has a uniform

current density, as shown in the figure above.

A) Using Ampere’s law, derive an expression for the magnitude of the magnetic field in the following regions as a
function of the distance r from the central axis.

i) r<a
i) a<r<b
iii) r=2b

B) On the cross-sectional view in the diagram above, indicate the direction of the field at point P, which is at a distance
r = 2b from the axis of the cylinder.

C) An electron is at rest at point P. Describe any electromagnetic forces acting on the electron. Justify your answer.

(continued on next page)
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Now consider a long, solid conducting cylinder of radius b carrying a current i . The magnitude of the magnetic field

i . . . .
'uo—"z . An experiment is conducted using a particular solid
2rth

cylinder of radius 0.010 m carrying a current of 25 A. The magnetic field inside the cylinder is measured as a function of
r, and the data is tabulated below.

inside this cylinder as a function of r is given by B =

Distance r (m) 0.002 0.004 0.006 0.008 0.010

Magnetic Field B(T) | 12x10™ [2.7x10™* [3.6x10™* [4.7x107* |64x107

D) i) On the graph below, plot the data points for the magnetic field B as a function of the distance r, and label the
scale on both axes. Draw a straight line that best represents the data.

ii) Use the slope of your line to estimate a value of the permeability 1 .



AP Physics C
Unit 16 Name

16.1

Motional Emf

The emf supplied by a battery in a circuit comes from a conversion of chemical energy to electrical

energy. It is also possible to convert mechanical energy into electrical energy. Imagine moving a wire

of length L through a magnetic field B at a speed v such that both the wire and the velocity are

perpendicular to B and to each other as shown to the right. One of the free electrons in the wire is
shown.

A) What is the direction of the magnetic force on this electron?

X

The free electrons in the wire will move in response to this force, causing an electric field within the wire.

B) What is the direction of this electric field?

X 1= X X

X X X

X [ P—— x
v

X X X

x 11U x X

The electrons rapidly come to equilibrium where the magnetic force is balanced by the force due to the electric field.

C) What is the magnitude of the electric field once equilibrium is established?

D) What is the potential difference between the ends of the wire once this electric field is established? Explain.

This potential difference is called motional emf. We can cause this potential difference to generate
a current by connecting it to a complete circuit. For example, we can set up two conducting rails
as shown to the right, a distance L apart, and connect the two rails together with a resistor. Ignore
the resistance of the wire and rails.
E) What is the current through the resistor? Indicate its direction on the drawing and explain
why it goes in this direction.

X X
><§R X
X X

F) What is the magnitude of the magnetic force on the wire due to this current? Indicate its direction on the drawing

and explain why the force is in this direction.

G) What is the mechanical power required to keep the wire moving at this speed?

H) What is the rate at which energy is being dissipated in the resistor?

I) Explain the connection between your answers to parts G) and H).

We can think of this system as a generator, which converts mechanical energy into electrical energy.
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Faraday’s Law of Induction and Lenz’s Law

We say that the emf in the circuit on the previous page is induced (caused) by the motion of the wire

through the magnetic field. There is another, more general way to see how emf can be induced. The '+ « «
diagram to the right shows the wire moving along the rails. At the moment shown, the wire is a B
distance x from the left end of the rails. x x x x
A) At this moment, what is the magnetic flux @, through the area bounded by the circuit?
x§ R x —x—)v X I
X X X X

We choose the direction info the page as positive, so this flux is positive.

. d®p
B) What is the rate of change of the flux ?

C) How does this relate to the emf caused by the moving wire?

D) Is this rate positive or negative according to our choice of sign?

The induced current causes its own magnetic field.
E) Within the area bounded by the circuit, what is the direction of the magnetic field due to the induced current?
Explain.

F) Is the flux due to this induced magnetic field positive or negative given our choice of sign?

We now move the wire at the same speed, but in the opposite direction, toward the resistor.

G) Is the rate of change of flux within the circuit positive or negative?

H) What is the direction of the current through the resistor?

I) What is the direction of the induced magnetic field within the area bounded by the circuit?

J) Is the flux due to this induced magnetic field positive or negative given our choice of sign?

K) In parts D) and F), and parts G) and J), how are the signs of the induced flux and the rate of change of flux related?

In this example, we are changing the flux by changing the area. In general, what other ways could we change the flux of the
magnetic field through a loop of wire?
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Michael Faraday found that no matter how we change the flux, there will be an induced emf equal to the rate of change of
flux, and that this induced emf will oppose the change that caused it. This is known as Faraday's Law of Induction:

_d%g

dt
The negative sign indicates that the emf opposes the change in flux, and this aspect of Faraday’s Law is known as Lenz s Law
after Heinrich Lenz, a Russian physicist.

Examples

1. Two conducting loops are arranged along a common axis as shown to the right. An
observer sights along the axis from the left. If a clockwise current is increasing in the

larger loop, what is the direction of the induced current in the smaller loop? Explain
using Lenz’s Law. éll B S | U | | O
2. Coils X and Y are wound around wooden dowels. Determine Y y
the direction of the induced current (left-to-right or right-to-left)
in coil Y in the following cases, and explain using Lenz’s Law: Jay N N Jay N
A) Coil Y is moved toward coil X. 0 / / Z ) Q / / )
A\ A\ I A\

B) The current in coil X is decreased.

3. The permanent magnet shown to the right is moved along the axis of a circular loop, away from the
loop.
A) What is the direction of the induced current in the loop, as viewed from above? Explain using N
Lenz’s Law. T
v

-

B) If, instead, the magnet is held stationary, but the diameter of the circular loop is steadily increased, what is the
direction of the induced current in the loop, as viewed from above? Explain using Lenz’s Law.
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A circular loop moves with constant velocity through
regions where uniform magnetic fields of the same
magnitude are directed out of (on the left) and into (on the
right) the page, as indicated in the diagram.
A) For each numbered position of the loop, determine
whether the induced current is clockwise (cw),
counterclockwise (ccw), or zero (0).

oJc¢

16.4

) O OO

1:

2:

3:

4.

5:

6:

7:

B) For those numbered positions where the induced current is nonzero, explain your choice of direction using Lenz’s

Law.

C) Rank the magnitudes of the induced currents where they are nonzero, and explain using Faraday’s Law of Induction.

The diagram to the right shows the system from page 16.1. The wire has mass m, and it is

given an initial speed v, to the right and released. Neglect friction and gravitational forces.

A) Using Newton’s second law, write a differential equation in v whose solution gives the
speed of the rod as a function of time. Be careful of signs.

X X
><§R X
X X

B) Integrate the differential equation to obtain the speed of the rod as a function of time.

C) Determine the rate at which heat is dissipated by the resistor R as a function of time.

D) Show that the total energy dissipated by the resistor is equal to the initial kinetic energy of the rod.
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A circular loop of wire of area 4 and resistance R is placed in a spatially uniform magnetic
field B directed into the page and perpendicular to the plane of the loop as shown to the
right. The magnetic field is gradually reduced from an initial value of B, in such a way

that the magnetic field strength as a function of time is B(¢) = Boe_w .

A) Indicate on the diagram the direction of the induced current. Explain your choice
using Lenz’s Law.

B) Determine an expression for the current induced in the loop as a function of time.

C) Determine an expression in terms of B , 4 and R that describes the total quantity of charge that flows past a point in
the loop during the time the magnetic field is reduced from B, to zero.

D) Show that your answer to part C) is true regardless of how the magnetic field B depends on time.

E) Determine an expression for the amount of energy dissipated as heat in the loop during the time the magnetic field is
reduced from B, to zero, in terms of B, 4, R and o .




As shown to the right, a rectangular loop is located next to a long straight

-
~
4

wire carrying a current which varies with time as i=i_, sin(wt) . The

wire and the loop are in the plane of the page and fixed in space. The
current in the long wire is in the direction shown in the diagram from ¢ =0
tot=m/w.

A) On the diagram, draw a differential area dA4 in the loop for which the

— +— < —

magnetic field of the wire is constant. Indicate parameters that specify >

its size and position.

B) Find the magnetic flux @, through the loop at time ¢ in terms of @, b, L, i ., @, ¢, and constants.

C) Indicate on the diagram the direction of the resulting current that is induced in the loop at time t=7/® .

D) Determine the magnitude of the emf that is induced in the loop at time =7 /@ in terms of the above variables.

The long solenoid shown to the right
has 1800 turns per meter and carries
current i. At its center is placed a
single circular loop of wire of radius
r=2.0 cm and resistance R =5 Q.

A) Determine the magnetic flux
through the one-turn circular loop
in terms of 7.

(U, =4 x107" Tm/A ).

Side view End view

B) If the current in the solenoid is reduced at a steady rate of 0.5 A/s, what is the induced emf in the loop?

C) What is the induced current in the loop?
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D) The solenoid current is clockwise as viewed from the left end of the solenoid as shown in the end view. In this view,

what is the direction of the magnetic field of the solenoid?

E) According to Lenz’s Law, what is the direction of the induced magnetic field in the one-turn loop? Explain.

F) Is the induced current in the one-turn loop clockwise or counterclockwise?

The solenoid current falls to zero and then reverses direction, now increasing at the same rate of 0.5 A/s.
G) What is the induced current in the loop?

H) What is the direction of the induced current in the loop? Explain using Lenz’s Law.

The one-turn loop is now replaced with a 5-turn loop, made of the same wire and with the same radius ». The solenoid
current is varied as above.

I) What is the resistance of the 5-turn loop?

J) What is the emf induced in the 5-turn loop? Explain in terms of the induced emf in each turn of the loop.

K) What is the induced current in the 5-turn loop?

The solenoid current is now varied with time as i(¢) = (l A)sm( TEE j . This is called alternating current, since the
$

direction of the current changes periodically.
L) Determine the magnitude of the induced current in the 5-turn loop as a function of time.

M) How does the frequency of the alternating current in the 5-turn loop compare to the frequency of the solenoid

current?

N) How does the phase of the alternating current in the 5-turn loop compare to the phase of the solenoid current?

This system is known as a transformer. For a given sinusoidal emf in the solenoid (called the primary coil), a sinusoidal
emf will be generated in the loop (called the secondary coil) with the same frequency, but a different emf, depending on
the number of turns in the secondary coil. For example, your laptop charger has a transformer that converts the 110 V in
an outlet to about 18 V.
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16.8
Induced Electric Fields

Consider again the solenoid with a one-turn loop as in example 8 on page 16.6.
A) How does your answer to part B) of example 8 (the induced emf) depend on

i) the radius of the loop?

ii) the resistance of the loop?

The solenoid current changes at a constant rate so that there is a steady clockwise current End view
induced in the loop. For current to flow in the loop there must be an electric field pushing the
charges. This is called the induced electric field.
B) On the end view above, draw an electric field line in the loop to show its direction.
C) What is the magnitude of the electric field responsible for the induced current?

D) How does the magnitude of the induced electric field depend on

i) the radius of the loop?

ii) the resistance of the loop?

E) If the loop were replaced by a loop with infinite resistance, how would that affect the induced electric field?

F) [If the loop were replaced by empty space, how would that affect the induced electric field?

G) The diagram to the right shows the solenoid with the loop removed. A circular path of

radius » =2 cm is shown. Consider the path integral SBE «ds evaluated around this

circular path. What is the value of this path integral?

H) How is the value of this path integral related to the rate of change of magnetic flux within the path?

This relationship is true in general, for any closed path in a changing magnetic field. Using the path integral notation, write a
generalized expression for Faraday’s Law of induction:
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Inductance

Now consider the general case of a solenoid of radius R, number of turns per unit length n. The

. . di . . .
solenoid current changes at an arbitrary rate 7 The diagram to the right shows the solenoid

with two circular paths drawn. The inner path has a radius 7; < R, and the outer one has a radius

rn>R.

A) What is the induced emf around the inner loop?

B) What is the magnitude of the induced electric field around the inner loop?

C) What is the induced emf around the outer loop?

D) What is the magnitude of the induced electric field around the outer loop?

E) Determine the values of £ at distances of R and 2R.

F) On the axes to the right, sketch a graph of the magnitude of T f f
the induced electric field as a function of 7, the distance from R 2R r
the center of the solenoid.

Note that there are two contributions to the net electric field at R, within the wire of the solenoid. One is the electric field
responsible for the solenoid current i, which is provided by some external emf, and the other is the induced electric field due
to the changing flux.

G) Given the table below, determine the direction of the induced electric field (cw, ccw, or 0) in each case, by applying

Lenz’s Law:
i cw cw cw ccw CCW CCW 0 0 0
. . in- in-
] de- in- de- in- . .
l . constant . . constant . creasing | constant | creasing
creasing creasing | creasing creasing
cw ccw
Induced £

H) The induced electric field causes an induced emf in each turn of the solenoid. Make a general statement about how
the induced emf affects the solenoid current.

The induced emf is often called the “back emf” for this reason.

I) If the length of the solenoid is /, how many turns are there?
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J) Express the total induced emf in the solenoid in terms of di :

The proportionality constant in part J) involves the structure of the solenoid. We call this constant the inductance of the
solenoid, symbolized by L.

K) What are the SI units of inductance?

This unit is called the Henry (H) after the American physicist Joseph Henry. (The good news: This is your last unit!)
In general, a system where a change in current results in an emf is called an inductor. The inductance of an inductor is
similar in many ways to the capacitance of a capacitor. The voltage across a capacitor V- is proportional to the charge g on

its plates, and the voltage (emf) of an inductor €, is proportional to the rate of change of current di/dt through it. Capacitors

store energy in the electric field, and inductors store energy in the magnetic field.

Calculating Inductance

The example of the solenoid can show us how to calculate the inductance of any inductor. Show that for a solenoid, the
(Number oftums)(Flux per tum) N,

inductance is given by: L=
(Current) I

Example ¢

Alength / of coaxial cable consists of a wire of radius a inside a

concentric conducting shield of radius b, as shown to the right. Current ] al (I

i flows in opposite directions in the wire and the shield.

A) Use Ampere’s Law to find the magnitude of the magnetic field
between the wire and the shield. Draw your Amperian loop on the
end view to the right.

Side view ‘ End view

B) Calculate the magnetic flux through the space between the wire and the shield (a rectangle of area ¢ (b — a)). Draw
the differential area d4 on the side view, showing parameters that specify its size and location.

C) Calculate the inductance per unit length of the coaxial cable.
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Inductors and LR Circuits

As with capacitors, when we wish to study the behavior of inductors in a circuit, we care AN

only about the inductance L, not about the geometry of the inductor. The symbol for an R

inductor in a circuit looks like a coil, as shown in the circuit to the right, which is called a

simple LR circuit for obvious reasons. When the switch S'is closed, the emf tries to send —1

current clockwise around the circuit, but the inductor L tries to oppose that change with an -—E L §
emf £, = —Lﬂ of its own in the other direction. S

A) Apply the loop theorem to the circuit to find an equation relating the three circuit elements once the switch is closed.
Your equation should be a differential equation in i.

B) Separate variables and integrate the differential equation to find an expression for the current in the LR circuit as a
function of time.

C) What is the “inductive time constant” 7, for the LR circuit? Show that this quantity has units of time.

D) By analogy with the capacitor, how does an inductor behave “initially” and “after a long time?”
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E) On the axes to the right, sketch a graph of the current in the LR circuit as
a function of time. Indicate significant point on the i axis.

F) Multiply each term in the differential equation from part A) by i. List i
each term separately, and describe what each term represents.

G) One of the terms above involves the inductance L. Use this term to find by direct integration the total energy U,

stored in the inductor when it carries a current i.

Example
When the switch S in the circuit shown to the right is closed, an inductance L is in series AN
with a resistance R and a battery of emf €. R
A) Determine the current i, in the circuit after the switch S has been closed for a very
long time. Explain your reasoning. - L g
S
After being closed for a long time, the switch S is opened at time # = 0. The questions VW

that follow pertain to the time after this (¢ > 0).
B) Determine the current i, in the circuit after the switch has been opened for a very

long time. Explain your reasoning.

C) On the axes to the right, sketch a graph of the current as a function of
time ¢ and indicate the values of the currents i; and i, on the vertical

axis.

D) By relating potential differences and emf’s around the circuit, write a
differential equation that can be used to determine the current as a
function of time.

E) Integrate to determine the equation for the current as a function of time for ¢ > 0.
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Magnetic Energy Density

When we studied parallel plate capacitors, we divided the energy stored in the capacitor [U c= %éQZJ by the volume

. . 1
between the plates to find the electric energy density u, = EEOE 2,

This is a general result for any electric field, whether or not it is between two capacitor plates. In a similar way we can find
the energy density associated with a magnetic field. Our tool is the solenoid instead of the capacitor.

On page 16.10 you found the inductance of a solenoid of radius R, length ¢ and number of turns per unit length ».

A) If the solenoid current is i, how much energy U, is stored in the solenoid?

B) Divide the above expression by the volume of the solenoid to find the energy density uy in terms of B.

Examples

1. Consider the coaxial cable from page 16.10. You used Ampere’s Law to find an /
expression for the magnetic field in the space between the wire and the shield.

A) Use the expression above for energy density to find the energy density as a b
function of » between the wire and the shield. al (I

B) Consider a volume element dV consisting of a cylindrical shell of radius »
(a <r < b), thickness dr, and length /. What is the differential energy dUp r I

contained in this volume element?

dr

C) Integrate to find the total energy per unit length stored in the cable between the wire and the shield (neglect the
energy stored in the wire itself).

D) Calculate the inductance per unit length of the cable, and compare your result to your answer from page 16.10.
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16.14

A long cylindrical wire of radius R carries a current / uniformly distributed

over the cross section of the wire.

A) Using Ampere’s Law, derive an expression for the magnitude of the
magnetic field B inside the wire at a distance 7 from the axis of the wire.
Draw your Amperian loop on the diagram to the right.

B) Find the magnetic flux @, through the rectangular surface shown, with length x and width R. Draw your d4 on the

diagram, and label its parameters.

C) Find the inductance per unit length of the wire. (Hint: How many “turns” are there?)

D) Find the magnetic energy density uy at a distance r from the axis of the wire.

E) Consider a cylindrical shell of radius » < R, length x, and thickness dr. Find the differential energy dU stored in the
shell.

F) Integrate to find the total energy per unit length stored in the wire.

G) Use the expression for the energy stored in an inductor to find the inductance per unit length of the wire, and
compare with part C).
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16.15
LC Circuits

When an ideal mass-spring system oscillates, a fixed total energy is exchanged between kinetic
energy in the mass and elastic potential energy in the spring. The electrical analogue of this is k
an LC circuit, consisting of an inductor and a capacitor. The capacitor behaves much like the m

spring, storing potential energy, and the inductor behaves like the mass, providing “inertia” by I
resisting changes in current. If there is no loss due to resistance, the total energy U, ~ of an LC

circuit is partly in the inductor and partly in the capacitor. Imagine that at a certain instant the
capacitor has a charge ¢ and a current i flows in the circuit.

A) Write the expression for U; ~ at this instant: c ___ L

dUu
B) Take the time derivative to find % :

. . dULC
C) If there is no loss of energy, what is " ?
. . . L . d*x .
D) Write a second-order differential equation in ¢, similar to ——=——ux for the mass-spring system:
dt m
, >k , e k o .
The solution of — =X from Simple Harmonic Motion is: x = x, cos(w?+¢) where @ =,|— . The period in SHM is
dt m m
. 2 . 1 1 [k
givenby T = o 271'\/2, and the frequency is f=—=—,/—.
W k T 2n\m

E) Write the corresponding solution of the LC equation, and find the period and frequency of the LC circuit:

q= where

T= and f'=

Maxwell’s Equations

The four equations that we have developed this semester are . - -
together called Maxwell s Equations, summarized to the right.  |1.  Gauss’ Law for Electricity 8095 EedA=gq;,

There is a more general form of Ampere’s Law which you’ll 2. Gauss’ Law for Magnetism @E’ *dd=0
learn if you take another course in E & M. You might guess _
® 3. Ampere’s Law 95B ods = i
that it contains the expression £ | 5o that it’s more or less o
) : - —_ B
symmetric with Faraday’s Law. 4. Faraday’s Law of Induction @E ods = i

Maxwell’s Equations form the basis for a complete theory of Electromagnetism the way Newton’s laws form a basis for
classical mechanics.
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AP Physics C
Unit 16 Practice Test Name

Part I
Multiple Choice

A magnetic field perpendicular to the plane of a wire loop is uniform in space but changes withtime fin o . ¢ o o
the region of the loop. If the induced emf in the loop increases linearly with time #, then the magnitude

of the magnetic field must be proportional to ¢ ¢
A) t3 [ ] [ ]
B) 2 . D) . .
C) t

D) 4 (i.e., constant)

For questions 2 - 4: A circuit consists of a resistor R, an inductor L, and an open switch S connected in series with a battery.
The switch is then closed at time ¢ = 0.

2.

If the current in the circuit is 7 at time ¢, what energy is stored in the circuit in addition to that stored in the battery?
A) Li

B) i’R
1,2

C) ELZ

D) Li+i’R

E) %Liz +*R

Which of the following quantities could be represented as a function of time by the graph
shown to the right?

I.  The potential difference across the resistor
II. The potential difference across the inductor -
III. The current in the circuit 0 !

A) Tonly B) II only C) L 1I, and IIT D) II and IIT only E) T and III only

The change in current when the switch is closed is determined by the inductive time constant 7, . If the inductance is

doubled and the resistance is halved, the new inductive time constant is

1

A) il
B !

) 7T
) 1,
D) 27,
E) 4r,
A strong bar magnet is held very close to a solenoid as shown in the a A
diagram. As the magnet is moved away from the solenoid at constant N S
speed, what is the direction of conventional current through the resistor
shown, and what is the direction of the force on the magnet because of Vi
the induced current? ‘T

Current through resistor Force on magnet R

A) From 4 to B To the left A B
B) From B to 4 To the left
O From 4 to B To the right
D) From B to 4 To the right

E) No current To the right
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6. The circuit shown to the right has been operating for a long time with switch S A

B S
closed. The instant after the switch is opened, what is the inductive emf €, of \(mme
L=25H @

the inductor, and which side of the inductor is at the higher potential? >

12
|
1|
40
AVAVAVAY:

Inductive emf  Higher potential I I
A) 30V (equal) w
B) 12V A
O 12V B
D) 6V A
E) 6V B

R=80Q
A%

R

7. A magnetic field is directed into the page in the right side of the circuit shown to the
right. The magnetic field is weakening, which induces a constant emf of magnitude €

X X

around that side of the circuit. A battery of emf € is connected only at its positive
terminal as shown. The potential difference between points 4 and B is € o =

A) ‘e

X

oM
S
o

M W= W Wk
™

D)
E) 0

For questions 8 and 9: A wire moves upward through a magnetic field so that an emf is induced
between its ends. The signs of the induced charges are shown. v .

8. The magnitude of the induced emf is

I. Directly proportional to the strength of the magnetic field
II. Directly proportional to the velocity of the wire
III. Directly proportional to the diameter of the wire

A) Tonly B) II only C) L 1I, and III D) II and III only E) T and II only
9. The direction of the magnetic field could be

A) into the page

B) out of the page

C) towards the bottom of the page
D) towards the top of the page

E) towards the right

10. A solenoid is constructed with N turns wrapped around a core of radius R and length ¢. If the current through the
solenoid is cut in half, the inductance of the solenoid is

A) unchanged
B) quartered
C) halved

D) doubled

E) quadrupled

11. The numeric value of the quantity /& is 1207z. The unit of this quantity is
&
o

A) Farads
B) Joules
C) Volts
D) Ohms
E) Henrys



12. For the LR circuit shown to the right, which of the following changes would double the MWWV
initial voltage across the inductor (at the instant the switch is closed)?

13.

14.

15.

I. Reduce the resistance to R/2 —1 I3
II. Double the inductance of the inductor to 2L
III. Add a second identical inductor to the circuit in parallel with the first S

A) Tonly
B) M only
C) I only

D) Iand Il together
E) none of these

A square loop is placed in a uniform magnetic field perpendicular to the plane of the loop as shown to 2
the right. The loop is 0.5 m on a side, and the magnetic field has a strength of 2.0 T. If the loop is e
rotated through an angle of 90° in 0.1 second, the average emf induced in the loop is

A) 0.025V
B) 040V
C) 50V
D) 10V
E) 80V
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| 0.5m |

@) 1@@2 1@ o

In each of the three circuits above, the bulbs are identical. A solenoid is perpendicular to the plane of the page with its
magnetic field out of the page as shown. The magnetic field of the solenoid is reduced at the same constant rate in each
circuit. In circuits IT and III, there is an additional wire of negligible resistance. The rank of the circuits, in order of the
brightness of bulb 1, from brightest to dimmest is

A) II>1>11

B) I=II=1I
C) I>1=1I
D) H=I1>1

E) I>11>1I1

A wire is free to slide on rails as shown to the right. A bulb is connected between the rails, and a I3

uniform magnetic field is directed into the page. Neglect friction and gravitational forces. The wire y . .

is given an initial speed v at 7=0 and released. At 7=, the bulb is unscrewed from its socket.

The graph that best represents the speed of the wire as a function of time is °D * V, > x
X X X

A)

v v v
Yo Yo Yo
tu t l‘u

t t t t
B) 0) D) E)

ASIVYIDEIITT AT VOl §6H8VLAIASCHYHEDT Al



Part I1
Show your work

Credit depends on the quality and clarity of your explanations

A square conducting loop of side L contains two identical lightbulbs, 1 and 2, as shown

to the right in circuit I. There is a magnetic field directed into the page in the region
inside the loop with magnitude as a function of time ¢ given by B(¢) = at+b, where a

and b are positive constants. The lightbulbs each have constant resistance R . Express

all answers in terms of the given quantities and fundamental constants.

A) Derive an expression for the magnitude of the emf generated in the loop.
B) i. Determine an expression for the current through bulb 2.

ii. Indicate on the diagram to the right the direction of the current through bulb 2.

C) Derive an expression for the power dissipated in bulb 1.

Another identical bulb 3 is now connected in parallel with bulb 2, but it is

16.19

entirely outside the magnetic field, as shown in circuit II.

D) Compared with circuit I, is bulb 1 now brighter, dimmer, or the same
brightness? Justify your answer. x

Now the portion of the circuit containing bulb 3 is removed, and a wire is ! GDX
added to connect the midpoints of the top and bottom of the original loop, as
shown in circuit I11. »

X X X X
X X X X
10
X X X
X X X X
Circuit I
L
X X X X
X X X

E) Compared with circuit I, is bulb 1 now brighter, dimmer, or the same
brightness? Justify your answer.

X X X
Circuit II
X X X X
X X X X
@ 5| s
X X X
X X X X

Circuit III



In the circuit shown to the right, two resistors R; and R, and an inductor of inductance
L are connected to a battery of emf € and a switch S. The switch is closed at time

t=0. Express all algebraic answers in terms of the given quantities and fundamental
constants.

A) Determine the current through each resistor immediately after the switch is closed.
. . - di . .
B) Determine the magnitude of the initial rate of change of current P in the inductor.

C) Determine the current through the battery a long time after the switch has been
closed.

D) On the axes to the right, sketch a graph of the current through the battery as a
function of time.

Some time after steady state has been reached, the switch is opened.

E) Determine the voltage across each resistor just after the switch is opened.
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